Total No. of Questions—5] [Total No. of Printed Pages—7

Seat

No. [4201]'201

S.Y. B.A. EXAMINATION, 2012
COMPULSORY ENGLISH
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
Text Prescribed : Reflections-I11
N.B. :(— (1) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Attempt any two of the following : [16]
(1) Discuss Sujata Bhatt’s views on language as expressed in
‘A Different History’'.
(2) Do you agree that the life of the Suquamish Indians was closely
linked to nature ? Give a few examples from the lesson ‘Chief
Seattle’s Letter to All The People’ to prove the statement.
(3) Give a character sketch of Ozymandias.
2. Attempt any two of the following : [16]

(1) Bring out the element of humour in ‘The Three Piece Suit’.

P.T.O.
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(2) How did Suhag Khemlani and Sandeep Gajakas become successful
entrepreneurs ? Discuss.
(3) Does ‘Wonders of the New Millennium’ present an exciting
world of future ? Give your views.
3. Attempt any two of the following : [16]
(1)  You visited a village fair last week. Write a newsletter describing
it.
(2) Write an advertisement to sell a second hand bike/T.V./Car.
You may use pictures or dialogues too.
(3) Write a short description of a memorable picnic you
enjoyed.
4.  Attempt any eight of the following : [16]
(1) Use the correct collocation from the brackets and fill in the

blank :

(i) The city is full of.....ccccoeiiiriiieiiiiiieeinn. rise apartments.
(tall/big/high)

(i) There is a great demand for...........cccuuvunnnnne skilled people

in most countries.

(highly/adequately/largely)



(2)

(3)

(4)

(5)
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Fill in the correct suffix and complete the sentence :

(i) These days people take pride in wearing clothes that are
fashion..................... .

(ii) She was determined to study zoo.................... .

Complete the sentence with a suitable word from the

brackets :

(I) e she smiled, we realised that she was
close to tears.
(though/yet)

(1) Sudesh has..........ccoeveveennee. an invitation to stay with us.
(accepted/except)

Give synonyms of the following :

(i) Cruel

(i1) Opposed

Fill in the blank with an appropriate onomatopoeic word :

(i) The man smashed into the wall with a sickening................

and fell down.

(thud/crunch)

3 P.T.O.



(6)

(7)

(8)

9)
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(i) I was woken up from my nap by the...........ccccccennn, of a
car and found my friend outside my house.
(honk/plop)

Explain the meaning of the underlined word :

(i) I saw her posting a bunch of letters this morning.

(i1) Rajeev was posted to a remote village.

Use the following binomials in your own sentences :

(1) Give and take.

(i1) Wine and dine.

Rewrite the expressions of quantity from the following

sentences :

(i) A majority of India still lives in great poverty.

(ii) Many Indian languages will die in the next 50 years.

Make a compound adjective using the underlined words and
fill in the blank :

(i) He works very hard and prizes all his medals highly.
He is a .cooovennniiiiiiiiinnn, man who highly prizes all his
medals.

(ii) They live in an area that is populated densely.

They live in a......ccccveeeeevvnnnnn... area.



(10)

Complete the sentence using a correct word :
(i) The only way to escape a poisonous snake is by
standing..........cccceeeeeeeeeeeennnn. till it slithers away.

(motionless/tireless)

(1) HiSeoorviiiiieeeeieeeeeiien, driving caused a serious accident.
(careless/careful)
5. Attempt any eight of the following : [16]
(1) Fill in the blank with a suitable preposition :
(i) He noticed that people listen.................cuuuu...... music in their
cars. (to/with)
(i1) The sun was shining.........cccccceveeeeeennen.n. all its splendour.
(with/in)
(2) Use a suitable article in the blank :
(@) It was.viieeeeeennn, free performance and the hall was
packed with people.
(a/an/the)
(iz) Is this the time for...................... sun to rise ?
(a/an/the)
(3) Add a question tag :
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(i) They are getting used to media interviews.

(ii) The secretary ignored them for hours.

5 P.T.O.



(4)

(5)

(6)

(7)

(8)
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Change into Passive Voice :

(i) Khan displayed his cell number on a box.

(i1) The Mahatma taught us truth and fearlessness.

Write antonyms of the following words :

(i) High

(it) Clever.

Change the following sentences into indirect speech :

(i) The Swamiji said, “I'm leaving this cursed place this very
minute.”

(i1) Bob said to Jimmy, “Doing well in New York ?”

Frame questions from the following sentences :

(i) India has made significant achievements in agriculture.

(ii) I went into the supermarket.

Use a suitable link-word in the blank :

() I bought an umbrella.......................... saved me from rain.
(which/who)
(i) Sudesh lifted his eyes........ccccceeeeeeeeeennnnn. found a stranger

staring at him.

(and/but)



(9) Make use of the following expressions in your own
sentences :
(i) for the sake of
(i1) a matter of time.
(10) Write the correct tense-form of verbs given in brackets :
(i) The Maurya period........ccccooeeeeeeeeeerrnnnnnnee. the golden era of
Indian history. (Be)

(i) Nature has...........cccoeeeeeeeeeeennnnnn. us many useful gifts. (give)

[4201]-201 7
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UreaYEe i— (i) HUNRA

(i) STHEl 99 T S

o :— () Wd WA Hisfau ofemds .

=

(31) TSR STeRIhdl T H. [10]

fepar
TSle Sara Hqigd THehear. gigaw@ned 0

AU THHKREN ol e, 9 UhRYhN W6UE 3Td. o™ ST

o

GO0 TEUE!. o SOk Teur 379d. vl FHiaw oo gy sig=nfies

qidcilol s Sid 9Tl W90 & STedl; e SThRIEie® ST

IMes 3. a9 g STYUMEHR. T9aE; 901 O 3TRed 19 UEd &%l

[N o

qOU e SId.  STRETEERIG Wov 8§ Yaiaisd 39d. &M d

fogd e .
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Tl fqow R{ls a0 §Rl I[soed HIEgEr fow [10]

HIUE SEAl Rl ? SWUMEIE] Joidl geqsdl hl ? Il =R hivl S

AR A gSUSIFAl Ufddiel el R gEedl, 9 S9 WA oo

forgama AR 39 U fosr=a. a1 Siel, @id shedrer agd &I
T <Al fopal dioRM=Al @ RO Weger df Hvd ameRdl STt &
e fowmil g <=l a1 URd el § SudrEl oA e
{d TR

feRar
s oo R IR I[e Weud forl (Fudd €@ o
(1) heffdn
(2) I
(3) Ao
(4) =m4fus
(5) fr&tH
(6) adiren
(7) femerm
(8) T
(9) SINTCIehTehTTl
(10) ferfdwm
(1) Tf=h
(12) tRTeTe




(%) TWOGUH! HUOE <@l TRt 3sg fosr
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(D)
(2)
(3)
(4)
(5)
(6)
(7)
(8)
9)

Affidavit
Bio-data
Conductor
Casual Leave
Category
Quotation
Note

Dismiss

Exchange

(10) Goodwill

(11) Index

(12) Thesis

(13) Undertaking

(14) Workshop

(15) Credit Society

(16) Shooting

(17) Tourism

(18) Slogan

(19) Welfare Officer

(20) Merit

[10]

P.T.O.



2. (3) TOOTR RUERE UG WA S0 GOk A Ieddd fed o (5]
(1) 1920 T 1940 I FHGESHIG U HAhRN=l 4 foan
(2) R dF SfRmed @
(3) HUEE IR AH FHUeERE A6 fom.
(4) oNgH® HIF SHH HO d G
(5) TS &I YAURIB HIUA ?
(6) I YHR HIUW d W

(7) HUS wI=n fowmmer areE w9 adeifosmt Ae
|EE|‘

(9) WOGUS! SR U WA SR YRl e ITeiqdd faer ¢ [5]

(1) TS "o *hE ?

(2) T oEae @9 9N fom

(3) 3McHRYA 9 AHANS Iie d9g  fogl

(4) Ut &Fie E STl fitde oEwen Aeee fom
(5) SUER S Sfed oMdseHrEl A fomn

(6) =i wEd™ = fow @

(7) oA dAN WwEe 9.

3. (31) EOOwE U WAN S® 50 I=iadd fem [5]
(1) H weH= deRd Hifedl foar
(2) FA-HRAde IEde fomn
(9) woow Ul Y™ S| 50 Ieaiudd fowr 5]
(1) A= JOn - dewnd ol
(2) STH&YIA oTfT AN daWdie d9y T

[4201]-202 4



~

4., THGUR YIE RS Tl WA SR 150 Ieevda foar [15]

o o N o o

(31) (1) ‘dfedi=en drew’ W wOdle dfeuiid AR W@l

(2) ‘&' A HAA ARE HA

(F) (1) YA GHSSEAdE qHEfse @ g3 = g ST

SR’ A SHGIANT HeSd. HER 9.

[

(2) ‘oHEn 9™ A TRl Wi W SIHd AW Afdad (@l

5. WoeUh! YIS TG UEl WA SR 150 Ii[ fodl [15]
(3) (1) ‘oFUde WMe’ W HwOY SREEed TR &
(2) AR U WAYTHSA AT ThHH TIF SR el IR
‘gui TERT' W RS ==

(&) (1) ‘sHEn 99 A o uHfle Wi AfRerd digwa e

< .

(2) ‘ST AM S SR T Tesqu T L

[4201]-202 5 P.T.O.
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s : o9 a9 THUT 7T : 80

1. WooUh! HUR <@l Bl S® IS D I<E fowr [20]

(1)
(2)
(3)
(4)
(5)
(6)
(7)
(8)
(9)
(10)
(11)
(12)
(13)
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N Ao

[hfaoEreh  ofSlid g o=l R SAaEdsh oei  fol.

T urR fowg grm.

o N

TRUYS Shedl Uiefae Sd d 9.

T @9 YRR o, o o

qioser WUN ™, d 9rT.

FAGAH IISE=Al o=l a afe foen

STRA@HS  Sfdgara R 9F hiod, o fogn

<

qYa gfaga onfn oaer s Ifaga damHie W& 9n.

fowgatehd  Iree=t ‘foRie e wIvdl o1Ed, d foml

fewolt fofedmT SIvt ehlessit =am6l, d Tl

‘S %%’ WUS ™, o 9.

A deas Ul ReIAHaAl dauiel %A WU, d 9.

EfUhe WO g U o

6



2. WOGUHR! HUER S WAl SW YR 50 Ieqdd fewr ;0 [10]

(1)
(2)
(3)
(4)

BRI AR == rou Al e LA

sfdgd el dgd T AL

femuir=n gehifas  oieera wifedt  fol.

TS

qifgdiusehral AR Ihdl I .

3. WOoYR! T TG HIUAR TRl Td SW® 150 IT=iadd foar : [20]

(37)

()

[4201]-202

Iele fawaer gfaga @@ &

el g SURe W, TUel A1 S ot HadERy 99w

sfdgd IR R

fepar

THI@MS Y& Ol SHERAT Savidie SReasH fSearfasrl A

dhgs  fosl

Sl FRIGEea Agoedl e SuiaeEe] difecd BEl e

AR, IHadl HEfaua  Aoed Mfaesn #gal TR &
feRar

n o

TG =l odid fHaeads AR &

A e EATISG T8Igeh o8 feadae wigdd &AM Jes(daudrd

AS 3.

7 P.T.O.



4. EO@UHI TS MG HIOER T AW SR 300 Ie9dd e ;o [30]

(31) it THEE WHUE YR A FE favmmen wfuerke o ol STgd

aY o N ~

A AT TrE T S foeR Sieuaerdt Sul f[avrehe setanon

HA AR A FeHld TUShe Ul FHIIMEE! feuuft T&@rR .

fepar

BEELEERGE I TECT

Rl higMalcdd.
(9) TRUREl ®WRET IR &l

T P : YeRT fefuor gEen,

fafm . JowecEd,
TRUehe AE ;. JEIREL
ferar

FATG IaUETAT Afih  IRATGET TWREN TIAR - H.

[4201]-202 8
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HEITHhH
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MARATHI (WTat)
feRoaT SrTEuteRT ., 1

[ S wfeardie fafag yaE (Aew/awmesE) ]

(2008 PATTERN)
TH T 80

"

(i) FEHh 9 weaUdl diftae s Sgifas ==l

i) ‘TEERA’ — W |/ (YgAEH).

(iii) ‘'S BeA §Y 7 — GONE GES (TSITEH).

AT — (1)
(i) SSElhSle 3k FIA YU U it

e WA diefau Aerds IR

1. (31 WHSUR! HUARE T WA SW YShR 100 Ie9dd fesr : [9]

(1)

(2)

(3)

(4)
(5)

Afaures WU FE ? GiaUME RO T FHicqes S
d g

RIS AChT=N TEUHONT IO i Wae {0 oo 31w,
J g

k=T Efcehl’ a1 Y=l Hifgd! <.

‘eI’ AT AT IUYRNIET Hifgd! S

e N A

Ufaefaes A= Jenfaasl RO T

P.T.O.



()
2.  (37)
()
3. (37)
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N

GOIAUh] HUIRN  dF T SW Tl 100 3Isedd fesl : [9]

(1) FRIT=AT FIHEF A HSHET <= R

(2) HRESU d Ak AT HgAUh=a TSl Hifgdl <.

(8) wreat=a Ufdefas frycrau=n oiewnd wfed! <=

(4) SRe@ ‘IgEaU’ 3 H WIS WA d G

(5) ‘URRr wRad’ A YFRET IET wEd <l

N A

GOIGUsh! HIURI M TRl S YRt 100 ITeadd fe=r : [6]

(1) ‘SdEen’ = 9i=g Sed ol

(2) e FEddio JeR 2a fomn

(38) ‘Horgmrt wifedt <

(4) WU TEHAT faem™r=a TuA=l e \ifedl <

GOIGUsh! HIURI SM U S YR 100 ITseadd fe=r : [6]

(1) FRIT=AT YHN= dISHd Hifgdl <.

(2) HRIY M HA AT AU ST == .

oo SN

(38) wRIdie foed ool "are I Uehia "o TRl .

(4) FRIHE Tw A [ fdamdie sehet ael .

GOIGUsh! HIURI SF TRl S YS! 50 ITeeiqdd foer @ [10]

(1) Sz STYedr wraret offor ATdarsshi=l 3t T hidal, d

7.



(2)
(3)

(4)

o fa

SAIISRT KU HAId <ie k1 980 2 9 9r.

D

o E M | = A 0 | 6 o e ) e 1

SEare weeaR ‘fague’ St W @l @™ R 90T

N A

(9) WOUH! HIUERE aT WAl SW TIHI 50 ITs=eadd fe=r : [10]

(1)
(2)

(3)

(4)

‘TN T 3Y S HRAGD HEE §F 9T

el TR gl SRU |

IR INRIdeh ] MU SAEeR 3Ted 318 IS i

qed ?

‘T TN TY T A PR TSRTEl gHTRA TS

< .

4. TR TIH TG DR Th WA SW 150 I fear : [15]

(31) (1)
(2)
(s (1)
(2)

[4201]-203

Brgom=en gearR Sl gER O sk WU JdEied’ AT

HOAHIHA el

Th HHISR A WIH Ao’ AR HedHdd .

‘T T TY < PRIUAE TOAIR! HKRETA TSI
aifedt <.

N e

‘e ZTehlidehdl Hos GHUR TNUrN Wl SR A1 e

TR =4

3 P.T.O.



5. WUk Tod TG RO Tl WA SW 300 I few : [15]

(31) (1) “SrErureAn v ST shureATe ST el WS g’

e B o faummn Wt s

(2) ‘TIRRE’ ARHNE UHmEl UREd Hed ol

() 1) ‘“didRe iifEad o geagH A8 I Wedkie  Sied

BELEREC B EA I 1 15 | B | i | B S e O |
YR == H.

(2) ‘|Hen for s’ W FfRREEl U= e o
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fomroeR wrufeRT wHiR-2
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(2008 PATTERN)

q% : o\ A THU T : 80

1. UEoUsl T@ Y3l I YAl 20 Irsivdd few (UvAE MR
HUGE ) [20]

(3) (i) ‘foo=fay’ = dg™ Hd w0 ?
(i) TRYYE YAl o8 S TIE "o Sd - 7
(iii) ‘=FRIUEs’ A YA Sl hHo 2
(jv) ‘faa WRN THRETE | T THRYA Hedl| T AW wion fofea
e ?
(v) ‘9EE’ FR WIE HMST ABES Id ?
(vi) ‘fasguu’ @ Ty & fefser ?
(vii) FEf=a RreoerEn woes |

P.T.O.



() (1) ‘o W O, I=EE T | TSEE 3 96 R @l 31T
Hon fofear 2
(i) ‘SEeng’ @ U9 & fofea 2
(iii) UETSANe U@ I G
(jv) ‘g0 wAME W' @ ufHs FEoh wrom= 9 |Em
(v) TET HUEE  dF FedE ™ o
(vi) TIF dfedEn  EM U A |WAL
(vii) ‘heESt’ & A RV HAH G ?
2. TEOUR TOH TG WeRl WA SW 50 Iiqdd fowr [10]
(31) () HEMYWE YU doM  diedd WA
(i) HheUST=Al Wifecarn 9R=" ®&d .
(F) () <R dfed=n ‘TSR’ A1 UgmEl UREd hEd
(i) X T SEN Fe oEvl areHArEn uiEE wEd
3. TEoUR TOH e Wel WAM S® 150 I=dd fodr [20]
(1) () JTEed Y, ®F 9 dogE el 999d hdl HeT 3TR
RS LA T A
(i) Fd TR ‘TSR’ ¥ H Weo Wi 2
(@) () TREE TR IO A U aeHdE digd S &
(i) SEHE] T UH-Yaed T0HUHE Hieeler faa=d .
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4., TSR Tal TR SW 300 ITiadd fowr [15]

(i) WeHYE UUREe 9l Uorel 9Red Sed =

(ii) Wd FATHII=AT AYMY TWEY TS F&A A=Al HTID Hacd

7.

5. TooURl Ual W™ S| 300 IT=iqdd fowr [15]

(i) Ud JHREEN JAEUie WEY e FH.

o o

(i) 3INMEd HAE IS HUSt A gfafds ggeay fAed. &9 d

7.

[4201]-204 3



Total No. of Questions—35] [Total No. of Printed Pages—4

Seat
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S.Y. B.A. EXAMINATION, 2012
URDU
General Paper II
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80

N.B. :—(1) Attempt All questions.

(2) Figures to the left indicate full marks.
['7] LS el JE

L

Yt UL 2 S £ S

i LGy PFL B oy
[

Jo b _p £ = Sus Q15 wlrr G2 L B Uk

00 GBIl gien s Ses S L P
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[1]

[19]

L
G S e bt A
E A GEALI e s (D)
Sfen L6 (1)
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Fiz (F)
E B SE AL e s ()
dss (D
by (F)

Sedsduresz (M)

E AL = U (WD) o
GRDERURES - S N O
S AL Ut it B A
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e A i L $hi035e35

2 [4201]-213



e (llibie ST (M)
e YRS A
WSFF Foie B ()
WSS e 7SS 6 F
/?LLJ;/L/Q’%J‘{}TJU,/"/ (1)
Lfijﬁfg‘ﬁ+(tg?
fm‘guw?u:&"("l; ()
uﬁ)djﬁﬁwu{gj’@u
(0] Y-S o) TOTEIE ANT P S ST
FEF T Fy O
St e
JUZFESSEsxs ()
Flerd Loty
ﬁLUeug;uta/f? (")
Lol FH =,
Usbre s Ui gf Il ()
Ui S st Ut 3y £ 2K o2
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Total No. of Questions—35] [Total No. of Printed Pages—2

Seat
No. [4201]'214
S.Y. B.A. EXAMINATION, 2012
URDU
Special Paper I
[History of Urdu Literature (1901 to 2000)]

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. .— (i) Attempt All questions.
(it) Figures to the left indicate full marks. )
[1Y] -ng’)“.‘gJUz‘M&ug/djg N))J’Lb/l‘é‘: gf'” -
b
A3 L}%J{ PG f - A{L J‘f})/’

[11] _go/‘;ﬂ{q{@‘j’}’d/&w&;w -r
l

_EE I 580 S Fiar S
(M) - Codihl Sean §2 Ll e L Gkl ity
L

-5&&3/%'4 SFEsbsed 2o

SR L ed e AT Gl o
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SFE B e SOV A

122 JB 9 e S50 -0
Fer O
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URDU
Special Paper 11
(Prose and Poetry Text)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80

ezl ey ed
(1) el K lo o
L
B e S b G

[18] _EEYhelFe fF e 2B Ly
[
_i'fﬁﬁu{ c«l.,éd)' Jdﬁ:ﬁ"Lyz io’//l’a Ku;ﬂ)/c': —

[10] -é,blp'b/d/lf?d/u’é_n%o'/’lg&qﬁ_,ﬂ& _r
L

P PR e -y S el 4

P.T.O.



(1] Ao 30
bl e TUt e ()
P FEJF (M)
b 36 SR Ut ()
a1 SFS G (M)

[1A] :’jéju’“";,l!ﬁ@’/““d//bﬁi%’éfauﬁdjan A

Lol bbbt foZT ()

s f l}“fg > Ju{%)l’a
‘Lu:f,ﬂ&fwuj‘“?gf (r)

CU kA5 G
bt Fm gt Fe r ot ()

Cb st 63 bl 3000
el el S S (™

br ULZ UL 20 U1 2|
‘L(jbé—:b/'dgf—ﬂu}&f (8)

e tTt Ste Fgors
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7420 L0k =FakaE (1)
KL e tUbpet ST
el S s (2
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b Pl 22 E by AL
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Total No. of Questions—5+5] [Total No. of Printed Pages—4+2

Seat
o, [4201]-218
S.Y. B.AA. EXAMINATION, 2012
HINDI
General Paper II
(FEH, BEAERIRT e TE @)
(2008 PATTERN)
g T oEe quiieh : 80

Ued-qeeh :— (i) HA foRR—dur, . gREHAR SH
1A R
(i) HA HYIEA—FUT, . FEHRIAX SH
(SPERRR &) S el Il
gEAT —() |t yvA st €
(i) <fedt 3R fo@ o w9 & quis €|

1. ffafeq § 9 fFd @ 79 &1 Sar fafew [16]
(1) ‘STe-5i9’ et § fabd Sem 99 & T s

(2) ‘fooelt # we A wEFl W O¢odl HHAE Gogdl W WHRT S|

2., f=fated ool & ¥ fFdl weh 79 &1 o) fafaw [16]
(1) ‘TRl wfaar & vend &l WIeEl TR HifT |
(2) ‘dNHEA H1 BT H' Higal H ANE TR FHiWT |

P.T.O.



3.
(1)
(2)
(3)
(4)
4.
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frafafaas § @ fodi @ sadml & TEed =uren wifaw .

“HE-EE g

3§ TH AW R

TR ¥ T e 9Ra &
YIRS wUE ¥

& sfem =1 %™

T We Gud T

fo 9 - & 2

TRl E-5:@, YHEI-GH

Ad TE TWadl, sad B

—I1 =<d: 7 g
“Sfa-uH TR-gE

I HT - -

S HelgW q ¥ R

T BAR eTmem)”

“go T faw € oW H#OHS;
Fo TMa fa@ T, Tt H OHA;
I TMd &I WEa YR,
g Tid fo=r @l 9E e |

(o) frefefom & @ fedl @ W fewfomt fofew

(1) ‘geur’ 1 =fE-fa=m
(2) ‘W1’ wert H sAfRd wemerfia e |
(3) ‘wEl’ wert @ AR dren|

[16]

[8]



(am) frefafes # ¥ fF<l @ W foufe fafen . [8]

5. (37)

(3)

[4201]-218

(1) ‘Ta ww' wfaar & ¥MioR w1 wiefwd |

(2) ‘gA-dl Wie Th' R w1 I

(3) 'SRl YUTH' hferdl w1 e |

frefafea § @ foqmm stear SAEfas 99 &1 T TR HieY : [8]
Jgen H A ‘Yoo’ @t w1 s fomA AW TAR @it

AT

HeTgsiereh A T GIfeeRior, eri-15 Hiden, feoet & M 19 we=t
e kg SAefg® IS R TEA TR HIfeT |

frefafed arel § § gl o) Rl ol 9RU ey &k R 9
fafeq [8]
(1) T ®EA w1 ST gl

(2) T9 TRWR = 3T |

(3) %3 foorell Ut & HHIR THe T

(4) § @I M T W A

(5) TIR Wivrgedt &= &1 foaw @ W T

(6) TS A 3Th 3Rl &l @EM|




[4201]-218
[vasees &l (Serfeuen)]

|HY : 99 g Uitk : 80
ot :— () | T st ©)

(i) <feft R fa@ & wed & YUl g

1. fmafafed vt 8 4 fF55 ol & dfea sw fafeaw [16]

(1)
(2)
(3)
(4)
(5)
(6)
(7)
(8)
(9)
(10)

2. (37)

[4201]-218

T es it fRd wed § 2

A= o & & SHerl Sifsw

g fRd wed € 2
I TAER i foRioad sdarEy |
i iR dwter fEdt &1 ufmm ifsm

SHEER ki SUANTAT IdmET |

weX fhd wed © ?

fomH & 9R yaed fdfEu )

ARl & HhEYgHfd Fasd |
TR wWeay fehd %ed ¥ 2

frafafed oes-gl 8§ & fFdl wR & 91 s ae # 3
Hifew [8]
(1) g—gf=

(2) &d—drd



(3)

(3) FU—YT0T

(4) 9IA—1r9aq

(5) BR—ad

(6) W—%=r

(7) -

(8) HIST—HA |

frafafes & @ =i & weayydm & HaxeHEs  sAfaeafe
fafau . [8]
(1) TG =f § AR

(2) IMUIS YRR UId HIigdh ¥ HoAThld

(3) 8} BT A1 § Helh
(4) FHEET 3T TR 9§ TAE |

3. (&) fwfafed # & frdl Tk W wmEmel & fog fommad s T
TR i [8]
(1) Beei & fau dive omRR wed fagr
(2) HyEEd dqd |
(3m) Frefafed § & fFlt wer W EeA & fau fomqmm &1 9@ @R
HifST [8]
(1) @M & I9d Fad FeE
(2) Si-foen gadt fommom |
4, Tfafed § ¥ ffdl W) @@ v & Sw fafew [16]
(1) TISa® feal 1 Heheddl ¥ HifeC |
(2) wfefas f&t =1 ufmg <ifsu

[4201]-218

5 P.T.O.



(3) dfFT TER H foPEEd SR
(4) TARIRAT 1 GEE 9fiE=E N

(5) HAREM HI AFFAC A

5. foufipi fafee (i # ¥ 8 9W) [16]

(1) foIm\ & o<
(2) TRams oA
(3) arfoeg iR MRt fEet

(4) wEeEE &) & g 9=

(5) Z-Ha|

[4201]-218 6



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

o [4201]-219

S.Y. B.A. EXAMINATION, 2012
B . faga-1
(Hindi Special I)
(SRTIITTE)
(2008 PATTERN)
Y ;W9 ue Uik : 80
gEAT :— (i) W\t yvA sifren €
(i) Tfef R foe o/ 9ed & qoie g

1. fmafafes § @ fF <@ o & S wew # fafey . [20]
(1) aegad g’ & T s & gRamen fafe

(2) U fagal g ufduifed g & o gAIeE  fafew
(3) TYUigHl @HR & fau 39w & fhad RN &1 oTawgswal il § ?

(4) wwEd fe8 wed § 2
(5) oHSM RSk i gRemen S|
(6) B¢ H & w1 fogd sae & &1 feadt mwen fir S ¥ 2

(7) 39 & W dd fafEn
P.T.O.



(8) The T fFY wed ¥ ?

(9) @ FAFE & WR RN & AW fafeu
(10) TR 9@ § Fm sty ¥ 2

(1) =& # T fEE wwd E 2

(12) e -ew # fogwt yuma oA ¥ 2

(13) et i gRaen fafem|

2. frfafed # @ forgl o o8I & YU Fdel TR W &S :  [10]

(1) IR
(2) e
(3) Ho
(4) <o
3. frafafeg & 4 fosl =R gl & s fafew [20]

(1) ‘el HEfoAE & 314 H' Hem YASH hl TR HIfGT|
(2) ‘gfawm’ &t Gheddl hl TR HIfGT |
(3) TUHHRI & W®Y il fave =ifww)

(4) FR W & der 9k=w Nl

(5) WA AR & wWey o fave wifSu

(6) Y@= i TRYET FaR ST WEY T Yl SIad |

[4201]-219 2



4. frfafed § @ fedl & el & W fomr @ fafem - [30]
(1) TSHA & @WEY &H TR HI gC AT fagioarsii o g
Sifeu |
(2) A & ARAE YESHl w1 R wifv

(3) ek W YRS <d gL Ah & UNEd dw@l @l ORI wife

(4) W & uRwem I gC W o g FifEw
(5) ofc= T % 3I[TI Rl TR FIA Y AAFw S O Hl fawig
TS |

[4201]-219 3



Total No. of Questions—5] [Total No. of Printed Pages—3

Seat
.~ [4201]-220
S.Y. B.AA. EXAMINATION, 2012
HINDI  (f&)
Special Paper II
(e, IuE IR " Bl wre)
(2008 PATTERN)
g diw o"e Uik : 80
Ued J&eh :— (i) ‘TR —HATeR TAC  HHRI
(i) ‘Sre'—mudr ehifeEn
({ii) ‘wEERS e G s
Hor,—3. I R aRd
Hur,—<f. S’ v
o :— () | TA e ©)
(i) fe R fa@ o/ yww & qoie ¥
1. fmfafeq # § ot W T &1 SW fowmges fafew [16]

(i) ‘'Sied Td wfcd B T, HWOGAR[A R eueM ¥ A, Jad SR
ToF 39 SR & TgURE O d I WRaE 9T TS’ e

% YR W T HYT W JhRl Sfdu|

~

(i) THa Hfeen g fafea ‘e’ Stama #t fowg-ayg fave wifaw)

P.T.O.



2, frefafed g7 &1 s fowarges fafe [16]

‘St fotg ool A fagew wfa &1 Armfa-fore & e H wwgad wed
i GHA wifse |
e
frfatea § 9 el & W feufer fafew
() ‘o’ &1 FIR FuE|
(i) ‘HRE' w1 fawe e
(iii) ‘e’ R wfR

(fv) HW FE—35d |

3. (1) fr=fafea staawi § & fedi wew #t gEed =amen wifsw ;o [8]
() “gH 3™ IR W WY I6HRE T, TR T FIX deE H o
fraem f& ger e gel ® wwef’
(i) ‘'R EEe 92 e 9, I8 *e gafed ¥ 9NR § 99 =
O oo St €, W s=a & e’
(zm) freafafed sEqon = gaed =mem s 8]
“E G F d fal ifas @
FE He TH, HE He qUh, fGA T S&a@ A
FE Hy Yeul, ®E & Yeul, fadl & W d|
FE FE FN, FE we W, @ T emew He
TG H T @ g, fod & erEt @ |
R % 7Y WO IR @ STH R R

AT

“Fre W faed T 99d, #ed Geg o |

wHfge g a0 e, W feg =t smn”’
[4201]-220 2



o [ o o

4, Tfafed g7 &1 W fowarges fafew [16]

‘TR’ Aed HI FdieEASRdl W YRR Sifad |
AT

frafafed # @ fedl @ w fewfrl fafey .

@) ‘TR’ TAEH & TGk hi ErefeRd |

(i) o o w1 =T

(i) ‘"R’ ek H IR e |

5. frfafed & § el & w fewforl fafeg . [16]
G) ‘S8’ ST H HerTRE Sied |
(i) ‘S’ T H IR |
(i) ‘3’ STAE HT ATEITR |

[4201]-220 3



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat [4201]-221
S.Y. B.A. EXAMINATION, 2012
PERSIAN
General Paper 11
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80

N.B. —(1) All questions are compulsory.
(2)  Figures to the right indicate full marks.

1. Discuss the importance of Hafiz as a poet. [14]
OR

What are the characteristics of * “j"f 0 Wl 9

2. (A) Write the reasons of popularity of “Shaikh Saadi”. [15]
OR

Write the personality and literary works of “Mulla wa-iz

Husain Kashifee”.
(B) Give an account of the life sketch of “Dr. Igbal”. [15]
OR

Discuss the characteristics of the poetry of Ameer Khusrau.

P.T.O.



3. Reproduce in your own Persian, on any fwo of the following, views of
Hafiz : [12]
s 2 (1)
Jf} /r‘;j (f’)
SR Y, ")

//5}/,2;,5/5 ")

4. (A) Explain in Persian or translate into English, Urdu or Marathi

any three of the following : [12]

AT Lt UT e Sy fl e, i ()
b S8 Taps F et tas s ) o S ik Pty o P
Jlo &80 4 JGro UJ/J)//;;‘ BYVINNE P2 e AP -
UL e s b1 51 s by Gk b =il ULE S 9
Jy%«»U/J‘iJ et )'4 L;)ff)b U)’?f;d}’G'; _,C,ffb/»"ﬁf
-ﬁgwﬁ;g

12 T N aT car e Bol ShtesnT  (F)
3;{5‘&'7_{4,‘7&»“3@{&‘) ;'/ﬁ/, (Jb.’/'?‘u,gﬁj/gujuu”
i 6y )féﬂfu’folf;)g _)/:/,;L&J/Qfﬁ VARl "ff&@
A, UK&‘?L‘?J'M_,CJ/?L?U;’Y‘;;J L";r/',wuu)t;
P15 48 Uasa UL ) e 1 sy Yl s 41
-,O'L']}bf/.{—

W olols S G g e eslapr LB eF ol us (F)
T b Tl 220 Qs A S el 2y =251 5T il

2 [4201]-221

Lo d



/é'ujé 134 ;‘JJUT/. uﬂ _;/r’?!f uMg u!}fﬂ’f J&»
f/; )})/d]@ J)f JT s 30 ng,«l/ U}J//z L il )/Uf
e sl S UL ek = PTG b 28 AT St
_uijggutﬁ/&}uggz

w I N E eI Ug oSS e AT ES LT ()
Fo w7 ed o) ok ’&Px.fu“’ﬁt//:lu@f
ceS Y FuE Terd oSG eds 127 Ul e e
~Us0 dﬂ'fu:/. J@lﬁ-fﬁb JL?(L;’J‘; j!;p/gbﬂcf
Jgf/uf-»f C;'UT/))U/)/:«/U?'/?);[’,) (/bcﬁf
SEC Vel et il u/uﬂ'f()}‘éu";,gfdwbgﬂl
Ny

uuudf;:uuﬁj-;zm:»/'é’.,ﬁu;}/vé‘fwwﬂ (o)
;/f J/‘ ..{u J:) _,«J/d oz IR PL cc;gog
AT e S8 T A e S eid s VYR SR ST
NS % SUGVRNS S RS TPRG 3 NY RS- L
sl 5 Ly i S e ET S E
< 5 l?gfu/p-wl/“") uLUJla{/f:’)Mwa"/

_is

P.T.O. 3 [4201]-221



(B)  Explain in Persian or translate into English, Urdu or Marathi
any four of the following couplets : [12]
PP gﬁu,g.l{/j: €D
SIS
s Feds S ()
Sy L8 Gk
):fdjtij,; fuﬁ‘ﬂw/ ")
ST S F L
Sun 88 wase S (M)
Lo TUE S5 TuTS
FES b (8
PO u)f)fotPﬁ:fr
el I LA (D
://'d'ufd(/wg

4 [4201]-221



Total No. of Questions—5] [Total No. of Printed Pages—3

Seat

No. [4201]-224

S.Y. B.A. EXAMINATION, 2012
SANSKRIT (G-II)
Raghuvamsham-Cantos V & VI
Bhagvadgita Chapters III to VI
Fa  (G-ID
TIEI—TT &« T §
WEAT—3TeT 3 9 §

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

1. (A) Translate into English or Marathi any two of the following

verses : [8]
THGUh! DHUER G IOmE WS feRar U ST IR &
(i) THfad: Soad AR e e |

e asadl 9 Fwa ga § 8 AcEauRusted: |l
(ii) STRTRH= Teayd S FarafasT o |

W SVEHOI&Y  Ya<Hied 9aa: fad i

(iii) TR SH FATIaeaTg (7o o) |

HIRETHIGR A JAON HAT  Felg AR I

P.T.O.



(B) Explain with reference to the context any two of the following : [8]

GoGUhl HUER el gHeHd TSI &

(i) SUEHEAUETETSE & Ia YHfasieod |

(i) SSTTHigfetyRs  SAmrEHE w e

[ e haN

(i) T A HEN A 9 O] wEESsE A W fyeiefafd dee: |

2. Write an essay type answer to any one of the following : [16]

THGUh! DR TeRl I FfowR W fea

(i) What are the features of a Mahakavya ? Explain how the
Raghuvamsha is a Mahakavya.
TEREATE] S0 ERH ¥ ¢ Hehd %y g § TR .
(i) Critically appreciate the 6th canto of the Raghuvamsha.

~

< fad=e WUBT H.

(o
[

{gd?llwu deledl

3. Explain in detail any two of the following verses : [16]

WOGUh! HUdel BT Bk Tkl T &

() o0 ®F 4 @ FH ST FHUW: |

ITAEE 9 9 9 gfagEcwH: |
(i) ¥ fg FEmisn 9 @A @ Al

MEE=: HI<F 9 dY WA g |l

(i) A AN Hameen Agd @9 S|

ANHE Fdfeae Fosidl  FNTHCHA: |

[4201]-224 2



4.  Summarise the third or fifth Adhyaya of the Bhagvadgita. [16]

5. Write a short note on any one from each Section (A) and (B) : [16]

(31) suftr (¥) faurmdie T HIARE TR Gfaw 9 foer
Section A
(favmr ‘et
(i) Dialogue between Rahgu and Kautsa.
T 9 DId HAR.
(i1) Typographical references in the 6th canto of the Raghuvamsha.
TEIMEAT €5 Wdie drifes R

Section B
(fawmm ‘=)
(i) The concept of Yajia (&) in the Bhagvadgita.
TG I HehaedH.
(i1) Yogabhrashta.
FMTYE.

[4201]-224 3



Total No.

of Questions—5] [Total No. of Printed Pages—3

Seat
No.

S.Y. BA. EXAMINATION, 2012

SANSKRIT (S-1)

[ FTeEvTEAfaayl, SHfgeR o hifectd AP (3Tferhur-1-6) ]

(2008 PATTERN)

Time : Three Hours Maximum Marks

1. (@A)

(B)

Explain into English or Marathi any two of the following :

TEIUsh! SR G gl fer TS S

() HA TWESIFd HaeRfoe e |

(i) o= wd g, sfadiEane: |
(iii) =qe: qrcaAid: |

[4201]-225

: 80

[8]

Explain with Sanskrit definition and Sanskrit illustration any

two of the following figures of speech :

[8]

JEICTUsh! PR S hRY Hhaneia e STl IS0 |RA

revi = = orgy MG TRY

(i) A

(i) WURG ®9&
(iii) =TT

(iv) 3=

P.T.O.



2.  Explain wEfasmeigon. [16]
TSR T
Or
(fepam)
Types of poetry according to Mammata.

~

e fave ad weade T &K

3. (A) Explain with reference to the context any two of the following : [8]
TR FUER Q@Y Geuie TSR H
() =g wa faen sfa wifeea:|
(i) dqgen fg edwmfafd|
({ii) WS A, SomEeE |

(B) Define and explain with illustrations any fwo of the following

metres : 8]

TEUsh! DR B gArd A9 WA SR TR
(G) o
(ii) ggfHuft

(iii) gl

[aWa

(iv) Vafashifedd

[4201]-225 2



4, Write summary of any one topic of the following : [16]

JEIIR] IR WehT STEAETEl | foral
(i) TEgEurd: |
(ii)  YHATATHRH |

5. Write critical paragraph on any one from each Section ‘A’ and

Section ‘B’ :

Tt ‘31’ ofor ‘a’ fourgE TR UeRreR fadwe Ufiteee feten
Section A
(fgamr ‘31)

(i)  REAFESH.

Gi) T 8l
Section B
(farsmr ‘=)

(i) Hoamydd=l UM 3T—Five Parts of #=I.

(i) 3fsESE: | [8]

[4201]-225 3



Total No. of Questions—5] [Total No. of Printed Pages—4
Seat
o [4201]-226
S.Y. BA. EXAMINATION, 2012
SANSKRIT (S-II)
(TFA)
Vedasaurabha
(IEERY)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80

N.B. :(— (i) All questions are compulsory.

W gy Afad R

(i1) Figures to the right indicate full marks.

1. (@A)

ESCIEaCI I E R I B G

Translate into English or Marathi any #@wo of the following

mantras with necessary notes :

[6]

GOGUhl hUERE  SF A Woid  feRdaT SUSHA  SEvIsh dIUdg

SR
(i) THICIMM Fedgdd BaeHersy  fayrdig |
caud WEe<l wfa faur wfafisied i

i) U fg U fow=gg: wdfd a=@ssed| 9 9 a9diey i

(iii) TS5 qAfodr =0fE #7E seswl Rl fA: |

~

sfaserel o 9= sTeer T TR UAifg |l

P.T.O.



(B)

2. (A

(B)

[4201]-226

Write an essay type answer to any one of the following : [10]
TOGHh FOER T Higw® S0 T
(i)  Appreciate the TRUTEHH (7.83).

SRR (7.83) THURY L.

(zz) How does Grtsamada describe Indra ?
TETEH ‘ERN 9 #8 B R ?

Translate into English or Marathi any #@wo of the following

Mantras with necessary notes : [6]

TSGUh! IR &N F™ AU fehdr SUsida STavas g TIa%
EXU

() 3R gai f7 fofn o &9 fosofa gagammon
T @O TSR G AR 3T § WA

i) Ifgd= JHaE IYOeHRS I

qEMERE T=Rd Safba g=q fa gearfq o7 sa
(iii) =gw o <ggefw fooor gfw 9 foe
sie foea w1 Sieft: gomsag @ fam
Write an essay type answer to any one of the following : [10]
TAGIR! DR TehTd HiowR 3| o
(i) Content and peculiarities of WHTSHIYHI.

HYTSEEl SR 7o ST,

(ii) Explain how Atharvaveda is “A Veda of a common man”.

JAgdag @ 'gagmEEl 98’ SR § TR HA



3. A

(B)

4. (A)

(B)

[4201]-226

Explain with reference to context any one of the following : [6]

TH@UD DR ThTd oY TR &
(i) 30 7 Td A fafdl
(ii) oAemE niffveld  SEEEE gieon |

Write an essay type of answer to any one of the following : [10]

TOeUs HUER  TehTd dfae IW fodl

(i)  Explain the rite of Somapravahana in Aitareya Brahmana.

TR R0 GHYeeuael e .

(i1) Explain the rite of Yupanirmana.

Fafrafor=n faeft wose &

Explain any one of the following with reference to the context : [6]

Qeliciueh! DR Tehrd oy TR &4

() o= sRfd e
(i) ST §e dfchod S ST
Write an essay type answer to any one of the following : [10]

TOeUs HUER  TehTd dfae IW fodl

(i)  Explain content and importance of the conversation between

Yama and Naciketas.

qq o1 Afechd ITATde Gl AN ST Hed TS
.

(ii) Explain the contents and peculiarities of Aruni’s advice.

AT IS IR omfur Sfyte TR &AL

3 P.T.O.



5. (A)

(B)

[4201]-226

Write a critical note on any one of the following : [6]

THGUh! DR TehreR  foo=e =g fom

(i)  Peculiarities of the Rgvedic Language.
Rl e Sftrse.

(i1) Content of Purusasukta in the Rgveda (10.90).
FIoQe QEUge=l  (10.90) 3T

Write critical notes on any #wo of the following : [10]

GGkl HUIEl arelor fad=e ufi=se  fom

(2)

(i1)

(4i7)

Salanirmanam.

QAT HTOT |

Purakalpa in the Brahmanas.

SRR qUehed |

Yajnavalkya’s thoughts on Atimukti.

[ o

AT AR =R,




Total No. of Questions—8] [Total No. of Printed Pages—4+1

Seat
o [4201]-227
S.Y. B.A. EXAMINATION, 2012
PRAKRIT (Ardhamagadhi)
G-Il : (i) 3T eTayqURTeal (Vasudev Hindee)
(ii) IMTHEUT of 3 (Ambadev Virachita)
(2008 PATTERN)
q% : o A THU T : 80

Tl :— All questions are compulsory.
wd WA diefau ofeRds STk

1. Translate into English or Marathi any two of the following : [8]

A SRy geid fewear WEd a7
() ash ufeou  wfe—

ST AT U, S 9 A gHeRd e weeedl |

St 9 gfew gfesh, a8 7 T weasa Nl fd
qdl grgon  wfursi—

T THE TN STed e |

el qREEEEl W I R heded |l
Tl qu wiE—fe gu vHe! gedfe wwiehl fa e=fcd e o 2 fa

P.T.O.



(i1)

(ii1)

Ta o oAfgely e wEewE gftuifag GfdseeR T & I A

e ™ 9 dd Yaumal YIuEae YauEveedl  Yesieeredl | |l

qUE—hdl 19 gA ? T @ 7 § Afqegt fash| fagouegm-feaam

I O fREdT gy stfaftsl wfaeser, ot = § o= | gediacdiar

~

TR del Efhd W ART  STaoHdH |

7 TR el TSl ol ARSI SRWid §ed &d | qdl de=
o gd, SRl gIfEun o WS dslt WwEom wgu 9Nl e
Johotd AR O 9 90 % WU ufes JeEHml qiuEEre
SN qU g guuErednyun fegr, gfesst a—a 9 f4 72 wmfe =@

geatd 4 2 ®=m oA gE O ?

Explain with reference to context any two of the following : [§]

O  gEd THeH SIS &

()

(i1)

(4i1)

g 9@ fa gf@ @ weu s
" B EEERi

qd| W diefE, 3 O oS0 STOMR oAy |

Explain the occasion in detail that led 3¥Esd to HHSI&T. [16]

o N n

S Y e iRlel Aol o UETWe 9faw) 9| &

[4201]-227



Or
(feram)
Describe the 3SoRIET o 3TTeew.

SIS IS guie .
Write a critical paragraph on any one of the following :
EoThl HUERI  Uel fomemreR  foeme dimee fom

(i) Language of 3TTSSTHUISTTIHhEL

ST UISTIREI=l I,

(ii) GG in the SATSIUH VISR
TeTfUsTishemEles  guifod.

Translate any two of the following stanzas into English

Marathi :

EIGUR DRI QM IO NI feer TG 9Toia A

() W& gw fagfgnfem fa I ameyd
T efeaaraT o |
YUERME qU Y Tedhodeagsd |
iR weu #Imo =i 9 fomm

(ii) STHUHRGIRAT IR eI GTaHEE |
TASTIN ® foRkar Jorg d =4l

W 9 YEHS 'HAR qE oAU SR |

Jeeufg3uRoIhy Wad ||

[8]

or

[8]

[4201]-227 3 P.T.O.



(fi7) 9forell o dife @ Teg d@ HO HE0 T TR

qE 9aU HEME URUE q | Al

qHghIRag aeacged  dEell U3 gl

TI9 TgWl Gdl ofeRRell Wekuw i

(jv) THIGEFE A T WEUHE SESHA HAN |

I WERY A |/OE ®SU Al dul
aforr ‘ot e T femmofe stomor wmifem Ao

6. Explain with reference to the context any two of the following : [8]

o o M2 1 o o I o e R o6 o r i o2 LA xS T
() S TE eledas |

(i) TEAfETEEg WMo’ fa o)

({ii) USTEAT A T HAT oo fogdl |

(jv) Y &P T FF AGEHIW & IO

7. Attempt any one of the following : [16]
TEoun! HUAR e WA Ered

Narrate the episode of I and dTTHAGHI

3ITIF M0 e AT YA FUH -

[4201]-227 4



Or
(feram)
How were the princes tested by the king YdAfSd ?

qEATSId TS STRARIE! TRe 3N Aot ?

8. Write critical paragraphs on any one of the following : [8]

o N o haN o

JEeush! FIEE  UehleR fad=es ufwee fom

(i) The dream and pregnancy-longings of gl

g™ @@= 9 SRl
(ii) The Snake-episode.

TIGE.

[4201]-227 5



Total No. of Questions—5]

Seat

S.Y. B.A. EXAMINATION, 2012
ARABIC

General Paper 11

(2008 PATTERN)

[Total No. of Printed Pages—4

No. [4201]-229

Time : Three Hours Maximum Marks : 80

1. Translate into English or Urdu or Marathi any two of the following

passages :

7. . . 8.7 F 2,377 8 At P A P A Y .
ala> 9 olinl g4y a0 ('_.\,/a_:.x.o..“ le..c L}._>'-.3 SR o= Sy O) J"i?% (g_,d.j‘)

-
s -

L e &7 7 \ 2.8 57 ’{//// .- <
4} QL§) Q\..ki.:..wi _{.3..6 S c\..o.i{:» LS'L'C 4y R0 _J}—..Lg')L.‘,aj_ﬂ.»._;;.X_’

[ P

R - R 5 o7 P s P

.L.g‘y _s/\..\.:f..;.A.S LS% J\.&) o.X..w.>-j : _24..:.5\ B )Lxe ./X._M\.h_“]_:;’.{j_ijj
> 87 8 = I < F L0 4% 2 05 . - .

_Cfc..lﬁj..o.j\‘jtﬁ‘ _;;,.l..su; Ja ) A8 4.;&3 (_52 .L.:.:/Lj\ f 151'9 2.L.:§A B

-7 z -y 2T 77 .. L
j"'g‘ L.ALa.b ‘L.Sc.‘..\,a)) ﬂ.é{,ﬁﬁd//'d

ER1

Sl @35 55ad ekl 5 AT (el 55T mies Ga ol e

< - 7

.o 7 G, s - w ¢ 2.7 < o -
V.c.g:» 9 T L Uf; Lg 9 LSijJ P &:’. J..Ju _ﬂ.; 5)\.; 2 J j.a.e.;'..:._iy _au 5)\._’

P.T.O.

(<)

[16]



s 7 . & 8 f & o a8 _
A.e_} J_}Mh“) Jj..fi.@.j\ AJLSJ\ .9) _A_'a"ya..‘:a_‘)_e\._‘z-&_ﬁ

s 8 -

- - v

5 ‘. . PR z
2y 4 4..;; B g_,J Ua 9 J.A.QJ wx; -(—5 9 - Ls_.,._x_.s (0 .L.@.x_s\ _:,._3 -2

PR B

UJY\ J..as\ w.\l;-) oJJ\..e\..@..‘..C«

] - 7os L L @, - - 1 o - . - O
Olials>= Q\.ib\) Q\.ZS\J.g Q\..;..:..G i) _cé\.:— ;,.JJJ. EJ..A.LB .La.g)

- s 2

C‘; V_ﬁxj\ 5\ L.@.hﬁﬁ )Lx.\xy‘ ;,.>;_: \._ﬁ.sz_>=_ﬁmﬁ J._.,..w.: .L_>—\)

el haelh JTasas (055 3T Gne S AT

- -
2 . - 4 . % -

.S_} d\.&}&w&.ﬂ.j) ! ;,.J .L.S\ ! ;,._’ s NGO J-PUNEINS WP SN SUNE| .X._‘>'-\_}

R - Sw. 8%
4 Coads ! ;,_;.U\ ! ;,_;.U\J..: O gay DD, A

z

g //

V.*&.S ‘ v};.’

- 8~ P

jv..ds\) u_...}- g_,.;.l“uj.é) u.....C«J...w.A o\._ﬁ‘« _SL_;;__&_:

1
-0
\W, ¢
ten
G
(%Y

()

2.  Translate and explain with Shaane Nu'zool (J s OL2) any two of the

following :

4>=.’LAM OJjM

[16]

QP

(V)

(")

[4201]-229



3. (A) Translate with reference to the context any four of the

following : [8]

e W ()

:'-ijg L-g-j‘))
KEGhE ()

3;13 LA .28
LA Jlaadt Sa ()

SV Jlasdl
bl I (o)

LS 253 sl
Jsle o Jaddl (o)

NHEM e
A g ()

=

B U

-

(B) Summarise any two of the following : [8]
el 10N

I

B3l Skl (7
adle =lai (YY)

Zxﬁij\J\.i»Y\ (i)

P.T.O. 3 [4201]-229



4, Define and illustrate any fwo of the following : [16]
J.:..\.gj & V-é Lo & A 9 jf e s ( \ )

o) a1 eall (Y

5. (A) Translate the following passages into English only : [8]

2 ] 2

O AST) Fedy O3 ol Ll SN TLE G S jSO) LB s e Sl
Ja a ¢ S e s e GG e _CL;,,A%;; %ﬁ;g;_si U
SEUR{ERCOUH VR SN B TIPS Wi UG
(B)  Translate the following passage into Arabic only : [8]
Go to the room and read your book. Maajid sits on your desk
and read the new lesson. Open your note book and write a short

essay. Fatima go to the school in the morning and play in

the garden in the evening. Write your name on the new note

book.

4 [4201]-229



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

S.Y. B.A. EXAMINATION, 2012
ECONOMICS
General Paper II (G-2)
(Banking and Co-operation in India)
(2008 PATTERN)
Time : Three Hours Maximum Marks
N.B. :(— (i) All questions are compulsory.
(i1) Figures to the right indicate full marks.

(iit) Draw neat diagrams wherever necessary.

1. Answer the following questions in 50 words each (any two)
(1) Explain the evolution of Banking in India.
(2) Explain the types of Cheque.
(3) Explain the importance of Co-operation.

(4) State the structure of Co-operative Banking in India.

2. Write notes in 100 words each (any four) :

No. [4201]-

230

: 80

. [10]

[20]

(1)
(2)

Endorsement.
Quantitative credit control.

P.T.O.



(3)  Objectives of Primary Agricultural Credit Societies.
(4) Principles of Co-operation.
(5) State Trading Corporation.

(6) Dairy Co-operatives.

3. Answer the following questions in 200 to 250 words each (any

three) : [30]

(1) Explain the arguments against and favour of Nationalisation
of Commercial Banks in India.

(2) Explain the Modern Technology in Banking—ATM, Credit Card,
Core Banking.

(3)  Explain the problems and suggest the remedies of Sugar Industry
in Maharashtra.

(4) Explain the objectives and functions of NABARD.

(5) Explain the effects of Globalization on Co-operative

Banking.

4, Answer the following questions in 500 words (any one) : [20]
(1) Explain the functions of Commercial Banks.
(2) Explain the problems and suggest the remedies of co-operative

agricultural marketing.

[4201]-230 2



9% : 3 A" TR T :

(WS ®aial)

gl :— (i) WA WA defdu ofemds o
(i) SoEhele 3 YUl U TFiferdrd.
(iii) RIS d9 Foh 3HAl Il

(jv) TSGR He&  SUSH WAUCIRT TerEl.

1. Woe FAE S® S 8 I fow (Fvhd de)

(1)
(2)
(3)
(4)

2. TR
(1)
(2)
(3)
(4)
(5)
(6)

YRATdI®  Slohial kil SO R

dhd JHER WL H.

Tehd Hegcd TR .

YRAAIe HehRl o=l & T &

100 I=<id@ fewr fomr (Fo@@ =R)
ELSER

TEATCHE  TdfTII]

Tafgs FH TqgeRmEt sy

Teh=l  dod

T AR HED

TEhRl g AT

3. W WAE IW TS 200 0 250 I (@ (PORET )
IRATNG AR sShre TSIaom=a gudae onfor fadeht Jefar

(1)

[4201]-230

e h.

80

[10]

[20]

: [30]

P.T.O.



(2) FFEG MYHH THTH TR FA—TIATH., Hiee HIES, HISK SR

(3) TENIRMIG 9er U= a9 3™ T H.

(4) -ere=n fesed 9w TR FHL

(5) SINfAehIh{oMY Hehl] Shiaiie UM T .

4. THSUR Tl TN SR 500 I fowr e [20]

(1) SAURT SRt hid T H

[a

(2) TEHN FE fIUUHEN GHET 9 UM TR S

[4201]-230 4



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4201]-231

S.Y. B.AA. EXAMINATION, 2012
ECONOMICS

Special Paper 1

(Micro-economics)

(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

(iit) Draw neat diagrams wherever necessary.

1. Answer the following questions in 50 words each (any two) : [10]
(1) Explain the Law of Diminishing Marginal Utility.
(2) Explain the Law of Supply.
(3) State the characteristics of oligopoly.

(4) Explain the concept of Quasi Rent.

2. Write notes in 100 words each (any four) : [20]

(1) Opportunity Cost

P.T.O.



(2)
(3)
(4)
(5)
(6)

three)
(1)
(2)
(3)
(4)
(5)

(1)

(2)

[4201]-231

Features of Collective Bargaining

Social Welfare Function

Factors

Determinants of Demand

Characteristics of Monopoly

Average and Marginal Revenue.

Explain
Explain
Explain
Explain

Explain

the

the

the

the

the

Answer the following questions in 200 to 250 words each (any

[30]
characteristics of Indifference Curve.
factors determinants of Supply.
Loanable funds theory of Interest.
Risk and Uncertainty theory of Profit.

importance of micro-economics.

Answer any one of the following questions in 500 words : [20]

What is meant by perfect competition ? Explain the short-

run and long-run equilibrium of Firm under perfect

competition.

What is meant by Rent ? Explain the Ricardian Theory of

Rent.



(W& T UIR)

q9% : 3 AW THUW T : 80
o :— () |d WA Hisfau ofeRds .
(i) ISElhele 3 U U SFifadm.

(iii) RIS d9 Fak 3HAl Il

(jv) TG He&  SUSH WRAUCIRT TerEl.

1. S0 T S® TRl B Ieed foRl (Rivddl @|) e [10]

Nes s

(1) e HHd SUEifaen W s &

(2) eI 9 T .

(3) STcUfashdIfer =T AfETse HI.

(4) oMY Wel Hheddl T &

(aV

2. R 100 T fewr fewr (FomE WR) [20]
(1) W ©E

(2) UM cIas WRRERE ST

(3) 9IS HeAT oA
(4) WO RfIUR  HEHh
(5) W=l afiTe

(6) TUEW o HHG Il

N0

3. T WARED SW Yo 200 9 250 I fowl (FuEEl d|) o [30]

(1) FUgl gt ARTe T &

(2) YEE Fuifa HOm "eh TR w7

[4201]-231 3 P.T.O.



(3) AN helis M= faga T= &
(4) o g Afm=a=n 9@ W= &
(5) Yeaos ST W™ TR HA
4. TOOUHR HUEE THRT TE IR 500 IT=W fed o [20]
(1) Yo @yl BN ®E ? U TEd HauEEEd STeudiiol 9 fEmeH
TG T &
(2) ©e BN & ? e osfawes faga @< &

[4201]-231



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4201]-232

S.Y. B.AA. EXAMINATION, 2012
ECONOMICS

Special Paper II

(Macro-economics)

(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

(iit) Draw neat diagrams wherever necessary.

1. Answer the following questions in 50 words each (any two) : [10]
(1) Two sectors model of circular flow of income.
(2) Explain the Say’s law of Market.
(3) Explain the cost-push inflation.

(4) Explain the effects of deflation.

2. Write notes in 100 words each (any four) : [20]

(1) Scope of Macro-economics

P.T.O.



(2)
(3)
(4)
(5)
(6)

three)

(1)

(2)
(3)
(4)
(5)

(1)
(2)

[4201]-232

Investment Multiplier

Primary function of Money

Supply-side Economics

Arguments in favour of Free Trade Policy

Paradox of Saving.

Answer the following questions in 200 to 250 words each (any

[30]
What is meant by Marginal Efficiency of Capital ?
Explain the factors of Affecting Marginal Efficiency of
Capital.
Explain the phases of Business Cycle.
Explain the Macro-economic Objectives.
Explain the instrument of Fiscal Policy.

Critically examine Fisher’s Quantity Theory of Money.

Answer any one of the following questions in 500 words : [20]
What is Inflation ? Explain the causes of Inflation.

What is meant by ‘Monetary Policy’ ? Explain the instruments

of Monetary Policy.



(W& T UIR)

q% : 3 AW TR T : 80
o :— () WA WA Hisfau ofemds .
(i) Sedihele Ih qu o i,

(iii) RIS d9 Fah 3HA Il

(jv) USHHEl W TS UIAUAh] TRE.

1. O T S® TRl B Ieed foel (RivdEl @|) e [10]

(1) 3Ol fgQT SRR Yo T .

(2) ‘¥ = IeRfaTEs M.

el aXd

(3) TE-TEMHHd Toae TR S

(4) =ATEEE RO TR H.

[aV

2. TR 100 7= fewr fewr (FUd Ww®) [20]

(1) TS AV AT T .

(2) TAEUE TR
(3) Uomeh wiafae @
(4) YESIr=Al SNE - ST

(5) TEeA SR GROTAT S gfRag
(6) w=dran ferienmd.

3. Wod TR SW USRI 200 9 250 I foel (ke dF) : [30]

(1) VSTt HHd aYgHdl RS w2 ieddr=l HiHd ATyeTHdeR

giomy HOM T2k TS H.

[4201]-232 3 P.T.O.



(2) AUREHAT I T h.
(3) wTHUAR offde ORumEl ST TR &
(4) TSHEE GROTE digH 5 4.

(5) Trer=n Toaem e fagae feras afRemor =

4., TAGUD DUARI Tk YIAE SW 500 I fowr [20]

~

(1) <ToHde WIS %I ? TAdalerdl hRU TR H.

(2) TIeHAOEIS URU WUN h™ 7 AdAaudgeh GRUMMEl 9EE T 6.

[4201]-232 4



Total No. of Questions—4+4] [Total No. of Printed Pages—7

Seat

No. [4201]-233

S.Y. B.AA. EXAMINATION, 2012
POLITICS
(G-2 : General Paper II)
(Constitutional and Political Process in India)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer any two questions (in 50 words each) : [10]
(1) Constituent Assembly.
(2) Scope of Directive Principles.
(3) 73rd Amendment.

(4) Importance of 1977 Parliamentary Election.

2. Answer any four questions (in 100 words each) : [20]
(1) Philosophical Bases of Constitution.

(2) Role of Judiciary in Safeguarding Fundamental Rights.

P.T.O.



(3)

(4)

(5)

(6)

(1)

(2)

(3)

(4)

(5)

(1)

(2)

[4201]-233

Trends towards centralism in Indian Federation.

Electoral Reforms

Nature of Peasants Movements

Hindu-Communalism.

Answer any three questions (in 20 b 250 words each) :[30]

Explain the Centre-State Administrative and Economic
relation.

Explain the structure, power and functions of Election Com-
mission.

Write an essay on Language-based Movements in India.
Explain the relations between Legislature and Executive.

Describe the Congress System.

Answer any one question (in 500 words) : [20]

Explain the Fundamental Rights in Indian Constitution.
Write an essay on ideology, organisation and contribution in

Elections of B.J.P. in Indian Politics.



9% : 3 A" TR T :

(WS ®aia)

o :— () |d WA Hisfau ofeRds .
(i) SoEhele 3 YUl U TFiferdrd.
({ii) WSWHIE T SUSH WIAUCART UgTel.

1. ®UIE o WAE W few (e B ITid)

(1)
(2)
(3)
(4)

AT Gt
Hrfezfeh  dedr=l AT,

73l USAESAT GO

19771 kYl THISUR™  Hacw.

2. FUUE WX WAl Sk few (v 100 ITEd)

(1)
(2)
(3)
(4)
(5)
(6)

TSTeeq<]  difcelch  oIdh.

oV d BRIl WG =Eear qed YfHe.

IR TR hIShIom= Fa.

EEENEICEEREIRSItU|N

Ty doddid  WE.

feég-SHIaae.

3. HUEE dF WAl S o (Yt 200 9 250 3ITSd)

(1)
(2)
(3)

[4201]-233

He-U IATIG WIEHE o Afdes Tag T2 .

IS M= oA, IR Tl i T2 k.

~

YRAdIG ek dosddiar ey Tl

80

[10]

[20]

[30]

P.T.O.



4.

(4) FPCHE® d SERRHSHMdS HoYg T .

(5) HEH HRIY FUH FH

FUAR Wl WA W feel (500 IR[) [20]

(1) ¥RAE TTEEd® HeYd TRk T 6.

-~

(2) YR AShRUTNG vreiare! foamERell, ¥eed i FHesueide dreH

IR fey  foen

[4201]-233 4



[4201]-233

(G-2 : Optional Paper)

(Political and Social Movement in India)

Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Attempt any #fwwo questions (in 50 words each) : [10]
(1) Telugu Linguistic Movement.
(2) Chipko Andolan.
(3)  Functioning Method of Moderates.
(4) Explain—Upliftment of Women.

2. Attempt any four questions (in 100 words each) : [20]
(1)  Post 1956 Dalit Movement.
(2) Islamic Movement.
(3) Role of ‘Son’s of Soil’.
(4) Naxalite Movement.
(5) Problems of Mill-Workers.

(6) Challenges before the women’s movement.

3. Attempt any three questions (in 200 © 250 words each) : [30]
(1) Discuss the main issues of the Renaissance Movement.

(2) Explain the role of communist movement in Indian Politics.

[4201]-233 5 P.T.O.



(3) Comment on the communal movement in India.
(4) Explain M. Phule’s social thoughts.
(5) Explain M. Gandhi’s Idea of ‘Gram Rajya’.

4, Attempt any one of the following questions (in 500 words) : [20]
(1) Describe Raja Ram Mohan Roy’s view on Social and Religious
reforms.
(2) Explain the contribution of O.B.C. movement.
(TS TUIR)
q% : 3 AW THU T : 80

9

ol :— () Wd WA defau STeRdE  SiRd.
(ii) SSehele 3k YU IO SFifordrd.
({ii) WSWHIE T TUSH WIAUCART UgTel.

1. SR A YAel S feR (Wt B Id) [10]
(1) dov Wit Fde.

(2) fogsl Ee.

(3) HI@ET HEYS.

(4) Tfgo=n 3GR (Upliftment) ¥ k.

2. SR WX WAl SRk few (Y 100 ITRd)  : [20]

(1) 1956 =t <fed <ddcs.

(2) YU Tesdcs.

(3) YfHYeTRET  YiHe.

(4) AHGART TBIAB

(5) TRon ™= SHE

(6) WEKEl Jeddl Ydio =M.

[4201]-233 6



3.

4.

PUEE AT GIAEl S fowr (YRl 200 9 250 IEE)  : [30]

(1) T Jedddio TE Aoedrdl @@l .

(2) YNGE USROG |rerE]  Fadeoidl  YfHeR T .

(3) YRAe SHAARE! Jodoiol 9T il

~

(4) W Y I GHee f9ER ®w &

(5) W MURET UHTSHIfOYEe Gheddl TR .

TH@Uh! RUE TRl W3 S fowr (500 3IR) [20]
(1) ST [HERA AT AT ISR 9 e gURonfasEes foae ==t
.

[aV

(2) T®R HEEST Fosdedd ANEM TR &

[4201]-233 7



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4201]-234

S.Y. BA. EXAMINATION, 2012
POLITICS
Special Paper 1
(S-1 : Western and Indian Political Thinkers)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Attempt any #fwo questions (in 50 words each) : [10]
(i) Aristotle’s views on ‘Property’.
(ii) John Locke’s views on Civil Society and State.
(iiz) Justice Ranade’s views on British Government.

(iv) Dr. B. R. Ambedkar’s views on Caste System.

2. Attempt any four questions (in 100 words each) : [20]

(i) J. S. Mill’s idea of Representative Government.

P.T.O.



(ii) Mahatma Gandhi’s concept of Ahimsa.
(itzi) Aristotle’s views on Revolution.

(iv) Mahatma Phule’s views on Caste System.
(v) Karl Marx’s views on Revolution.

(vi) John Locke’s views on Natural Right.

3. Attempt any three questions (in 250 words each) : [30]
(i) Explain Justice Ranade’s views on Poverty of India.
(i) Critically examine Karl Marx’s theory of Class-struggle.
(izi) State Mahatma Phule’s views on British Government.
(iv) Explain Mahatma Gandhi’s thought about Satyagraha.

(v) Explain John Locke’s theory of Social Contract.

4, Attempt any one question (in 500 words) : [20]
(i)  Critically examine J. S. Mill’s views on Liberty.

(iz) Explain Dr. B. R. Ambedkar’s thought on Social

Democracy.

[4201]-234 2



(AOE ®UI)

q% : A A TR T : 80
o :— () Wd WA el eEds R
(i) ISehele 3k qul IO <Fifaar.

({ii) TRUMES! T TUST YFAUAhT TRTE.

1. WASURl HUGE SH WA el (YR 50 ISQd) [10]
() ofilcoa guxifowas foeEr.

(i) S Jhd T 9 A0 GHNEeEEE faer.

Gii) =M. Tew o smeaeeae foem.

(jv) Tl . R STASHUT SdIHaEIeedd  foar.

2. WOOUH! HUdE OR W Hedl (YR 100 IKd) [20]

() . TH fHodr widFgSe  sTEAeeaE sedHl.

(ii) HEHT =T SIfgd=t  HehouHl.

(ii) SI=lea widifauas  fa=m.

fa ~

(jv) ¥ Hod VdFaEEEd faar.

(v) HIS HEFED HidaoIER  fI=R.

(vi) S Sfha "l TFpEEOd  foaR.

[4201]-234 3 P.T.O.



3. TooURl DR AN WA Geal (Yl 250 IEM) [30]

NN fa o fa

(@) 2. IS IRAS TR (SISATISST) foarR T &

(i) o A aiges fagumae femmms olam &

({ii) W Hod foerT ImeAawe fa=umr =

(Gv) W TN FANREEdY foaR W &9

(v) S Sk AEISEH PR G = &

4. TR HUAE Tk WA GEdl (500 IEM) [20]

G) W v oo woAfaugs faee feams 1Gam .

(i) . 1. AN. ATdSHUDT HUMHEITTF BIhINelaradd faar s

< .
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Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

S.Y. BA. EXAMINATION, 2012
POLITICS
Special Paper II
(S-2 : Modern Political Analysis)
(2008 PATTERN)
Time : Three Hours Maximum Marks
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Attempt any #fwo questions (in 50 words each) :
(i) Features of modern political analysis.
(ii) What is public opinion ?
(iiz) What is the meaning of political culture ?

(iv) Meaning and nature of political change.

2. Attempt any four questions (in 100 words each) :

(1) Aims and limitations of field study.

No. [4201]-235

: 80

[10]

[20]

P.T.O.



(i1) Agencies of political recruitment.

(iit) Meaning and features of political modernization.
(iv) Meaning and nature of political communication.
(v)  Functions of political system.

(vi) Meaning and features of political socialization.

3. Attempt any three questions (in 250 words each) : [30]
(i) Explain the agencies of public opinion.
(i1) Explain the levels of political participation.

(iit) What is the meaning of political development ? Explain the

influencing factors of political development.
(iv) Explain the agencies of political socialization.

(v) Explain the types of political change.

4, Attempt any one question (in 500 words) : [20]
(i) Explain the influencing factors of political culture.

(ii) Explain the types and agencies of political communication.

[4201]-235 2



(AOE ®UI)

q% : o\ A THU T : 80
ol :— () Wd WA el eEds SR
(i) 3IEiwele 3 Ul IO TFifoard.

(iii) ERHES! T TUST YFAUAhT TTE.

1. WOSUH! HUel aF WA Al (YR 50 M) [10]
(i) onyfier Tefwra fazowomet AT,

(ii) ORFd WIS &E ?

((ii) TSR GE&hdl WIS w2

(jv) TSR TC@ WIS & o HH &I G0

2. WOOUH! HUdE OR W Hedl (YR 100 IKd) [20]

() &g AWMUsdEr Sfese a wafer 9rm.

(i) USRI TR weh  (TEH) G

(iii) VSIfhT SMYTHIHIU RUS &M WA AFhihom=n AT FAM.

(jv) TSR WA WIS 6@ GFH 9o @Ed 9.

(v) TSIfRT TN HE  HOL

(vi) TSIhA TSR TS HE G FESIROTE SR Fm.
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3. TooURl DR AN WA Geal (Yl 250 IEM) [30]

(i) HRHATEl HWEA TR H.
(i) TSR FEURT=A U (STFdiey) T &
(iii) TSIfRa faeh WUS %@ 1 9FF USi(hd foRM™EmER g9e areum weeh
e R
(fv) TSIfRT TSRO HET TR HA.
(v) USRI oA YRR T HA.
4., HUAR Wk WA HWed (500 IRM) [20]
() USRI FGHdeR Y96 TEUR - UH  TIE H
(i) USRd HYAA™ YR WA TSI(hd TYAAE e T R
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Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4201]-236

S.Y. BA. EXAMINATION, 2012
HISTORY
General Paper II
[Modern India (1885-1992)]
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]
(i) Explain the aims of Indian National Congress.
(ii) What is meant by Extremism ?
(ii1) State the concept ‘Secular State’.

(iv) What do you know about the Globalization ?

2. Write short notes in 100 words each (any four) : [20]

(2) Justice M. G. Ranade

P.T.O.



(ii) Gadar Party

(i) Dandi Satyagraha

(iv) Integration process of Junagadh
(v) Bandung Conference

(vi) Dunkel Proposal.

3. Answer the following questions in 250 words each (any three) : [30]

(i) Explain the social background leading to the rise of Indian

Nationalism.
(i1) What role was played by Muslim League in Indian politics ?
(iiz) Discuss the background of Quit India Movement in 1942.
(iv) Give an account of Non-Aligned Movement.

(v) Describe the Indian Dalit Movement after Dr. B. R. Ambedkar.

4, Answer any one of the following questions in 500 words : [20]

(i)  Which role was played by Anushilan and Yugantar Samiti in

Indian Revolutionary Movement ?

(z1) What is Feminism ? Give an account of feminist movement

in India.

[4201]-236 2



(WS ®aial)

q% : o A TR T : 80

g :— (i) WA WA STeRIS  3TRA.
(i) Sodher® 3k qui O SFifer.

1. Toe YR Y& 50 I<d SW foR (FiveEr 8| ) [10]

() O UEE Foger SR T #.

(i) SeoHddE WIS & ?

(Gii) ‘Y¥Add T @ Heheud W &

(v) ‘' SINTfdehIshLoNfao=Al’ ATIUTE 1T Hifgdl 38 2

2. W 100 I Gfew fewr fomr (svem@E WR) [20]

Nes o

i) EHdl HeRkd g TS

(i) T 9
((ii) <E T

o n_n

(iv) e ISR Ykl

(v) WET AREE

(vi) Tho TEME.
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3. WOle WA YR 250 IS S foRl (FudE dF) [30]

(i) ARAE USARREAT I[AM RO S THifSh IRayHl ww
.

(i) YRAE UShRRUTGIe JESH BTl YfHeRT kil Bidl - ?

({ii) 1942 =N TG STl URAYHITOER == .

(jv) SfoxaER ods= Jua ol

(v) Bl W AR APSHIARA YA Ifed Foddid v wH.

4. TR HUAE Tk WA W 500 IE@ o s [20]

(i) AR Hidel F@ddide RS o Al |iHde v fHeR
IERICIC

(i) TEOR WS ®E ? YRAE SeRl deddil gdd .
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Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4201]-237

S.Y. BA. EXAMINATION, 2012
HISTORY
Special Paper 1
(Introduction to History)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(i)  “History is an unending dialogue between the present and the

past.” Explain.
(i1) State the importance of History in Human life.
(iit) What is “External Criticism” ?

(iv) Define ‘Imperialist School of Historiography’.

2. Write short notes in 100 words each (any four) : [20]

(i) Nature of History.

P.T.O.



(i)
(4i1)
(iv)
(v)
(vi)

()
(it)
(i17)
(iv)

(v)

(2)

(i1)

[4201]-237

Importance of the documents in Pune Archives.
History and Sociology.

Historical Materialism.

Philosophical Foundation of Subaltern School.

Herodotus.

Answer the following questions in 250 words each (any three) : [30]

Is History an Art or Science ? Explain.
What is ‘Internal Criticism’ ? How is it achieved ?
Explain V. K. Rajwade’s contribution to Maratha Historiography.

What is ‘Nationalist School of Historiography’ ? State its salient

features.

State the achievement of Romila Thapar to the knowledge of

Indian History.

Answer the following questions in 500 words each (any one) : [20]

Give an account of the nature and types of sources of Historical

Research.

Make an assessment of Leopold Van Ranke as a World

Historian.



q%s ;WA

(WS ®aial)

| THOT T : 80

T :— (i) WA WA STeRIR  3TRA.

1. TG WA SW YR 50 I R (PR dM) [10]
(i) ‘''SE™ T YaR@ 9 A Fle AW Had FeUREaR o
e R
(i) WFEl Sennie gfdemre Hed 9.
(iii) ‘et Tdgn’ wUS wE ?
(jv) IHIER! Efde™ o' Yoo Y 9.
2. TR 100 I Hfww fowr fem (o W w) e [20]
(i) SiaeME wWEu.
(i) U JIVOENRI® HEEE  Hed.
(iii) 3fqer™ Sfor HHISRIE
(Gv) Tfefas  difqwarg
(v) afgaren gfded e Yumert (Subaltern School of Historiography)
e .
(vi) TelSes.

[4201]-237
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G oe WAl SW Tkl 250 IS fowl (RUeEl diF) [30]

() Sfem ¥ &l 3@ &t I ? TR HA

(ii) ‘ST Tl WUS w72 9 kY WA %o S 2

(iii) WUSI=Al sfde™ oEAMie fa. . Uoare I=i &M ferr .

(iv) ‘TRl 3fderE oEd YaR' WU @ 7 el 3@ aired e

< .

(v) UMHS IR ID YAE Sfdeg@r=n ARSI 9r.

NN

TAGIR! FEAEl W U 500 =@ fow (FOARI TR) [20]

(i) SfaemEren WY 9iEAe WEY 9 YeR Afaudr g9 @l

(i) Sfde SfaREeR O @ fosidice &9 Th A=A HE™ JedHIT

< .
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Total No. of Questions—4+4] [Total No. of Printed Pages—8

Seat

No. [4201]-238

S.Y. BA. EXAMINATION, 2012
HISTORY
Special Paper II
(Ancient India : 3000 B.C. to 1200 A.D.)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(i) Explain the importance of Archaeological sources for the study

of Ancient Indian History.
(i1) What were the causes for the decline of Harappan Civilization ?
(iizr) State the social structure during the Mauryan Empire.

(iv) Mention the salient features of temple architecture under the

Pallavas.

P.T.O.



2. Write short notes in 100 words each (any four) : [20]
(i) Sabha and Samittee
(i1) Astang-marga
(iit) The Saptanga theory
(iv) Satavahana trade with the Roman Empire
(v) Nature of Sangam Age

(vi) Pulkeshi II.

3. Answer the following questions in 250 words each (any three) : [30]
(i) Examine the economic life during the post-Vedic period.
(ii) Explain the nature of Urbanisation in the 6th Century BC.
(iiz) Bring out the significance of the Golden Age of Imperial Guptas.
(iv) Give an account of the achievements of Kanishka.

(v) State the socio-cultural life under the Rashtrakutas.

4, Answer the following questions in 500 words each (any one) : [20]

(i) Explain the teachings of Jainism. What were its effects on

Indian society ?

(z1) Estimate the achievements of Harshavardhana as a Benevolent

ruler.

[4201]-238 2



(WS ®aia)

s : o9 A THUT TOT : 80

gaOd — (i) WA YA STeRIS  3TRA.

1. WOle AR S® IS 50 I=d foRl (Ruhe @|) [10]

(2)

(i1)
(ii1)
(iv)

2. W
(i)
(i)
(i)
(iv)
(v)
(vi)

[4201]-238

g AR Seer= SEMel STgH  STHoedl Waed  arg

Hed 4% onill.

W GEhden @@t ROl ™ Bl 2

gedeoq gmifses = fRre +a.

UeoAredl Wit TN 3ok dfited U L

100 =@ wfww feor fogr (FoeEm@ = m) [20]
qar oAt |t

TS

g fagrd

HIaaea=n U GETSIeel=l SR

W g e

qosheit 241

3 P.T.O.



3. UWOlo WA SW YR 250 IS Rl (HIUdEt di| ) [30]

(i) SR dfcwweE fdw Shaae wdem
(i) 3 W q 6 IEHMIG AR WEq o .
(i) T WHSAE F@Ne {gau e Hed 9.
(jv) HiTSHTT HEARET JA@
(v) TCHIA DILAG ISR -HER(qh  Siad  HE
4., THo WA IW 500 I=A ol (FUART W) [20]
() S Reau TR wU. 9RGE gueieR ™ s uikomy 3o ?
(i) HAUHRR TS TUH goIH=A HHEAE JeIATT .
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[4201]-238

(History of U.S.A. : 1914 to 2001 A.D.)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]
(i) Why did America participate in the World War I ?
(ii) Explain the effects of the Great Depression of 1929.
(iit) Explain the concept of Cold War.

(iv) State the salient features of GATT Treaty.

2. Write short notes in 100 words each (any four) : [20]
(i)  Objectives of League of Nations
(iz) Truman Doctrine
(izz) Significance of Civil Rights Movement
(iv) STAR WAR
(v) Open Trade Policy

(vi) Nature of Dunkel Proposal.

[4201]-238 5 P.T.O.



3. Answer the following questions in 250 words each (any three) : [30]

(2) Examine the role of President Woodrow Wilson in the Paris

Peace Conference of 1919.

(zz) Give an account of the New Deal Measures in the fields of

industry and labour.
(iiz) Assess the role of U.S.A. in the World War II.
(iv) Examine the Foreign Policy of President Eisenhower.

(v)  Explain the relations between U.S.A. and India during the period
of your study.

4, Answer the following questions in 500 words each (any one) : [20]

(i) Assess the causes of the rise of U.S.A. as a super power

in 1990 to 2001.
(ii) Critically examine the terrorism and its consequences.
(TS ETUIR)
q% : dF A THU T : 80

gOd :— (i) WA WA STeRIS  3TRA.

1. Wole AR S® IS 50 I=d foel (Fuhg @F) [10]

o o

(i) oHR&d dfeca WS i YF HASl ?

[4201]-238 6



(Gi) 1929 =N HeMSw uRumm fare .

(i) ‘B gg' & Fhedw TR H

(jv) T FWE  (GATT Treaty) 3% dfRT=d I

2. Y 100 I Gfew fewr feomr (wvem@E WR) [20]

() TseguEr Sfese

(@) g™ fagma

(1i1) T BFh Tosdodd HED
(fv) ¥R IR (STAR WAR)

(v) TS AR R

(vi) Tho YHENE TWEY.

3. WOlo WHARN SW YR 250 I ol (HIUdEr diF) [30]

N o

@ 1919 =0 U@ Imaar gReRdle g3l facddem qfiea e

A

< .

(i) EM Y HER e <] oAl IUF deMiel gdd @

o [ SN

({ii) TEA HEFESMIG WA YfHehd oA .
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(fv) A& STIUTRETAT TSI URUE GH&0 .

(v) I A FOESHE SHRR 9 9RG AAMS a8 T H.

4, WO® TAE W TSR 500 IR fowl (VMR WeR) [20]

(i) 1990 d 2001 A SMTfdh FEEl WA FHRG=A AT HROTHAE

< .

(ii) <TEIaare oMt wren R fefecgs wdermr &
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Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4201]-239

S.Y. BA. EXAMINATION, 2012
ANCIENT INDIAN HISTORY, CULTURE AND ARCHAEOLOGY
General Paper II
[Outline of Political, Social and Economic Institutions
of Ancient India (600 B.C. to 1200 A.D.)]

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]
(i) Concept of Ganarajya (Republic).
(1) Kingship of Mauryas.
(itzi) Ancient Industries.

(iv) Ancient Weights.

2. Write notes on the following in 100 words each (any four) : [20]

(i) Saptanga Theory.
P.T.O.



(i)
(4i1)
(iv)
(v)
(vi)

[4201]-239

Functions of Sabha.

Types of Ancient Punishment.
Women during Vedic period.
Concept of Agrahara.

Guild.

3. Answer the following questions in 200-250 words each
(any three) : [30]
(i) Discuss the different types of State.
(i1) Explain the composition of Ministry according to Sukranitisara.
(ii1) State the demerits of the Caste system.
(iv) Explain the phases of development of Ancient Indian Currency
System.
(v) Write the composition and functions of a ‘Samiti’.
4, Answer the following questions in 500 words (any one) : [20]
(i)  Describe the literary sources of Ancient Indian Political, Social
and Economic Institutions.
(i1) State the objectives of the marriage system in Ancient India

and discuss the various types of marriage.



(WS wUIaR)
q% : o\ A THU T : 80

ol :— () Wd WA defau STeRde .

1. WOle AR S® IS 50 I foRl (Fuhg @F) [10]

(i) ‘TORSE HeRedI.
) W TS
(i) 9= S
(jv) YEHE TS

2. TR 100 I=@ du foml (e | w) e [20]
() wwm fagr.
i) 9u=El wE.
(fii) 9= e geR
(iv) AEHSH Tl
(v) SRR B Hehoul

(vi) ATl

3. Wdo FEAEl SN GIR! 200 d 250 IS foml (el d@|) ;o [30]

G) T fafgy yer=n ==t L
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({i) IHMAIER TAHSeR WAl e &l

(jii) oIS <Y |

(Gv) YA YA Iododad= faseme ed foRr .

o n N

(v) ‘"fFd=r =T o9 s o

WOl G S 500 =M fogl (hUdEl Teh) [20]

(i) UEH 9RO qSehid, AiiSeh o ST Weer= Siieel areH
ESICE e L ST A
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Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

S.Y. B.A EXAMINATION, 2012
ANTHROPOLOGY
(G-2 : Indian Tribes and Tribal Welfare)
(2008 PATTERN)
Time : Three Hours Maximum Marks
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer any two of the following questions in 50 words each :

(i) What is Ethnography ?

(i1) State the factors of social change among Indian tribes.

(iizr) Write the linguistic classification of Indian tribes.

(v) What is the importance of magic among the tribes ?

o [4201]-240

: 80

[10]

2. Write short notes on any four of the following in 100 words

each :

(7) LT.D.P.

[20]

P.T.O.



(i1) Primitive Religion
(izi) Acculturation

(iv) Ghotul

(v)  Isolation

(vi) Integration.

3. Answer any three of the following in 250 words each : [30]
(i) Explain the functions of youth dormitories.
(iz) What are the beliefs and rituals in primitive religion ?
(itzi) Describe the economic life of Warlis.

(iv) What are the various types of preparations required for

Field work ?

(v) Explain the problems of Indian tribes.

4, Answer any one of the following in 500 words : [20]
(i) Distinguish between caste and tribe.

(ii) What is the policy of protective discrimination for the

Aadivasis ?

[4201]-240 2
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d% : o a™ THUT 7T : 80

T — (i) WA YA STeRIS  3TRA.

1. WOSUR! HUIRI eF WD SW® YS! 50 ITSadd foer [10]

(i) Fhuge fomH =ue ®E ?

(ii) YR STfcardidice 9MifSeh scord ©2sh 9.

(iii) YR STfeardia Wifoer  SFfieh<ol .

(jv) oA Vige Wed &E 3R ?
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() I.T.D.P.
(i) onfem o

(1ii) FHIEHAHI

(iv) TS
(v) AT
(vi) TRIHHII.
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3. WOIOUHR! HUARI dF UEEET Yl 250 3ITseigdd SW foRr [30]

(i) JATRRET &®E TR &

(i) wWAH® "Hidie 9@ ST HHKBIE & Aed 7
(iii) IRfed offdfer Sam faoe &
(jv) & FEEEE el fafay geEaal sTeRgs oARd ?

(v) YRAE sTfcard=n fafay woEnm W .

4., TAUD DUARI TR WAT 500 ITRTHd W fowr [20]

(G) S Ao S| Ao 9 9.

(i) oTfcaiaea TIeunes 989 80 kg AR ?
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Total No. of Questions—4+4] [Total No. of Printed Pages—8+2

Seat

No. [4201]-241

S.Y. BA. EXAMINATION, 2012
GEOGRAPHY
General Paper II
(Gg-210 : Geography of Human Resources)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.
(i1) Figures to the right indicate full marks.
(iit) Use of map stencils is allowed.

(iv) Draw neat diagrams wherever necessary.

1. Answer in about 20 words each (any ten) : [20]
(i) State any four branches of Human Geography.
(i1) Write any two names in modern period Geographers.
(i1zi) State the names of Vedas.
(iv) What is Nasal Index ?

(v) Give the habitat regions of Eskimo.

P.T.O.



(vi) State the physical characteristics of Bushmen.
(vit) Give the regions of Gond tribe in India.
(viii) Give the rules of Muslim Religion.

(ix) Give the sects of Jain religion.

(x) State the types of migration.

(xi) Define the checkboard pattern of settlement.
(xii) Write the activities of rural settlement.

(xtii) Define the growth of population.

2. Answer in about 50 words each (any {wo) : [10]
(i) Changing nature of Human Geography.
(ii) Concept of Determinism.
(iit) Economic activities of Naga tribe.

(iv) Causes of National migration.

3. Answer in about 150 words each (any two) : [20]
(i) Explain the relation of Human Geography with Social Sciences.
(i1) Write the stages of human evolution.
(iiz) Explain the human life of Bhill tribe.

(iv) Write the affecting factors on growth of urban settlement.

[4201]-241 2



4, Answer in about 300 words each (any two) :
(1) What is Race ? Explain major races in the world.
(i1) Give the geographical account on Pygmy.
(izi) What is religion ? Describe the Hindu religion.

(iv) “Population as a resources.” Explain.

(WS ®aia)

q% : o\ A TR T :

o :— () Wd WA el e SR
(ii) Ielhel® ok O U SFifdar.

((i1) RN VfHe auIy WarT 3R

(fv) STeRIR dI Yook AR HIal.

1. T §AR 20 I=Mdd SWfow (Sl gar)

(i) HAFSl oA RO oK Imen 9n.
(i) oMYTh F@Me HOER A Jieawe A el
(i) Sl A |

(jv) Tfgww WIS ®F  ?

(v) TR=RErEr e 9o =
(vi) TREA DERET IR AT T
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[20]
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(vii) VRAIG Tie SHH UeIl =l

(viii) Gieom guidie =W @

(ix) 9 99 99 =

(x) TISE YHR  HA.

(xi) <RFRG YEY FIEEdET AR

(xii) WTHIOT 9T &+ fol

"

(xiii) DHEAT Tl R .

2. TS AR 50 IS SW o (FOE gF) e [10]

(i) HEl Yiod dced WEu.

(i) Trrfae 9eeuH.

({ii) AWM S emfees fomem

(Gv) TRHE TS HRO.

3. T AR 150 IS SW (Rl (HUE Q) [20]
(i) Wl Yol §Hieh  IMERET 99y e &

(ii) WAl 3Ichidig W T

(Gii) oo U AFEl Sed T .

(Gjv) T JHRd=a diea) giumyg iUk e fol.
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4. T AR 300 IS SW (ol (HUCE QA [30]

() o WS & ? e YHE o TR H
(i) Tt Sekn drifes g @
(iii) @H ®oN wE ? fég Wi g0 &

(v) “JHE TH GUF el W &L
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(Gg-210 : Geography and Natural Hazards)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.
(i1) Figures to the right indicate full marks.
(iit) Use of map stencils is allowed.

(iv) Draw neat diagrams wherever necessary.

1. Answer in about 20 words each (any ten) : [20]
(i) Give any fwo names of hot desert ecosystem.
(ii) State the two examples of animal hazards.
(iit) Give the #fww names of man-made hazards.
(iv) What is Hazard assessement ?
(v) Write any fwo radioactive prone areas.
(vi) Write any #fwo causes of drought.
(vit) Give any fwo management policies of cyclonic hazards.

(vitr) Define ‘Flood’.

[4201]-241 6



(ix) Give any fwo causes of Tsunami.

(x) Write any #fuwo examples of landslide in India.
(xt) Define ‘Deforestation’.

(xiz) Write any fwo causes of man-made forest fire.

(xtii) Define the term underpopulation.

2. Answer in 50 words each (any two) : [10]
(i) Interdisciplinary nature of Environmental Geography.
(i1) Biological Hazards.
(iit) Pre-hazard management of ‘Forest Fire’.

(iv) Management of soil degradation.

3. Answer in 150 words each (any fwo) : [20]
(i) Explain the nature of Environmental Geography.
(it) Describe the causes and effects of hailstorm.
(i1) Explain the effects of earthquake.

(iv) Give aims of hazard management.

[4201]-241 7 P.T.O.



4, Answer in 300 words each (any {wo) : [30]
(i) Explain the causes, effects and management of landslide.
(ii) Classify hazards. Explain any #fwo of them with example.
(iizt) Describe the causes, effects and management of flood.

(iv) Describe the causes and measurements of population explosion

in India.

(W& wUIaR)
q% : o\ A THU T : 80

g — (i) WA WA STeRISR  3TRA.
(i) SoEher® % qui O SFifer.

(1ii) RN VfHcd aIuIE UE oTR.

(iv) STeRIR dF Yook AR Gl

(v) TEIEIE Hoo TUSH FEUAHT TR,

1. YRR 20 II<id S feRl (RuaEl <@ e [20]
(j) I el UREERT e A fomn
(i) WO STONET e Saed e

(iii) WFEl AORITET @R A <.

(fv) U<t HIHTH WS & ?

[4201]-241 8



(v) FUIE BN fEOTE gau &FEr e foRn
(vi) STEYUTEl WHIURI S HRO T
(vii) TEad AT HIOE S RO |

(viii) ‘' =T feR
(ix) G g9 wR0 fom
(x) YNOdie 9ffael g Ser fom.

(xi) ‘fra-reRor’ =are foml

(xii) AFEMHT o=l M HRO o

(xiii) =JAqH eueddl e ol

2. TE@I 50 IS SW Tow (FOE 8F) [10]
(i) wEERE e &
(Gi) Sifaess SR

(iii) ‘oFEl’ SATOR qe  SHSIETYA.

Gv) W TER IR

[

8. TR 150 I SR fow (U@ dF) [20]

(i) TICERUE ie WEY W HJ.

[4201]-241 9 P.T.O.



(i) TRGERT ®RO F qfomEE 9 .

({ii) Ul HRO TR H.

(jv) STU<Il FEEATIAE! IfEsed .

TeRR 300 I S fow (FUEl @F) [30]

(i)  ofyurarEl RO, RO AU HAEOUd TR R

(a0l
[

(i) o SRR H&d, HIUARI Ul STUKIA  SIRIUTHE T e

< .

(iii)) T RO, GROMH o HAEYTad JuH .

o N

(jv) YRAIS ohEEd faeRe=l w0 9 YISl 9uH .
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Total No. of Questions—4+4] [Total No. of Printed Pages—8

Seat
o, [4201]-242
S.Y. BA. EXAMINATION, 2012
GEOGRAPHY
Gg-220 : India—A Geographical Analysis (S-1)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.
(i1) Figures to the right indicate full marks.
(iit) Use of map stencils is allowed.
(iv) Draw neat diagrams wherever necessary.
1. Answer in about 20 words each (any ten) : [20]

(D
(2)
(3)
(4)
(5)
(6)
(7)
(8)
9)

In which hemisphere does India lie ?

Write the fwo names of higher peaks in Himalayas.
Give the names of two tributaries of Godavari River.
State the two characteristics of South-West Monsoon.
Define soil conservation.

What is forest conservation ?

State any two types of coal.

What is energy crisis ?

What is ‘White Revolution’ ?

P.T.O.



(10)

[4201]-242

Write any two locational factors of Cotton Textile Industries.

(11) What is rural-urban migration ?
(12) Give the names of fwo States of India with high population
density.
(13) State the names of any f{wo International Airports of India.
2. Answer in 50 words each (any two) : [10]
(1) Relative location of India.
(2) North-East Monsoon.
(3)  Green Revolution.
(4) Hydroelectrical projects in India.
3. Answer in 150 words each (any fwo) : [20]
(1) Explain the major climatic regions of India.
(2) Explain the causes and effects of deforestation.
(3) Give an account of distribution of Petroleum and Natural Gas
in India.
(4) Describe the importance of Ports in National and Foreign
Trade.
4, Answer in 300 words each (any {wo) : [30]
(1) Mention the major drainage systems of India and describe the

Ganga river system.



(2) State the main soil types of India and describe them in detail.
(3) Give an account of distribution of Iron and Steel Industries
in India.
(4) Describe the Indian urbanization and explain its problems.
(TS TUIR)
d% : o9 a™ THOT 0T : 80

oM :— (1) T W Grefau STeRds SR
(i) ISEhel® 3T U IO SFifadm.

((i) RN Lf9cd aRuIE GEFET 3.

(iv) SIS dY goh 3ThcAl hlal

1. ToRhl

(D)
(2)
3)
(4)
(5)
(6)
(7)
(8)
9)
(10)
[4201]-242

(v) UCHEE Too TUSH UFAdAh] UTE.

20 =@ SN fo@ (FUeE & @) [20]
IRAT M HIv Mo g ?

feaeadie SOfmeEr &M A fosl

TR = @ SuFErEl A .

TR AR g dfiTse |

TSGRt e o

STHET WUN M ?

TS oM HUGE G THR H.

39 Hhe WUN I ?

‘g HIdl’ WS g ?
HIIS AN TR0 HIVAEl QI Seh Tl
3 P.T.O.




(11)
(12)
(13)

(D)
(2)
(3)
(4)

(D)
(2)
(3)
(4)

(D)
(2)
3)
(4)

[4201]-242

Y- TSR RSl k1 ?

TRAde S SRl O9al Hocl 9| TSIt a5

TRANSG DIOIRI S STAS I §ag siglr=l A1 9.

50 I=@ W fowr (FoEE  gH)
GIGIE RS IEE RS EE

R A=,

g il

IAIG  STSfagd  Yehed.

150 I SW @R (FUE ae)

ARATdIG Y@ BAMM Uq3] TS .

o ¢ fa

faeh L=l RO 9 TRUM T &

oC
[

IRAIe @fede 9 -4ife a9 famoms auiF= &

T 9 WS NN 959 Jgd duid .

300 I SW o (el 9F)

IRAMe Y@ &1 YS! |FE TG YUlerd oo .

IRAde 998 ol YR §FH ™ dfosR 9o &

TRAG oRueR  Sanmen  faaiomen gxid .

[10]

[20]

[30]

RATde TR0 90F e ANRIGOT= G9& T5 h.
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Gg-220 : China—A Geographical Analysis

Time : Three Hours Maximum Marks : 80

N.B. :—

(i) All questions are compulsory.
(i1) Figures to the right indicate full marks.
(iit) Use of map stencils is allowed.

(iv) Draw neat diagrams wherever necessary.

1. Answer in 20 words each (any ten) : [20]

(D)
(2)
(3)
(4)
(5)
(6)
(7)

(8)
9)

(10)

[4201]-242

Give latitudinal and longitudinal extend of China.

Write the names of any two mountain ranges in China.
State the names of any four east-flowing rivers in China.
Write any four characteristics of summer monsoon in China.
Define soil conservation.

Name the major forest types in China.

Write the names of any t{wo hydroelectric power projects in
China.

Name any two coal producing areas in China.

What is “White Revolution” ?

Mention any two factors affecting on location of iron and steel

industry.

5 P.T.O.



(11)

(1)

(2)

(3)

(4)

[4201]-242

Give any two effects of rural-urban migration in China.

(12) What is ‘Trade Balance’ ?
(13) State any two densed populated areas in China.

2. Answer in 50 words each (any two) : [10]
(1) Soil degradation problem in China.
(2) Conservation of forest in China.
(3) Atomic power projects in China.
(4) Significance of agriculture in China economy.

3. Answer in 150 words each (any fwo) : [20]
(1) Describe major climatic regions of China.
(2) Explain the significance of geographical location of China.
(3) Give an account of composition of population in China.
(4) Explain the industrial regions of China.

4, Answer in 300 words each (any {wo) : [30]

Explain the major soil types in China.

Explain salient features of physiographic divisions of China.
Give an account of development in communication technology
and its impact on socio-economic development of China.
Describe the distribution and utilization of coal, petroleum and

natural gas in China.



(WS ®qial)

q% : A A Tepot o1 ¢ 80

T :— (i) §d T disfau eRds R
(i) IoEhel® 3T U IO SFifadm.

((i) RN Vf9cd aRuIE GEHET 3.

(iv) 3TeRIw dY goh 3ThAl hlal

1. ToRhl

(D)
(2)
(3)
(4)
(5)
(6)
(7)
(8)
9)
(10)

(11)
(12)

(13)

[4201]-242

fal

20 3= SW foR (g <@ o [20]

e FYIRE 9 (@R R @

e ROEE W) edied dewrel A el
dmeie SRt ARETEl W R dfites fom

T GYRUT e

W mdie U@ afd YRR §.

e HOER &M Seaedd  gehedidl A el

Ui DGR M hiEl SceE eIl 9.

T e ) o M 0 O

Je-Toe  ScA=  LNfTehientomer 9RuM Si0R HiUdel | o
.

M 0 TR WoaUd Sl g giRems o

‘FMR Fged’ ®"US ®E 7
dAdle HUE G Qe Slhokld Uzl |
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2. WO
(1)
(2)
3)
(4)

3. WORA
(1)
(2)
3)
(4)

(D)
(2)
(3)

(4)

[4201]-242

50 Ia@ SW TR (FORRN |F)
Hmefie 9o sfaHfa=l  gHe.
HA e aIgaH.

=HES A Jehed.

= dFeEdle  TIde Ha.

150 I SW @@ (FIUE ae)

SAdle Y@ gEME  fo9re 9uie

Ten diifes T Aed TR

Wi FehEed @Al g .
e siicefies faam T &

300 I SW o (el 9 )

H e 9@ JIl YRR TS

Smie URfae faunn=t Teaml 3@w dfRiTed TR &

[10]

[20]

[30]

= ToUEedY  dIHIdie fashmEran enfdes o WIS foashrEEie

Hfe wlew, Witede 9 -9t 9 9 fomo eufor arm=

Ui H.



Total No. of Questions—7+6+5] [Total No. of Printed Pages—4+1

Seat
o, [4201]-243
S.Y. BA. EXAMINATION, 2012
MUSIC (@) (G-2)
| SHi-2
(General Paper 2)
(2008 PATTERN)
9% : 1 a™ 30 fufe TEHUT T ;20

R geAT:— W Yo (W TMEA, "WaR ST qee’ ARl Sl Wk
EERIECANRSI | B
AT A
I — (i) ufger WA e e
(i) Ufeen ifEE WwAWE HRA WA SRl dF o THRU 9
YA Eree.

1. A AAEHAMS HOARI TR W= A8 @F afcg] ©Rfedds &, [5]

2. foum suftr SR It R Tantr W Fquf IS Aifedt TR 3TeRle-

Jehe I8 Tl [5]

3. THa®, =Rl ST ¥R ATdeh! RGN Tenl dorel Afedl fogd 2Ted-hie

Tgdq a0 o8H % [5]

P.T.O.



4., WOGUS! HIUARI U=l A fomr [5]

(1) U8
(2 =™

(3) @l

(4) “gd

(5) HEFh

(6) HerEd

(7) ded

(8) dm.

5. Woeus! dueER e few fowr [5]

(1) dFN TR
() Yw= T

(8) TmEHE fagid.

6. TOGUH DR Uehl Tiaad Sted-®@ fRr &a [5]
(1) | <ueE fao) g
(2) 3. oTg® wAW @i

(3) U fao] AREW WAEs.

7. TOGUD HUER Uenl fovEer fawrm foar [5]

(1) Ed 9reE

(2) W 9 Yk SR ST
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: 1 | 30 fafe TEHUT T ¢ 20

I — (i) ufger Wi e e

(ii) dfeew fad wEe ARG WA HOGE a9 o THT 9N
™ dred.

A HIAHHKACG IO Tkl W= Hed @9 afcql el e Td

wRfouteg . [5]

oo™ o wiokhd ATU®! HIVAE!  Wehl IME 90 IMEhE Aifed]

3TB-3TBE-Tshe IJrde foal [5]

T de ool TRU A HIUAE Ukl dl@rel Aifed! fogd Twde offo

g fom. [5]
TEAGUS! HIART  grert e foar [5]
(1) =

(2 =9

(3) 3cUd

(4)  ofEdA

(5) dis

(6) e

(7) TIHN.
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5. WOGUD! DR Ukl Hiaad Sted-®@ fRe &a ¢ [5]

(1) & SAeH=sEH @l

(2) . °TeHgwa oM.

6. WOOUR FHUER Ul foasEer fawne e [5]
(1) JRTId a9 Sehard
(2) Eifd §99 A
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9% : 1 a« 30 fufe THOT 0T 2 20
oAl :— Uleedl WA oM. TR 9/ WA e

1. THde fohar €9 TR FOER TH o Afed o8] Thue 9 gue

fea. [5]
2. TUHde A Jde A | dorE qod S [5]
3. Ju T (HW ITH) : [5]

(1) oA faee

(2) ©HhQR

(3) =@

(4) 33IM.
4., TEA FESA qEOEGHE e dreH fawe & [5]
5. Wooum U fawaer fowmm foar [5]

(1) dod I drEmen gfew sfae™

(2) do T fHefauwa M.
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Seat
No. [4201]-244
S.Y. BA. EXAMINATION, 2012
MUSIC (&) (S-1)
Special Paper 1
(2008 PATTERN)
9% : 1 @™ 30 fufve TEHUT T ¢ 20

R geAT:— O Yo (W TMRA, "WaR ST qee’ ARl SIUE Wk
EERIECANRSI | B
AT
I — (i) ufger WA e e
(i) Ufeen IFEE WwAWE ERA WAk &Rl dF o THRU 9
YA Ere.

o M M a

1. A AYIERAGS HIUERI TRl W= faefad dfan (de1 o) @fedes

EX [5]

2.  Hedm T S AR hIvETE! Teat TN §Y0 IS Jifedt SRS STeRe-
The oNfor Ifitsede fe [5]

3. foofoa wwae, fadfaq dHae suftt swR At wvEE Ter drort wifed

fogd dooEd . [5]

P.T.O.



4, TOGUR! HUARE U e fow [5]

(1) T8 =
(2) wHS WX
(3) sirea

(4) A

(5) T

(6) 3

(7) @e.

5. TOoYm! SR gFeR fowr fowr [5]
(1) EfuysEr T
(2) SE W
(3) gdi-wR fawrsH
(4) =

(5) U 9 HhM YhKR.

6. TOIGUR HUER Tl WA e & fRe &a e [5]
(1) 9 TSEEger SR
(2) 3. IHR G

7. TG HUER T fomEeR fowmre fear [5]

(1) Fia—Teger fo=m

(2) TEAd ITEERE HE<E.
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9% : 1 @\ 30 fufve THT T ;20
ol — (i) uiger Wi eAfed e
(i) Ufgen IFEE WwAWE ERA WAl &Rl aF o THRU 9
T e

1. A AHRANS SR Tent T foofad dfea (afqaer ) @ERfodes
. [5]

2. fumgom suftt gl ARt HIUTERT WeRT W= FYU IS Aifed! RIS SToRIe-
The oNfor IfiTsede fe [5]

3. e MU &9 AR HIAR] Tl dror=l Afed! fogd Twde o goe

fea. [5]
4., TOGUR IR Tl WA Sted ®@E fRe #wa o [5]
(1) dfed swEqUicst

(2) U9 = S S

5. WOOUR! HIER Ul fosEer fawne e [5]
(1) HARERAS SOl

(2) gal=n sfagm.
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9% : 1 @« 30 fufe THUT 0T 2 20
oAl :— Uieed WA oM. TR 9/ WA el

1. sTeHMe fear fearer aie! HIERl Tert do=l 990 ITSia Afedl fogd

drer=l gHe . [5]
2. SEEME A FET A T qHE qSN H. [5]
3. Ju T (W TH) : [5]

(1) &g, pame o9 fasre o3
(2) W I gl 9

(3) FRY St

4) o
4, I IEAEUER doacaTAl WY G dfETsyd ol [5]
5. Wooum U fawaer fowmm foar [5]

(1) feodt 9 @EAEl 9=

(2) YUE-¥ER.
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Seat
No. [4201]-245
S.Y. BA. EXAMINATION, 2012
MUSIC (&) (S-2)
Special Paper 2
(2008 PATTERN)
9% : 1 a™ 30 fufe TEHUT TOT ;20

R gerT:— o1 Fodio ‘WG MEE, 9aR S e’ Aideh! Sl U

U9 HISdl.

AT A
I — (i) ufger WA e e
(ii) Ufeen IfEE WwAWE ERA WA SRl aF o THRU 9
T e

1. I JAEHRANE SR TRl I Ao agiR (d81 %) @Riohas

EX [5]

2. g oNftr fymqor AT SIvETE! WehT [T §qUl e Hifed! STRIE-STeRe-
qhe offor IfiTsede fe [5]

3. oA, 3Tg Yl STl YR ATUH! HITAE Uewl o Hifedl fogd

dsoEd & [5]

P.T.O.



(D
(2)
(3)

iUkl hEl  dFer few fomr

RIS DR

o=l ST

e Aeedl MdushK.

(D)
(2)
3)

IR CARE A o | F B s R | = 2 S [

I eI
gfEi YR

ATehId G TH.

(1)
(2)

TAGUHR! HIOAE  Tehl Giaere siad & forre +30

4. fods stfudent
3. W oM IT@ @l

(1)
(2)

[4201]-245

OGR! HIUAR! e fawaer fowarm fom

o Ui Igos Iid e

TERTSITE  BIeh g,

[5]

[5]

[5]

[5]
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9% : 1 @\ 30 fufve THT T ;20
ol — (i) uiger Wi eAfed e
(i) Ufgen IFEE WwAWE ERA WAl &Rl aF o THRU 9
T e

1. A AHRANS SR Tent T foofad dfea (afqaer ) @ERfodes
. [5]

2.  HorEdl A TShE ATUhT VTS Weht I FYU IS Aifed! TR SToRIE-
THE ol SRTeaR fen [5]

3. AU ST Yoo AU HIVARl TR dierdl Wiied! fogd Twue Sl gue
foa. [5]

4., THGUH FUER Tl WA Sted ®@E fRr a0 e [5]
(1) dfed «fwEa SiRh
(2) . fodfhea @

5. Woeuh! HIUEE  Wehl fosamer fawme fear [5]

(1) Y e =T S9AN

(2) AdEret emfor .
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1 a 30 fafe TEHUT T ;20

oAl :— Uieed WA oM. TR 9/ WA el

1.

AR fohaT Yode IS HIVAR TRl dorl  IMEAE difedt fogd

drer=l gHe . [5]

Thdle 3Tl ®9h A1 TAA Y&k Teh ghel, Weh wohaR 30T Weh fer

fosar. [5]
du R (TR qF) [5]
(1) ™SR

(2) AW

(3) T ()

(4) <hrIQl

hUh TGRSR qoe Hiefe ATesqu AERfed & [5]
TGk WeRt fomamer fawnm fear [5]

[l e Gla)

(1) deHHEd= fagd

(2) OTSREl 9 ®EEER A aerE fowga Afed.
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Seat

No. [4201]-246

S.Y. BA. EXAMINATION, 2012
PSYCHOLOGY

General Paper 2

(Social Psychology)

(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]
(1) Explain the survey method.
(2) State the impression management.
(3) Explain the improving communication.

(4) State the healthy communication skills.

2. Write short notes in 100 words each (any four) : [20]
(1) Application-social psychology and health.
(2) Causes of prejudice.
(3)  Social cognition.
(4) Competition versus cooperation.
(5) Mate selection.

(6) Determinants of Internal attraction.

P.T.O.



3. Attempt any three questions in 200-250 words each : [30]
(1) Define social psychology. Explain the theories in social
psychology.
(2) What is Attitude ? Explain components of attitude.
(3) Explain the Kelly’s theory of causal attributions.
(4) State the codes of non-verbal communication.

(5) Describe the behaviour in the presence of others.

4, Answer any one of the following questions in 500 words : [20]
(1) What is self ? Describe the functions and formation of self.
(2) What is compliance ? Explain the specific compliance

techniques.

(TS wUie)
q% : o a™ THUT 0T ;80
o :— (i) §d T diefan seEas IR
(i) e s g T gl
({ii) USHMEIS He3 TUSH U4l TRl

1. WOle YEAEI SW YR 50 I o’ (Ruhd @F) [10]
(1) I Ygdt I H.

(2) TUY HAAGT G

(3) WAR FURUN T .

(4) g HIEU SHEA |
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2. TR 100 IS e fewr foml (FivmEl WR) [20]
(1) SYISH-gEISes AT ST STRAd.

(2) QAUREN HRO.
(3) HHEIfSsh e,

4) wul foeg Tewd.

(5) SEkrEt foe.

(6) oA TRy .

3, WOl TAET S USRI 200-250 I gl (RvkEl @) [30]

(1) GHifSieh AMERTEE e fogl. amifse aFmme fagha o
h .

(2) SNfYg<l WS hE ? AR Heswh/aRfHdl Tose .

(3) el A=l AR g T H

(4) STRNEIH/ASR FYUUTS Hohd T

(5) oG 9HAT F Sal o™ guid .

4, TG WA W 500 IE@ fowl (FUEE! W) [20]
1) ‘"W wN owE ? ‘W W w9 FfHdE 9w

(2) SIed WUS & ? UG Jood 9 T W
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Seat

o [4201]-247

S.Y. BA. EXAMINATION, 2012
PSYCHOLOGY
Special Paper 1
(Psychology of Adjustment)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]
(1) Explain the concept of Id, Ego and Super Ego.
(2) State the concept of Phobia.
(3) Explain the concept of sexual harassment.

(4) State the sources of Frustration.

2. Write short notes in 100 words each (any four) : [20]
(1) Causes of unemployment.

(2)  Psychology’s involvement in health.

P.T.O.



(3)

(4)

(5)

(6)

(1)

(2)

(3)

(4)

(5)

(1)

(2)

[4201]-247

Sources of stress.
Concept of Health Psychology.
Selecting the mate.

Poor nutrition and lack of exercise.

Attempt any three questions in 200-250 words each : [30]

Describe the Psychodynamic approach by Adler.

Discuss the alternative to marriage.

Describe in brief the model of career choice and development
given by Holland.

Explain types of motivational conflicts.

Describe eating disorders.

Answer any one of the following questions in 500 words : [20]

Define anxiety. Discuss the types of anxiety disorders.
Define coping behaviour. Explain the stress as common coping

pattern.
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(Abnormal Psychology and Therapeutic Interventions)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]
(1) Definition and nature of abnormal behaviour.
(2) Depressive disorder.
(3) Measuring success in psychotherapy.

(4) State the importance of Token Economy.

2. Write short notes in 100 words each (any four) : [20]
(1) Paranoid schizophrenia.
(2)  Obsessive-Compulsive disorder.
(3) State the need for psychotherapy.
(4) Professionals in psychotherapy.
(5) Systematic desensitization.

(6) Family therapy.

3. Attempt any three questions in 200-250 words each : [30]

(1) Classification system of abnormal behaviour with special
reference to DSM-IV.

[4201]-247 5 P.T.O.



(2) Explain other types of psychotic disorders.
(3) Define phobia. Explain the types of phobias.
(4) Explain the aversion therapy.

(5) Describe the transactional analysis technique.

4, Answer any one of the following questions in 500 words : [20]
(1) What is personality disorder ? Explain the emotional personality
disorder.

(2) Explain Rational Emotive Behaviour Therapy.

(TS wUie)
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Total No. of Questions—4+4] [Total No. of Printed Pages—7

Seat

No. [4201]-248

S.Y. BA. EXAMINATION, 2012
PSYCHOLOGY
Special Paper II
(S-I1 : Developmental Psychology)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Attempt any two questions in 50 words each : [10]
(1) What is development ?
(2) Explain the moral development in middle childhood.
(3) Explain the concept of ‘late-maturation’ and ‘early-maturation’.

(4) Explain the family relationship in middle adulthood.

2. Write short answers in 100 words each (any four) : [20]
(1) Explain the importance of play in early childhood.

(2) Explain the (social) school development in middle childhood.

P.T.O.
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(4)

(5)

(6)

(1)

(2)

(3)

(4)

(5)

(1)

(2)

[4201]-248

How does the concept of ‘self’ develop in middle childhood ?
Explain the social problems in adolescence.
How are the career choices made in early adulthood ?

How is stress management done in middle adulthood ?

Attempt any three questions in 200-250 words each : [30]

State the characteristics of neonatal period.

Explain the intellectual development in pre-school years.
Explain the physical maturation in adolescence.

Describe the physical development in early adulthood.
What preventive health care should be followed in early

adulthood ?

Attempt any one question in 500 words : [20]

Describe in detail the physical development in late adulthood.
Describe in detail the sensory and speech development in

infancy.
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Positive Psychology and Counselling Psychology)

Time : Three Hours Maximum Marks : 80

N.B. :—

(i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Attempt any two questions in 50 words each : [10]

(1)

(2)
(3)
(4)

What are the procedures used for assessment of child
functioning ?

State the uses of play in counselling.

Explain the concept of ‘hope’.

Define Positive Psychology. Explain the goals of Positive
Psychology.

2. Write short notes on any four m 100 words each : [20]

(D)
(2)
(3)
(4)
(5)
(6)

Counselling procedures with older adults.
Successful aging.

Emotional Intelligence.

Optimism and Well-being.

Predictable Counselling Agenda.

Write a note on ‘Resilience’.

3. Attempt any three questions in 200-250 words each : [30]

(1)
[4201]-248

Explain the cognitive counselling method.

5 P.T.O.



(2)

Explain the effects of positive and negative emotions on human

behaviour.
(3) Explain the importance of communication with children.
(4) Explain the nature of Positive Psychology.
(5) Explain the negative aspects of human nature on the basis
d Traditional Psychology.
4, Attempt any one question in 500 words : [20]
(1) Describe various characteristics and ethical principles of effective
counsellor.
(2) What is happiness ? Describe the determinants of measurement
technique of happiness.
(AOE ®UI)
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Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4201]-249

S.Y. BA. EXAMINATION, 2012
GANDHIAN THOUGHT
(G-2 : Socio-Political and Religious Thoughts)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer any two of the following questions in 50 words each : [10]
(1) Briefly discuss Gandhiji’'s views on functions of the state.
(2) Explain the relationship between Religion and Morality.
(3) Explain Gandhiji’s idea of Antyodaya.

(4) Explain briefly Gandhiji’'s idea of interreligious harmony.

2. Write short notes on any four of the following in 100 words
each : [20]
(1) Idea of Spiritualization of Politics.
(2) Principle of Decentralization.

P.T.O.



(3)
(4)
(5)
(6)

(1)

(2)

3)

(4)

(5)

(1)

(2)
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Dignity of Labour.
Views on Hinduism.
The concept of Varna.

The idea of Ramraj.

Answer any three of the following questions in 200 words each : [30]

Bring out the significance of Gandhiji’s idea of Panchayat Raj.
Explain Gandhian views on Democracy, Trusteeship and
Socialism.

According to Gandhiji explain relationship between God, Truth
and Ahimsa.

Illustrate Gandhiji’s opinions on role and status of women in
society.

State Gandhiji’s understanding of other religions on the basis

of his idea of Religious harmony.

Answer any one of the following in 500 words : [20]

Explain and critically evaluate Gandhiji’s views on cast and
varna system.
Explain Gandhiji’s Eighteen point constructive programme for

rural development.
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Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4201]-250

S.Y. BA. EXAMINATION, 2012
YOGVIDYA
General Paper II
(Yogachi Sarvangeen Baithak)
(2008 PATTERN)
Time : Two Hours Maximum Marks : 40
N.B. :(— (i) All questions are compulsory.
(i1) Figures to the right indicate full marks.

1. Explain any one from the following in 50 words : [5]
(1) Which are objectives of Yoga Science ?
(2)  On which system of body does the Shuddhikriya affect ?

2. Write short notes (any two) : [10]
(1) Hathayog
(2)  Chittavritti
(3) Samadhi
(4) Jalneti.

3. Answer any two questions from the following in 200 to 250 words
each : [15]
(1) State the types of Darshan. Explain the Bauddha Darshan.

P.T.O.



(2) What are the factors of educational system ? Explain the use
d Yoga for improving educational system.
(3) State the name, precautions and benefits of Asana and

Pranayama.

4, Attempt any one question in detail : [10]
(1) Discuss the personality development and Yoga Science.

(2) Which factors bring distraction in mental health ? Discuss.

(TS wuie)
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Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4201]-

S.Y. BA. EXAMINATION, 2012
HISTORY OF CIVILIZATION
General Paper II
(Indian Culture)
(2008 PATTERN)
Time : Three Hours Maximum Marks
N.B. :(— (i) All questions are compulsory.
(i1) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) :

(1) What is Proto history ?

(2) State the ‘Ashram System’ in ancient Indian society.
(3) Explain the concept of ‘Bhakti Movement’.

(4) State the work of Ramakrishna Mission.

2. Write short notes in 100 words each (any four) :
(1) Importance of Indian Culture.
(2) Paleolithic Age.
(3) Merits and demerits of caste system.
(4) Guru Nanak.
(5) Painting in Ancient Period.
(6) Information Technology.

251
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[20]
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3. Answer the following questions in 200-250 words each (any

three) : [30]

(1) Write in detail ‘Cultural Identity’ of India.

(2) Describe the socio-economic life in Harappa Culture.

(3) Explain the contribution of Kabir and Meerabai in Bhakti
Movement.

(4) State the work of Arya Samaj in socio-religious movement in
India.

(5) Write the progress in science from ancient to medieval period.

4, Answer any one of the following questions in 500 words : [20]
(1) Describe the life and teaching of Bhagwan Buddha.

(2) Discuss the art and architecture in Medieval period.
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Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4201]'252

S.Y. BA. EXAMINATION, 2012
HOME ECONOMICS
(G-2 : Sociology of Family)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.
(i1) Figures to the right indicate full marks.

1. Answer the following concepts in 50 words each (any two) : [10]
(1) Joint family.
(2)  Social Institution.
(3) Human race.

(4) Family welfare.

2. Write short notes in 100 words each (any four) : [20]
(1) Scope of Sociology.
(2)  Process of socialisation of the child.
(3) Merits of joint family system.
(4) Family as a social institution.
(5) Types of marriage.

(6) Importance of education for family development.

P.T.O.



3. Answer the following questions in 200 words each (any three) : [30]
(1) Explain the importance of study of Sociology.
(2) Explain the merits and demerits of nuclear family system.
(3) Explain the causes of family disintegration in India.
(4) “Marriage as an Institution.” Explain.
(5) Explain the role of government in family and child welfare

in Indian society.

4, Answer the following questions in 500 words (any one) : [20]
(1) Explain the functions of family.
(2) Write an essay on social legislation about marriage and family

in India.

(WS ®qial)
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Total No. of Questions—4+4+4] [Total No. of Printed Pages—8+2

Seat

No. [4201]-

S.Y. BA. EXAMINATION, 2012
DEFENCE AND STRATEGIC STUDIES
D.S.G-2 (A) : India’s National Security
(2008 PATTERN)
Time : Three Hours Maximum Marks
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer in 50 words each (any two) :
(1) What are the objectives of SAARC ?
(2) Explain the concept of Insurgency.
(3) What are the principles of Panchsheel ?

(4) State the meaning of National Security.

2. Write short notes in 100 words each (any four) :
(1) Peaceful uses of Nuclear Power
(2)  Objectives of Indian Foreign Policy

(3) Nuclear Test 1974

253
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(4) McMahon Line

(5) Indian Naval Security

(6) Problems of Internal Security.

3. Answer in 200 t 250 words each (any three) : [30]

(1) Explain the causes and measures of Terrorism.

(2) Explain the Indo-Pak relations with special reference to the
Kashmir Issue.

(3) Give an account of the activities of Super Power in the Indian
Ocean.

(4) Explain the relations between India and China.

(5) Evaluate the India’s Defence Policy since 1970.

4, Answer in 500 words (any one) : [20]
(1) Explain the determinants of Foreign Policy of India.

(2) Explain the relations between India and U.S.A.
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D.S.G-2 (B) : Cold War
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer in 50 words each (any two) : [10]
(1) What is Marshall Plan ?
(2) Describe in brief first stage of cold war.
(3) State the meaning of cold war.

(4) According to U.S.A. what is detente ?

2. Write short notes in 100 words each (any four) : [20]
(1) Nature of cold war.
(2) Emergence of Communist China
(83) Moscow Summit, 1972
(4) End of Detente
(5)  Cento
(6)  Gorbachev.

3. Answer in 200 t 250 words each (any three) : [30]

(1) Explain in detail the Truman Theory.

[4201]-253 5 P.T.O.



(2)

Critically evaluate the NATO.

(3)  Describe the causes of Soviet Union intervention in Afghanistan.
(4) Describe the evolution of cold war in 1951 to 1962.
(5) Explain the causes of cold war.

4, Answer in 500 words (any one) : [20]
(1) Explain the causes of the disintegration of Soviet Union.
(2) Explain in detail the Cuban Crisis.

(WS wUiav)
9% : dF a™ THOT 0T : 80

M :— (j) T WA SAeRIR  3TRA
(i) IoEhel® 3T U O SFifadm.

1. TO® WA SN Y 0 I fow (FeE 9e) [10]
(1) ¥Ri® IS BN HE ?
(2) IMdggr=n dfgedl ofaRg™ oieHId oUi .
(3) Ifagsren A &L
(4) oAR&=N FAMER dUERYed (Ia) US| w2

2, W 100 I diedd U fowl (FU0E W R) [20]
(1) 3dgg™ @&y
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(2) HHHTE =T 3%

(83) 1972 Tt Al dREQ

(4) UG YEe TR w™
(5) T

(6) e,

3. Wole WAEl SW YRl 200 9 250 IS fowl (hiohdl di|) ;o [30]

(1) v fog@a afos® T &

A

~

(2) TR fewhrHs gy &L

(3) Wifete IHET=a FTEMHEHGe sWaaEl Ry fomre .

(4) 1951 d 1962 A F@die IMAGGI=AT Iehl<ie UM HL.

(5) IMNAgS= SO T HK.

4, TG TAF W 50 IW fod (AR Tw) [20]

(1) wifgud JHET=a1 fausHHEl R0 T 6.

(2) AT FuY HaER TR FHA.
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G-2 (C) : Evolution of Strategic Thought
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer in 50 words each (any two) : [10]
(1) State Jomini’s principles of war.
(2) Explain Clausewitz’s concept of total war.
(3) State Marshal Foch’s concept of war plan.
(4) According to Liddle Hart what is Grand Strategy ?

2. Write short notes in 100 words each (any four) : [20]
(1) Moltke
(2)  Dupicq

(3) Luden dorff
(4) Douhet

(5) Che Guevara
(6) MacKinder.

3. Answer in 200 t 250 words each (any three) : [30]

(1) Explain military thought by Moltke.

[4201]-253 8



(2) State strategic thought by Luden dorff.
(3) Describe military thought by Liddle Hart.
(4) Explain Guerrilla tactics by Mao Zedong.

(5) State strategic thought by J.F.C. Fuller.

4, Answer in 500 words (any one) : [20]
(1) Describe the views of Che Guevara about Guerrilla warfare.

(2) Explain in detail Heartland theory by MacKinder.

(WS ®aial)
q% : o\ A Tepot o1 ¢ 80

1. oo WEAE W TRl 0 I forl (Fdet a@d) e [10]

1) e g5 @@ T

(2) TSI HARY G Gheddl T A

(3) WRI® WME AT g§ ASHE HhedTdl HEL

(4) foso wé=n #d fmme IghHd =S & ?
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fal

2,  TERR 100 3ITeSld AR gl TRl (el 9R) : [20]
(1) Hieesh

(2) gfuw

(3) @A T
(4) &=

(5) = =T
(6) Hfr=t

3. Woe WAEl SW Ul 200 9 250 IS fowl (hohdl di|) ;o [30]

(1) Hicehd TR faaR T &L

(2) eI T® AW FERE fo=R H@E
(3) foso e am owwd faar f@me =+
(4) w1 gefm I THE SEUE W &L

(5) SITRH. HR AW FWRe fgER @

4, TOOUHI DUEE TR WAY S® 500 I fow [20]

(1) 7 ggusdl farfe = gu am foer fme &

(2) Hfhrex Fm=n THHT foga dfowR® T &
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Total No. of Questions—4+4] [Total No. of Printed Pages—4+2

Seat

No. [4201]-254

S.Y. BA. EXAMINATION, 2012
DEFENCE AND STRATEGIC STUDIES
D.S.S—I (A) International and Regional Organisation
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.
(i1) Figures to the right indicate full marks.

1. Answer in 50 words each (any two) : [10]
(1) State the role of U.N. in the social field.
(2) State the structure of SAARC.
(3) Explain the Enforcement Action by U.N.
(4) What are the basic principles of U.N. Charter ?

2. Write short notes in 100 words each (any four) : [20]
(1) Functions of ASEAN
(2) Peace Keeping Force
(3)  Objectives of SAARC
(4) Human Rights
(5)  Structure of NAFTA
(6) Objectives of U.N.

P.T.O.



3. Answer in 200 t 250 words each (any three) : [30]
(1) State the hindrances and suggestions in the working of U.N.
(2) Describe the objectives and functions of NAFTA.
(3) Describe India’s role in SAARC.
(4) Describe the U.N. role in maintaining International peace and
security.

(5) Explain the International Bill of Human Rights.

4, Answer in 500 words each (any one) : [20]
(1) Explain the objectives, functions and structure of European
Union.

(2) Explain the structure and objectives of ASEAN.

(TS TUIaR)
d9% : o9 a™ THUT 0T ;80
T :— (i) §d WA diefau TeRds R
(i) ST @iw g U eEifeEmE.
(iii) TRIEE @ TUSH UIAdAHhl TRTEl.

1. To® WA SR TR 0 T fow (PR gD [10]
(1) 9gF TSN |ESis  &edio gfHer |rm.

(2) HeheEl I GETL

[aV

(3) TIH USIEl HEARET Hdl T H.

(4) GgF U Fiedl Houd d« Hivd 2
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fal

2. TR 100 3= ded few few (RE Wm) [20]

(1) g

(2) IS
(3) HhdEr 3fee
(4) WAl BFh

(5) ATHEEN TEAT

o N

(6) UYF T SfEw.

3. GOl AR Yl 200 9 250 IS S fomr (el d|) ;o [30]

(1) I TN HEMS A9 o SUF  |AT.

(2) el 3Sfee 9w fmre W

(3) wWaL wRaEl yfier fore wU.

o o
[

(4) STRUSE  Indal 9 goudaar feswfavardie S U= iy 9

< .

(5) WFEl THRE STAWSE fa899s = &

4, TG TAF SN 500 I @@l (VAR Taw) [20]

(1) Wi =t S, ®h 9 @ T &4

(2) offga=t M 9 e W FH.
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[4201]-254
D.S.S—I (B) India and Her Neighbours

Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer in 50 words each (any two) : [10]
(1) State geostrategic importance of Bhutan.
(2) What are the objectives of SAARC ?
(3) Explain the causes of 1965 war.

(4) Explain the Natural Resources as a factor of National Power.

2. Write short notes in 100 words each (any four) : [20]
(1) Tibet problem
(2) India’s Geostrategic Location
(3) India’s Eastern Land Border
(4) Simla pact
(5) Maritime boundaries

(6) “Population as a factor of National Power”.

3. Answer in 200 t 250 words each (any three) : [30]
(1) Describe India’s role in the Shri Lankan Ethnic conflict.

[4201]-254 4



(2) Describe in detail India and Nepal relations.
(3) Explain India’s role in SAARC.
(4) Describe the co-operation between India and Myanmar.

(5) Explain the role of Indian Navy in the War of 1971.

4, Answer in 500 words each (any one) : [20]
(1) Describe India’s role in the Independence of Bangladesh.

(2) Describe the India-China relations since 1990.

(WS ®aia)
q% : A A Tepot o1 ¢ 80

M :— () T W Grefau STeRds SR
(i) IoEhel® 3T U IO SFifadm.
(iii) TeEIEEd Ho TUSH YIAdiAsh URrEl.

1. Toe WEAEN W TR 0 I foRl (Fdet a@d) e [10]

(1) o e UMk " 9.
(2) gepdl 3fee FIURT ?

(3) 1965%A1 gl HRU TS A
(4) e FEAEu TEE IR T Uew TR AL

fal

2. TR 100 3= desd feu few (RvE Wm) [20]

(1) Taoe wHen
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(2) YRAE JHERE &

(3) WRArel qd o
(4) fgga W
(5) EE

(6) ‘“OendEn’ UL IEEl TH HH.

fal

3. UOle WAED Gdh! 200 d 250 IS SW foel (et dF) ;o [30]

(1) Hiondic difiTh Fuudie 9RA=N gfHed 90 .

(2) YRd 9 U0 HeU™ 9o duH %L

(3) WhHHle WRAET YfHeh T H.
(4) Y9G 3 EEER HHie HWewrd fore .

(5) 1977=1 gMile WRGE Ao Corl qfHal T .

LN fa

4, TG WA IW 500 =@ fow (FOEE W) [20]

~

(1) <RI W@OAde YR YHes d9uH &

(2) 1990 UHTSAT YURA-¥H HaL™ U S
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Total No. of Questions—4+4] [Total No. of Printed Pages—7

Seat

No. [4201]-255

S.Y. BA. EXAMINATION, 2012
DEFENCE AND STRATEGIC STUDIES
Special Paper 2
D.S. S-2 (A) : Defence Economics
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer in 50 words each (any two) : [10]
(1) State the characteristics of war time economy.
(2) State the importance of war finance.
(3) Explain the significance of economic warfare.

(4) State the necessity of control during war time economy.

2. Write short notes in 100 words each (any four) : [20]

(1) Defence budget.

(2) Internal threats of India’s Security.

P.T.O.



(3)

(4)

(5)

(6)

(1)

(2)

[4201]-255

Price control.
Effects of war finance.
Importance of development.

Post war problems.

3. Answer in 200 to 250 words each (any three) : [30]
(1) Explain the scope of economic warfare.
(2) State the means of war finance.
(3) Describe the determinants of India’s defence expenditure.
(4) Describe the effects of war on economic structure and
industry.
(5) “Defence and development are correlated to each other.”
Discuss.
4, Answer any one m 500 words : [20]

Describe the determinants of war potential.
Evaluate the defence expenditure of India from 1947 to up

date.



(WS wUTeR)
q% : A\ A T TOT ;80
T :— (i) §d WA diefau TeRds R
(i) ST @iF g U eEifeEmE.
1. TG \BAE W w50 Ie[ fedl (FRE gF) [10]
(1) FSHEH deaed=t dfmes g
2) Fg foar= wea @

(3) oeffleh ggusda " TR &

(4) ISHoH AdFTEde AU SeRdhal |

2, T 100 Id dedd few fow (e Ww) [20]
(1) TR SN
(2) YRA WWEA IAd .

(3) feua faEsoL

(4) gs fora wftom.

(5) Towm= HEE.

(6) ISR HACG THEI.

3. GG GTAEl Ukt 200 9 250 IS SW f@Rl (SvkEl d|) ;o [30]

(1) ofeffer JguSdel AT« T2 &

[4201]-255 3 P.T.O.



(2) 9§ foumt wem @i
(3) YRAAT WU TEE Heh fRRIE A
(4) Fg™ ondftw I SfEnie SRl 9Rkomm fww @

(5) “TReU ot foe WER T R ==l &

4, IUITE Tel WA S 500 I foar [20]
(1) Jsr=t emar Huld sOm wew fRe *a

(2) BH. 1947 O AT YRATSAT WU @HEd HoIHdd  h
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D.S. S-2 (B) : Military Psychology and Sociology
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer in 50 words each (any two) : [10]
(1) Why is the discipline essential in Military Organisation ?
(2) State the social aspect of victory.
(3) Explain the functions of leader.

(4) Explain the concept of social institute.

2. Write short notes in 100 words each (any four) : [20]
(1) Demerits of war.
(2)  Human Rights.
(3)  Sociology of war.
(4) Psychology of war.
(5)  Morale.

(6) Psychology of rumours.

3. Answer in 200 to 250 words each (any three) : [30]
(1) Explain in detail the Post-war Social Problems.

(2) Explain the emotional problems during war.
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(3) Explain the types of leadership training.
(4) What is the importance of mental health of the soldier during
the war ?

(5)  Discuss the technique of moral boosting.

4, Answer in 500 words (any one) : [20]
(1) What are the principles of Psychology ? Explain.
(2) Discuss the relationship between the soldier and productive

system.

(WS ®aial)
d% : o9 a™ TeRUT ot @ 80

oM :— () T WA el STeRds SR
(i) IoEREl® 3T U IO SFifadr.

"

1. WeRRl 50 I=id S TR (FUkEl SF) [10]

(1) U Fuead Bdi=i eRaehal &1 39d ?

(2) fosmrn s gftcsh= @

(3) T HE TR

(4) GHIfSer TESAT & GohoUdl T H

2.  TERR 100 IS diewd feur fowr (SvemEr WR) [20]

(1) Jgr=& <.
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(2) UGl THH.

(3) Jsd HHSEITE.

(4) Jg& HEERTE.
(5) TSR

(6) IARAE WS

3. TERR 200 d 250 IS SW TRl (HUE dH) e [30]

(1) ISR PG HHSIR GIET ol T .

(2) JSHLAIG HEHAHS FHET T H.
(3) Agd YR YHER TR FHA.

(4) ISH@NG JfFEET AHfE WA Hed B 2

Y Iy

(5) "N arefavaren dafa ==t w9

4, TOo TAE IW 500 I=W fodl (IR Teh) [20]

(1) HTRTSEE dd 0|l ? WS &L

(2) Aftw ool Saes Ugdl ArAdie gedfawdt ==l k.
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Total No. of Questions—4] [Total No. of Printed Pages—4+2

Seat

No. [4201]-257

S.Y. BA. EXAMINATION, 2012
COMMERCE (G-2)
(Business Accounting)
(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :(— (i) All questions are compulsory.
(i1) Figures to the right indicate full marks.

(z1zz1) Use of calculator is allowed.

1. Answer the following questions (any five) : [10]
(a) State the objectives of Book-keeping.
(b) What is “Trial Balance’ ?
(¢) What is the meaning of ‘Cost Accounting” ?
(d) State the rules of Journalising.
(e)  What is ‘Trade Discount’ ?
(/) What is ‘Creditor’ ?
(g) What is ‘Capital’ ?

(h)  What is ‘Factory overheads’ ?

P.T.O.



2. Journalise the following transactions in the books of
Shri Sawant : [20]
2010 Jan. 1 Sawant started business with cash Rs. 12,000.

Purchased goods from Mehta Rs. 3,000.

Deposited cash into Bank Rs. 3,000.

Sold goods to Shah Rs. 2,000.

© g ot Ww

Purchase furniture of Rs. 1,500 from S & Co.

" 11 Paid Mehta by Cheque Rs. 800

! 13 Received a cheque for Rs. 500 from Shah

! 15 Paid commission Rs. 200

! 17 Withdrew cash Rs. 100 for personal use

! 19 Cheque received from Shah is paid into Bank.
Or

Enter the following transactions in proper Subsidiary Books of

Ramrao :

2010 Jan. 1 Ramrao purchased goods from Gajanrao Rs. 500

Ramrao sold goods to Laxmanrao Rs. 600

Vyankatrao sold goods to Ramrao Rs. 400

Leelabai purchased goods from Ramrao Rs. 700

Returned goods to Gajananrao Rs. 50

Received goods returned by Laxmanrao Rs. 60

© 0 = ot W N

Vyankatrao received goods returned by Ramrao
Rs. 40

! 10 Leelabai returned goods to Ramrao Rs. 70.

[4201]-257 2



3. (a)

[4201]-257

From the following particulars of Manohar, prepare a cash

book with discount and cash columns only :

2009 dJan. 1 Balance a cash in hand Rs. 30,000 and at Bank
Rs. 10,000.

! 2 Purchased goods worth Rs. 5,000 for cash and
paid for carriage inwards Rs. 200.

! 3 Paid into Bank Current Account Rs. 10,000.

! 10 Paid by cheque to Mukarji Rs. 3,500 in full
settlement of Rs. 3,575.

! 12 Received for cash sales Rs. 1,500 cash and
cheque Rs. 1,000.

! 13 Drew for brother’s marriage Rs. 5,000 by cheque.

! 15 Paid for stationery Rs. 300 and advertisement
Rs. 120.

! 17 Received interest on investment Rs. 800 and
paid the same into Bank.

! 20 Paid by cheque Rs. 1,050 on account to Dalal
and was allowed discount of Rs. 50.

! 25 Drew two cheques for petty cash and office
use Rs. 150 and Rs. 100 respectively.

! 31 Received a cheque from Atmaram Rs. 1,550
in full settlement of Rs. 1,600.

! 31 Paid cash in excess of Rs. 15,000 into
Bank. [15]

3 P.T.O.



Or
The expenditure incurred in manufacturing and selling of

Product X’ for the three months ended 31-3-2009 is as given

below :

Rs.
Direct material cost 30,000
Engineer’s fees 1,000
Power and fuel 7,000
Wages payable 2,000
Office salary 5,000
Trade discount 500
Chargeable expenses 4,000
Haulage 3,000
General oncost 1,000
Catalogue expenses 1,500
Process and operating wages 13,000
Time-keeping expenses 2,000
Electricity charges 2,000

[4201]-257 4



(b)

[4201]-257

Donations for Kargil Fund 1,000

Tendering expenses 1,000

Commission on sales 2,500

Tons manufactured and sold 1,000

Prepare cost-sheet for the period 31-3-09. [15]

Explain in detail the pruchase procedure. [15]
Or

The following particulars have been extracted in respect of
Bharat Ltd., Pune for the month of March, 2009. Prepare Store
Ledger Account pricing the material issues on the basis of
last-in first-out method (L.I.F.O.) :

1t Opening stock—100 units @ Rs. 1.75

5th Purchases—150 units @ Rs. 1.50

8th Issues—200 units

12th Purchases—300 units @ Rs. 1.60

18th Issues—250 units

22th Purchases—400 units @ Rs. 1.70

20th Issues—400 units

30th Spoilage—10 units

Ascertain the value of closing stock.

5 P.T.O.



(D)
(2)
3)
(4)
(5)
(6)

[4201]-257

Write short notes on (any four) :

Petty cash-book

Importance of Subsidiary Book
Limitation of Financial Accounting
Time-keeping and time-booking
Types of overhead

Importance of double entry.

[20]



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4201]-258

S.Y. BA. EXAMINATION, 2012
EDUCATION (G—2)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Write the answers of the following questions in 50 words each
(any two) : [10]
(1) Explain the concept of Forgetting.
(2) Project method.
(3) Objectives of Education in Democracy.

(4) Importance of Open University.

2. Write short notes in 100 words each (any four) : [20]
(1) Explain Thorndike’s Laws of Learning.
(2) The concept of Deschooling of Ivan Illich.
(3) Stages of process of memory.
(4) Merits of Insight method of learning.

P.T.O.



(5)
(6)

(1)

(2)

3)
(4)

(5)

(6)

(any

(1)

(2)

[4201]-258

Characteristics of mental development at childhood stage.

Importance of Computer Education.

Answer the following questions in 200 t 250 words each :[30]

What is registration ? Explain the factors affecting registration.
Explain the role and functions of school in character development
of student.

Explain the statement “School as a social institution”.
Explain the importance of Heredity and Environment in the
development of the child in detail.

What is development ? Explain the characteristics of process
of development.

Explain the problems in Secondary Education.

Write the answer of the following question in 500 words

one) : [20]
What is Learning ? Explain the factors affecting on learning
in detail.

Explain the educational thoughts and functions of Rabindranath

Tagore in detail.



(A0S ®UI)

q% : o a™ THUT 0T ;80
M :— () T WA el STeRIE SR
(i) SoElhSle 3k qU U i

1. oo WEAE W TR 0 I forl (Fdet a@d) e [10]

(1) foorom=t doeat T &
(2) Yched TGl
(3) DTRIde RaorE 3t

(4) WK fagmdied #ge.

fal

2,  TERR 100 3ITeid Al gl TRl (el 9R) [20]

(1) gHSEHRT 9iidos & 19 faH TS .

(2) 3¥®E sfoadt famerR ygudEl  Hehed.

(3) WU Yihdd .

(4) WHIRMos FHIT YA HES.
(5) friveddte amfas fowmr At

6) U Rieome HeE.

3. Woe WAEl SW Ul 200 d 250 Ieeid foml (SRRl di|) ;o [30]

(1) T8 WUS HhE 7 YU’ URUMH HIUR Uk TR
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(2) focwmeaten =iz fowmE =t qfusm 3 @ wW= w0

(8) ‘M@ & Uk IS TEem AR’ 7 faum wme &

(4) o 9 IR dowen faeMce "ed e &

~

(5) foem mw *@ ? faem ufea=n dfite = &

(6) WIAHe: RIUMd® THS T .

4, TOGUD DUAR TR WAE SW 500 Ii| fowr [20]

(1) A WS hF 7 AEIAER GHOMH HIOR HZh  HiE T
B

(2) Uogag emE i fomR 9 i gfasw T &k
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Total No. of Questions—35] [Total No. of Printed Pages—8

Seat

No. [4201]-259

S.Y. BA. EXAMINATION, 2012
MATHEMATICS
(FMG—2 : Operations Research)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) Al questions are compulsory.
(i1) Figures to the right indicate full marks.
(iizt) Use of logarithmic table and calculator is allowed.

(iv) Graph papers will be supplied on demand.

1. Attempt the following : [16]
(i) What is difference between Transportation problem and
Assignment problem ? Explain in brief.
(i1) Define basic feasible solution of a L.P.P.
(iit) State four applications of L.P.P.

(iv) How to identify unbounded solution from optimum simplex

table ?

P.T.O.



(v)  Define total float.
(vi) What is replacement ? Describe some important replacement
situations.

(vit) When the game is said to be two person zero sum game ?
(viii) Sketch the feasible region of the constraints :

X1 + x9 < 4,

X1 — x9 < 4,

X1 2 X9

2. (A) Attempt any one of the following : [6]
(i) Use graphical method to solve the L.P.P. :
Max. Z =40 xqy + 80 x9
Subject to the constraints :
2x1 + 3x9 < 48
xq1 < 15

\Y
e

X1 2> O, X9
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(i1) Define :
artificial variables, slack variables of a L.P.P., alternative
optimal solution of an assignment problem.
(B) Attempt any one of the following : [10]
(i)  Solve the following LPP by simplex method :
Max. Z = xq + 4x9 + b5xg
Subject to the constraints
3xq + 3xg < 22
X1 + 2x9 + 3xg < 14
3x1 + 2x9 < 14
X1, X9, xg3 2 0.
(i) Obtain the Dual of the following and solve it by simplex
method :
Max. Z = 5xq1 + 3x9
Subject to
4xq1 + 2x9 < 10
2x1 + 2x9 < 8

X1, X9 > 0.
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3. (A) Attempt any one of the following : [8]

()

Find IBFS to the following transportation problem by
VAM; and by N-W corner rule :

Shop Warehouse Capacity
I I1 IT1 1AY \"

A 20 18 18 21 19 100

B 21 22 23 20 24 123

C 18 19 21 18 19 175

Requirement 60 80 85 105 70 400
IBFS = Initial Basic Feasible Solution, VAM = Vogel’s
Approx. Method.

(i1) Consider the problem of assigning four clerks to four
tasks. The time (hours) required to complete the task
is given below :

Tasks
A B C D
1 4 7 5 6
Clerks — 2 — 8 7 4
3 3 — 5 3
4 6 6 4 2
Clerk 2 cannot be assigned to task A and
Clerk 3 cannot be assigned to task B.
Find all optimum assignment schedules.
[4201]-259 4



(B) Attempt any one of the following : [8]
(i) The following is an IBFS of transportation problem :

Distribution Retail outlets Availability
Centre A B C D E
X @ 55 30 40 @ 50 50 40
v 35 30 100 45 60 20
7 40 60 95 @ 35 @ 30 40
Requirement 25 10 20 30 15 100

Is it an optimal solution ? If not, find the optimum solution.

(i1) For the following PERT diagram :

Find critical path and total project duration.

4, (A) Attempt any one of the following : [6]
(i) Define the terms :
depreciation value (discount rate), saddle point of the

game, critical path.
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(i1) Explain the general method for solving a sequencing
problem where n jobs are required to be processed on

two machines.

(B) Attempt any one of the following : [10]
(i) Solve the following game graphically :
Player B
6 5
3 6
Player A
8 4

(ii) Six jobs have to be processed at three machines A, B
and C in the order ABC. The time taken by each job
on each machine is indicated below :

Each machine can process only one job at a time.

Jobs Processing time in hours on machines
\ A B C
Jq 12 7 3
Jo 8 10 4
Jg 7 9 2
Jy 1 6 5
Jg 10 10 15
Jg 5 5 4

Determine the sequence for the jobs so as to minimize

the processing time.
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5. (A) Attempt any one of the following : [8]
(i) Draw network diagram from the following activities and

find critical path and total slack of activities :

Job Job (days) time Predecessor
immediate

A 13 —

B 8 A

C 10 B

D 9 C

E 1 B

F 10 E

G 8 D, F
H 6 E

I 7 H

J 14 G, I
K 18 J

(zz) Write notes on :
(a) Rules of Network construction

(a) 'Three time Estimates for PERT.
[4201]-259 7 P.T.O.



(B) Attempt any one of the following : [8]

(i) Explain the principle of dominance in Game Theory and

solve the adjoining game :

8 10 9 14|

10 11 8 12

13 12 14 13

(ii) The data collected in running a machine, the cost of

which is T 60,000 are given below :

Year — 1 2 3 4 5

Resale value ) 42,000 30,000 20,400 14,400 9,650
Cost of spares ) 4,000 4,270 4,880 5,700 6,800
Cost of labour ) 14,000 16,000 18,000 21,000 25,000

Determine the optimum period for replacement of the

machine.
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Seat

No. [4201]-260

S.Y. BA. EXAMINATION, 2012
MATHEMATICAL STATISTICS (GENERAL)
(Discrete Probability Distributions and Statistical Methods)
(2008 Pattern)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.
(i1) Figures to the right indicate full marks.
(iit) Symbols and abbreviations have usual meanings.
(iv) Use of calculator and statistical tables are allowed.

(v) Graph paper will be provided on request.

1. Attempt any two of the following : [2x5=10]
(a) Define the following terms with an illustration :
(i) Countably infinite sample space.
(ii) Expectation of discrete random variable (r.v.).

(iit) Probability mass function (p.m.f.).

P.T.O.
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(b) Obtain Moment Generating Function (M.G.F.) of Poisson
distribution with parameter ‘m’. Hence find its variance.
(c) With usual notations, describe a large sample test for testing :
Hy : n = py against Hy : np i Bo-
Use [1 level of significance (l.o.s.).
(d) Distinguish between chain base index numbers and fixed base
index numbers.
2. Attempt any four of the following : [4x5=20]
(a) Define the cumulative distribution function of discrete random
variable (r.v.). State properties of it.
(b) IfX; and X, are two independent geometric r.v.s. having common
p.m.f. as given below :
P(sz)ziiqkp £=0,1,2,3,.....
i 0 0.W.
Obtain the conditional distribution of X; given X; + Xy = n,
where n is any non-negative integer.
(¢c) Define the term ‘moment generating function’ (m.g.f.). Derive

m.g.f. of the Negative Binomial distribution with parameters

k and p.



(d) In a random sample of 1000 persons from village ‘A’, 120 were
found to be vegetarian. Similarly in other village ‘B’, 160 persons
were vegetarians in a random sample of 1500 persons. Do
you find a significant difference in the proportion of vegetarians
among people in two villages A and B ? Test at 5% level
of significance.

(e) Describe stepwise procedure of finding seasonal indices by ratio
to moving average method.

(fA  If all the total correlation coefficients in a set of three variables
are equal to r(r!' +£1), then show that :

or 2
. R2, .. —
(2) 123 = 7,
. r — r
@) TM23 777

1Q-r)A+2r)
o 1o RZ o =
(ii1) 1.23 1+1)
3. Attempt any three of the following : [3x10=30]
(@) (i) Obtain the recurrence relation between raw moments of

[4201]-260

Poisson distribution with parameter ‘m’. Hence find its

variance. [5]

(i1) Define the term m.g.f. of bivariate r.v. State and prove

its any #fwo properties. [5]

3 P.T.O.



(b)

(c)

(d)

(e)

[4201]-260

(2)

(i1)

(2)

(i1)

(2)

(i1)

(2)

(i1)

Discuss various components of time series. [8]

Define service rate and average queue length in queuing

models. [2]

State and prove lack of memory property of geometric

distribution. [5]

An item is produced in large numbers. The machine is
known to produce 3% defectives. A quality control inspector
is examining the items by taking them at random. What
is the probability that at least 4 items are to be examined

in order to get 2 defectives ? [5]

Describe the °‘logistic regression with one regressor’ in
detail. State any one real situation where it can be

used. [6]
Explain the terms :

(I)  Residuals.

(IT) Coefficient of multiple determination. [4]

Write a note on splicing and deflating related to index

numbers. [6]

Write a note on importance of national income. [4]



4, Attempt any one of the following : [1x20=20]

(@)

(b)

[4201]-260

(2)

(i1)

(4i1)

(2)

Obtain the equation of regression plane of X; on X,

and Xg by the method of least squares. [10]

A television repairman finds that the time spent on
his job follows exponential distribution with mean of
30 minutes. If he repairs sets in order in which they
came in, and if the arrival of sets follows a Poisson
distribution with an average rate of 10 per 8 hrs day.

Calculate :
(I) The expected number of TV sets in the system.
(II) The probability that repairman is idle. [6]
Describe the test procedure to test :

Hy: ® = By against Hy : ®; 1 %,
where B is unknown population correlation coefficient. [4]

Define the term multiple correlation coefficient in case
of trivariate data. Also, with usual notations, show

that :

5 P.T.O.
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(i1)

(ii1)

Define ‘Partial correlation coefficient’ in case of trivariate
data. Derive its expression in terms of total correlation

coefficients. [8]

The mean yield of wheat due to variety ‘A’ was 210 pounds
per acre with a standard deviation of 9 pounds obtained
from a sample of 100 pots. Variety ‘B’ gave mean yield
of 200 pounds per acre with a standard deviation of
12 pounds from a sample of 100 plots. Test whether
variety ‘A’ is better than variety ‘B’ in giving better average

yield. Use 5% l.o.s. [4]



Total No. of Questions—5] [Total No. of Printed Pages—3

Seat

No. [4201]'261

S.Y. BA. EXAMINATION, 2012
ENGLISH
(General Paper II)
(Understanding Fiction)
(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

Texts Prescribed :—
(i)  Lord of the Flies : William Golding.

(ii) Inside the Haveli : Rama Mehta.
(iit) A Man of the People : Chinua Achebe.

N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer any four of the following : [16]
(i) Explain the types of characters with the help of the novels
you have studied.
(iz) What is the significance of setting in the novel ?
(iit) What is a regional novel ? Explain with examples.
(iv) What is a Picaresque novel ? Explain with examples.
(v) Explain the term ‘Stream of Consciousness’.

(vi) Point out the difference between story and plot with examples.

P.T.O.
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2. Attempt any four of the following in not more than 150 words
each : [16]
(i) Attempt a character-sketch of Ralph.
(ii) Discuss the plot-construction of ‘Lord of the Flies’.
(iizt) Consider ‘Lord of the Flies’ as a study in child psychology.
(iv) Discuss the element of conflict between good and evil in, ‘Lord
of the Flies’.
(v) Explain how the beast plays an important role in ‘Lord of
the Flies’.
(vi) Comment on the significance of the title ‘Lord of the
Flies’.
3. Attempt any o of the following : [16]
(i) Explain how Geeta represents the suppressed modern woman
in, “Inside the Haveli”.
(z1) Discuss ‘Inside the Haveli’, as a social novel.
(ii1) Discuss the plot-construction of ‘Inside the Haveli’.
4, Attempt any #fwo of the following in not more than 150 words
each : [16]
(i) Comment on the plot-construction of ‘A Man of the People’.
(i1) Explain the significance of the character ‘Chief Nanga’.
(iit) Comment on the ending of, “A Man of the People’.

2



5. Attempt any four of the following in about 50 words each : [16]

(i) Write a note on humour and satire in ‘Lord of the
Flies’.

(i1) Discuss the use of allegory in ‘Lord of the Flies’.

(iit) Comment on the role of female characters in ‘Inside the
Haveli’.

(iv) Explain ‘Inside the Haveli’ as a realistic novel.

(v) Comment on the comic element in ‘A Man of the People’.

(vi) Describe ‘A Man of the People’ as a story of expectations.

[4201]-261 3



Total No. of Questions—5] [Total No. of Printed Pages—3
Seat
No. [4201]-262
S.Y. BA. EXAMINATION, 2012
ENGLISH
(Special Paper 1)
(Understanding Drama)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80

Texts Prescribed :—

(i) The Importance of Being Earnest : Oscar Wilde.

(zz) Death of a Salesman : Arthur Miller.

(iit) Hayavadana : Girish Karnad.

N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Attempt any four of the following : [16]

(i)
(i)
(ii1)
(iv)

(v)
(vi)

What is Soliloquy ? Give examples.

State the difference between plot and story with examples.
Explain the term ‘setting’. Give examples.

What is dramatic conflict ? Mention its types with
examples.

Comment on the ‘theme’ as an element of drama.

Explain the term ‘tragic hero’ with suitable examples.

P.T.O.



[4201]-262

2. Attempt any four of the following : [16]
(i) Draw a character sketch of Jack Worthing.
(ii) Write a note on ‘Co-incidences’ used in ‘The importance of
Being Earnest’.
(iit) Consider ‘The importance of Being Earnest’ as a trivial comedy
for serious people.
(iv) Describe the relationship between Dr. Chasuble and Miss
Prism.
(v)  Write a note on ‘The Ending of The importance of Being Earnest.
(vi) Bring out the element of satire in ‘The Importance of Being
Earnest’.
3. Attempt any #fwwo of the following : [16]
(1) Examine the role of Kapila in ‘Hayavadana’.
(ii) Consider ‘Hayavadana’ as a comedy.
(ii1) Critically analyze the character of Hayavadana.
4, Attempt any o of the following : [16]
(i) Discuss ‘Death of a Salesman’ as a play of dreams.
(ii) How does the play ‘Death of a Salesman’ present the theme
of illusion and reality ? Discuss.
(itzi) Draw a character sketch of Biff Loman.



(2)
(it)

(ii1)
(iv)

(v)
(vi)

[4201]-262

Attempt any four of the following : [16]

Comment on the use of myth in Hayavadana.

Discuss ‘The Importance of Being Earnest’ as a comedy of
manners.

Examine ‘Death of a Salesman’ as a modern tragedy.
Write a note on ‘Minor Characters’ in “The Importance of Being
Earnest’.

Comment on use of Symbolism in ‘Death of a Salesman’.

Explain the role of Chance in Hayavadana.



Total No. of Questions—35] [Total No. of Printed Pages—4

Seat

No. [4201]-263

S.Y. BA. EXAMINATION, 2012
ENGLISH
Special Paper—II
(Understanding Poetry)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80
Text Prescribed : Poetry Down the Ages

N.B. :(— (i) Al questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer any four of the following : [16]

(i) What is ‘Ode’ ? Explain with an example.

(iz) What is ‘pballad’ ? Discuss its features with reference to the
ballad you have studied.

(it) What is ‘simile’ ? How is it different from a ‘metaphor’ ?
Explain with examples.

(iv) Explain ‘hyperbole’ with #fwwo examples.

(v)  Define alliteration and give f#wo examples.

(vi) Describe the features of ‘lyric’ with fwo examples.

P.T.O.
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2. Answer any four of the following : [16]
(i) Comment on John Donne’s use of the conceit of ‘compass’ in
“A Valediction : Forbidding Mourning”.
(1) Is William Blake’s “Tyger” a praise of the tiger or of its
creator ? Give reasons.
(iiz) How does “A Requiem” suggest that death is the ultimate leveller
of differences in human society ?
(iv) Describe Wordsworth’s conception of Nature on the basis of
“Strange Fits of Passion Have I Known”.
(v) How does Keats suggest that Art can only be an aid to human
life ?
(vi) Describe the features of ‘Sonnet’ with #wo examples.
3. Answer any two of the following : [16]
(i) What is the Irish airman’s attitude towards the war he is
fighting in ?
(ii) How does Ezekiel make “Goodbye Party for Miss Pushpa T.S.”
a humorous poem ?
(iit) Describe the picture of Delhi as Parthasarathy portrays it in

“Delhi”.



4, Answer any two of the following : [16]

(2)

(i1)

(ii1)

“Ballad of the Landlord” is a revolt against racial discrimination.

Discuss.
What seems to really move Jayanta Mahapatra in “The Abandoned
British Cemetery at Balasore” ? Why ?

Discuss Whitman’s idea of God on the basis of the title “Gods”.

5. Explain with reference to the context any four of the following : [16]

(2)

(i1)

[4201]-263

O life as futile then, as frail !

for thy voice to soothe and bless !
What hope for answer, or redress ?
Behind the veil, behind the veil.
Leave all for love;

Yet, hear me, yet

One word more thy heart behoved,
One pulse more of firm endeavour,
Keep thee to-day

Tomorrow, forever,

Free as an Arab

Of thy beloved.
3 P.T.O.



(ii1) I know that I shall meet my fate
Somewhere among the clouds above;
Those that fight I do not hate,
Those that I guard I do not love.

(iv) Eight hundred years of blood-letting
has made eunuchs of us.
once for all unsettled
our minds.

(v) Though lovers be lost love shall not;
And death shall have no dominion.

(vi) Friends,
our dear sister
is departing for foreign
in two three days,
and
we are meeting today

to wish her bon voyage.
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Total No. of Questions—5] [Total No. of Printed Pages—7

Seat

No. [4201]-264

S.Y. BA. EXAMINATION, 2012
MATHEMATICS
(MG-2 : Differential Equations and Linear Algebra)
(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

0.2 d_2y N x]c& B 3zj‘xt:te(;].apt the following : [16]
dx? dx ;) State order and degree of a differential equation :

d3y i 2
(d—j A

(ii) Define Bernoulli’s equation.
(iii) Solve (D2 + 7D + 12) Y = 0.

(iv) Verify that y=x 1is a solution of the differential

equation :

P.T.O.



(v) Determine whether the vectors (2, —1, 1) and (2, 8, 1) make
an acute angle.
(vi) Determine whether the set :
W = {(x, y, z)either x = 0 or y = 0}
is a subspace of R3.
(vii) Let T : R2 — R3 be defined by
Tx, y) = (x, x + y, y)
Find ker(T).
(viii) Let T : R2 — R2 be a linear transformation defined by :
Tx, v) = x + y, x — y)

Find the matrix of T w.r.t. standard basis of RZ2.

2. (A) Attempt any one of the following : [6]
(i) Define homogeneous differential equation and explain the

method of solving it.
(i) Define linear differential equation and explain the method

of solving it by treating x as dependent and y as independent

variable.
(B) Attempt any #wo of the following : [10]
(i) Solve :

(Bxy? — x2) dx + (8x%y — 692 — Ddy = 0.

[4201]-264 2



1,
f(D)

ax

3. A

L

f@°
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(i) Solve :
(xy® + y)dx + 2(x%y? + x + yH)dy = 0.
(iiz) Find the orthogonal trajectories of the family :

x> +2y2 =cC.

Attempt any one of the following :
(i) Solve the differential equation :

2
Ly by B
dx dx 1-¢*

by using the method of variation of parameters.
(i1) Let
f(D)=D" +a,D" ! + a,D"% +......... +a, D+a
and

fl@)#0.

Prove that :

hence deduce

ax
1 aw _ X where ¢(a)#0

D-awo®D " 0@

and find particular integral of

(D2 — 3D + 2)Y = e*.

[8]

3 P.T.O.



(B) Attempt any one of the following : [8]
@) K is a basis for vector space V.
Then show that every vector § in V can be expressed
in the form in exactly one

way.

(ii) (@) Let the function T : R2 — R?2 be defined by :

Is T a linear transformation ? Justify.
(b) Show that :
S = {1, 1, 1), (1, 1, 0), (1, 0, 0)}

is linearly independent in R3.

4, (A) Attempt any one of the following : [6]
(i) IfVis an inner product space, then prove that ||z || = < &, & >V/2

satisfies the following properties :

for all % and in V and for any scalar £

L, : iff

Ly lkull=1k[lull

[4201]-264 4



(i1) Find the eigenvalues of A and basis and dimension
for the eigenspace corresponding to largest eigenvalue,

where :

(B) Attempt any #wo of the following : [10]

(i) Prove that a set with exactly two vectors is linearly

dependent iff one of them is a scalar multiple of the

_ i ther.
T(x, DR 21= K|+ y — 2, x —239+(2.—2x -2y + 22)
A=|2 3 92| (ii) Determine whether the set :
3 3 4] B={3,1,-4),(2,5,6),(1, 4, 8)}

is a basis for RS3.

Gii) If T : R3 — R3 is a linear transformation given

by :

find basis and dimension of ker(T).

[4201]-264 5 P.T.O.



5. (A

(B)
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Attempt any one of the following : [6]
(i) Let V and W be vector spaces. If is
a basis for V and w,, Wy, ............. , W, are arbitrary n-vectors

in W (not necessarily distinct). Then show that there
exists a linear transformation T : V — W such that
Tw)=w,i=1,2,.... , 1.
(i) Determine the dimension of and a basis for the solution
space of the system :
x; — 4x9 + 33— x4 =0
2¢; — 9x9 + Bx53 — 3x, = 0.
Attempt any o of the following : [10]
(i) Let A be an n x n matrix and A be an eigenvalue of
A. Then prove that the eigenspace E(A) is a subspace
d R".

(i1) Let p, be the vector space with inner product

Find
(@ llpll,if p=1- x

b) dp, q), if p= x and q = x2



S (A s (48,
(iit) Show that the vectors Ui 55 ) b2 55 )

U3 = (0, 0, 1) form an orthonormal basis for R? with Euclidean

inner product. Find the co-ordinates of (1, —1, 2) relative

to this basis.

[4201]-264 7
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Seat
No.

[4201]-265

S.Y. BA. EXAMINATION, 2012

MATHEMATICS

MS-1 : (a) : Number Theory and Complex Variables

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :—

(i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Attempt the following questions : [16]

(2)
(i1)
(i17)

(iv)

(v)

Prove that if n is odd, n2 — 1 is divisible by 8.

Exhibit a complete residue system for the modulus 12.
Does the congruence 2x = 1 mod 4 have a solution in
integers ? Justify.

Evaluate ©(100), d(100).

Evaluate :

lim —.
z—>0 Z

P.T.O.



(vi) Show that the function
flz) = Bx + y)+ i(8y - x)
is entire.
(vii) Prove that :
2

exp(2 + 3mi) = —e”.

(viii) State Liouville’s theorem.

2. (A) Attempt any one of the following : [6]
(i) State and prove Division Algorithm for integers.
(ii) State and prove Wilsons Theorem.
(B) Attempt any two of the following : [10]
(i) Prove that nl2 — 1 is divisible by 7 if (n, 7) = 1.
(1) Find all integers that satisfy simultaneously :
x =2 mod 3, x = 3 mod 5, x = 5 mod 2.
(iti) Prove that the number of divisors of n is odd if and
only if n is a perfect square.

[4201]-265 2



3. (A) Attempt any one of the following : [8]

(i) Prove that if x, y, z is a Pythagorean triple then at

least one of x, y is divisible by 3 and that at least

one of x, y, z is divisible by 5.

(i1) Prove that, for every positive integer n,

) o(d)=n.

d|n

(B) Attempt any one of the following : [8]

@) (a)

(b)

[4201]-265

If

flz) = ulx, y) + ivlx, y)

is differentiable at

Zp = Xg t Lyo

then prove that u and v must satisfy the Cauchy-

Riemann equations u, = Uy and Uy = —U.
Prove that :
|cosh z|2 = sinh? x + cos? y.
3 P.T.O.



(ii) Use the Cauchy-Goursat theorem to show that :

(a) and
() f log(z + 2) dz = 0
C

where the contour C is the unit circle |z| = 1.

4, (A) Attempt any one of the following : [6]

(i) ¥ flz) is piecewise continuous on a contour C, then

prove that :

where L is the length of C and M is a non-negative

constant such that :

|flz)] < M.

[4201]-265 4



(B)
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(i1)

If flz) is analytic within and on a closed contour C and

zg 1s any point in C, then prove that :

J. M dz = 2nif(zo).

z-z

C 0

Attempt any two of the following : [10]

(2)

(i1)

(ii1)

Show that the function
f(z) = 2xy + i(x2 — yz)
is nowhere analytic.

Find the principal value of

2
Evaluate :
J. ¢’ 5 dz
. (z - 1)
taken counterclockwise around the circle C : |z| = 3,

using Cauchy residue theorem.

5 P.T.O.



5. (A) Attempt any one of the following : [6]

(z) Find Maclaurin series of the function :

(zz) Show that :

without evaluating, where C is the arc of the circle

|z| = 2 joining 2 to 2i in first quadrant.
(B) Attempt any two of the following : [10]

(i) Find Laurent series expansion for

1
142z

f(2)=

(zz) Evaluate :

[4201]-265 6



(iiz) State Cauchy integral formula and hence evaluate,

J‘ exp(2z) g

24

where C is the positively oriented unit circle |z| = 1.

[4201]-265 7 P.T.O.
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MS-1 : (b) : Problem Course Based on the
Papers MG2 and AMG2
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Attempt the following : [16]
(i)  Solve the differential equation :
x2dx + yx — 1)dy = 0.
(i) Find the integrating factor of the differential equation :
(x2+y2+2x)dx+2ydy=0.
(iit) State the rank and nullity theorem for a matrix. If A
is a matrix of order 4 x 6 with nullity 3, find the rank
of A.
(lv) Let T : R3 — R3 be a linear transformation defined by
Tx, v, 2) = (@ +y — 2z x — 2y + 2z, —2x—- 2y + 22).
Is the vector (1, 2, 1) in ker(T) ?

[4201]-265 8



(v) Let

Xy
flx, y) RN (x, ¥) # (0, 0)

=0 , (&, y) = (0, 0).
Determine the value of f,(0, 0).
(vi) Obtain stationary points of
f(x,y)= 2(x2 - yz) —xt + yh
(vii) Find Vo if

o = xzy - 2zx.

(viii) If
f(t)=(t-t2)i+2t°) - 3k,
evaluate :
2
I f(t) dt
1
2. (A) Attempt any one of the following : [6]
(i)  Solve :

(e4 + 1) cosx dx + e*sinx dy = 0.

[4201]-265 9 P.T.O.



(i1) Show that the family
y2 = da(x + a)
is self-orthogonal.
(B) Attempt any two of the following : [10]
@ If
u = loglx — 2y),

then show that :

o’u ’u

0xdy - dyox

(@) If
u = xsin~1l(y/x),

then show that :

(i) If

then show that :

0’u o’u o%u
x2— + 2x + y2— =sin2u(l - 4sin®u).
ox> yaxay Y dy> ( )

[4201]-265 10



3. A

(D? + 3D + 2) y = 12«

(B)
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Attempt any one of the following : [8]

(2)

(i1)

(2)

Expand

flx, y) = sin(xy)
in powers of (x — 1) and (y - g) upto and including
third degree terms.

By substituting x + y = u, x = uv, prove that the value

of the double integral :

II \/xy(l -x - y) dxdy

taken over the interior of the triangle bounded by the

2m

ines x =0, y =0, x + y =1 1is 105"

Attempt any one of the following : [8]

Solve the equation :

by using the method of undetermined -coefficients.

11 P.T.O.



(i1)

Let T : R2 —» R3 be a linear transformation defined
as :

T(xl, xz) = (xz, —-5x, +13x,, - Tx, + 16x2).
Find the matrix [T]E/ of T with respect to the bases

B = {L_tl, L_tz} and B’ = {51, Uy, 53} of RZ and R3 respectively,

where uw, = @3, 1, uw, = (6, 2), v, = (1, 0, -1),

v, = (-1, 2, 2 and T, = (0, 1, 2).

4, (A) Attempt any one of the following : [6]

(2)

[4201]-265

Let T : P9 — Py be defined by
T1) = 1 + «x,
Tx) = 3 — x2,
T?) = 4 + 2x — 3x2.
Find the formula for T(a0 +ax + azxz).
Hence find T(2 - 2x + 3x2) and matrix of T with respect
to the basis {2, (L+x), (L+ xz)}

12



(ii) Show that for vectors 7, in any inner product space
the following identities hold :
(@)
®)  |z+o -|z-of =4z v).
(B) Attempt any two of the following : [10]
(1)  Let
B={(1,2-3),(1,-32),(2 -1,5)}
be a basis for R3. Find the co-ordinate vector of
Fgﬂjuz +Hﬁ_5H2 zzHﬁuz +2W22, 3) relative to the basis B of RS3.

(1) Determine whether

1 -1 1

A=|9 3 1]

[4201]-265 13 P.T.O.



(iizr) Find eigenvalues of the matrix

Also find eigenspace corresponding to the largest eigen-

value.

5. (A) Attempt any one of the following : [6]

(i) Using Green’s theorem, evaluate :

Dj e*siny dx + e *cosy dy
C

where C is the rectangle formed by the lines x = 0,

N[ a

x=m, y =0and y =

(zz) Find the directional derivative of

0 = xy* + 2

at the point (2, -1, 1) in the direction of

In what direction is the directional derivative

maximum ?

[4201]-265 14



(B)

(2)

(i1)

(ii1)

[4201]-265

Attempt any two of the following :

If

du _ _

— =w X u,

dt

dv  _ _

— =w XU,

dt
show that :

i(ﬁxﬁ)zwx(ﬁxﬁ).

If

u = x%yi — 2xzj + 2yzk,
find curl(curl ).

Using divergence theorem, evaluate

I F -7 dS,
S

where

F = axi + byj + czk;

a, b, ¢ are constants and S is the surface of the

sphere x2 + y2 + 22 = 1.

15
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S.Y. BA. EXAMINATION, 2012
MATHEMATICS (MS-2)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory (in the chosen paper).

(i1) Figures to the right indicate full marks.

MS-2 (a) : Combinatorics and Computational Geometry
1. Answer each of the following questions : [16]

(e¢) How many ways are there to pick a man and a woman
who are not husband and wife from a group of n married
couples ?

(b) What is the probability that an arrangement of a, b, ¢, d,
e, [ has ‘@ and ‘b’ side-by-side ?

(¢c) Solve the recurrence relation :

a, = 3a n > 3.

n 1—2&

n — n — 2

P.T.O.



(d)

(e)

()

@)

[4201]-266

Among 600 families, 150 families have no children, 200 have
only boys and 200 have only girls. How many families have

boy(s) and girl(s) ?

Suppose the line segment between the points A[2, 1] and
B[-3, 3] is transformed to the line segment A'B* using the

transformation matrix :

find the slope of AB”.
If a 2 x 2 transformation matrix :

2 -3
[T] =
2 -1
is applied to the circle of radius 2 units, then find the area

of the resulting figure.

Write the transformation matrix for the following

transformations :
(o) rotation about the x-axis through an angle of 35°

(B) rotation about the y-axis through an angle of 70°.



(h) Determine if the transformation :

-3/5 4/5

7] =

-4/5 -3/5

is a solid body transformation.

2. (a) Answer any one of the following questions : [6]

(1) If there are n objects, with r; of type 1, ry of
type 2, ......... and r,, of type m, where ry + rg +

.......... + r,, = n, then prove that the number of

arrangements of these n objects is :

(ii) Give a combinatorial proof of the identity :

2 m n m+n
k=0 \ kR )\r—=~ r
(b) Answer any two of the following questions : [10]

(1) How many integer solutions are there to
x1+x2+x3+x4+x5=28
with x; 2 i@G = 1, 2, 3, 4, 5).

[4201]-266 3 P.T.O.



3. (a)

[4201]-266

(i1) Solve the recurrence relation :
d, = 4d, _ 1 —4d, _ 95 dy =1 dg =T

(iit) Suppose the numbers 1 through 10 are randomly
positioned around a circle. Show that the sum of
some set of three consecutive numbers must be
at least 17.

Attempt any one of the following questions : [8]

(1) Let Ay, Ag, .o , A, be n sets in a universe U of

(i1)

N elements. Let S, denote the sum of the sizes of all

k-tuple intersections of the A/’s. Prove that :

Show that the number of ways to distribute r identical
balls into n distinct boxes with at least rq balls in the
first box, at least rg9 balls in the second box, ...

and at least r, balls in the nth box is :

C(r_rl—r2_ ......... _rn+n_1, n—].).



(b)

4. (a)
(b)
[4201]-266

Answer any one of the following questions : [8]

(2)

Prove that if a 2 x 2 transformation matrix transforms
the points P and Q to the points P* and Q>l< respectively,
then the same transformation transforms the
midpoint of line segment PQ to the midpoint of line

segment P Q"

(ii) Generate 8 uniformly spaced points on the circle :
@ - 32 + (v + 12 = 16.

Answer any one of the following questions : [6]
(i)  Define :

(o) Parallel Projection

(B) Perspective Projection

(y) Oblique Projection.
(ii) Give any four properties of Bezier curves.
Answer any two of the following questions : [10]
(i) Find the concatenated transformation matrix for a

30° rotation about the point S[-1, 1]. Apply this rotation
onto the triangle with vertices A[2, 1], B[-2, 3] and
C[-3, -1I.

5 P.T.O.



5. (a)
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(i1)

(ii1)

Reflect the pyramid OABC with O[0, 0, 0], A[1, 0, O],
B[O, 1, 0], C[0, O, 1] in the plane 2z = -5.

Determine the principal foreshortening factors if the

matrix for an axonometric projection is given by :

[ 0.99 0 0 0
-009 -066 0 O
008 -074 0 O

-2.5 305 0 1

Answer any one of the following questions : [6]

(2)

(i1)

An object is to be rotated about the line passing through
Al4, 5, 7] and B[6, 8, 10]. Determine the angle o of
rotation about the x-axis and the angle [ of rotation
about the y-axis, so that the line AB coincides with

the z-axis.

Obtain the transformation matrix for the trimetric
projection formed by rotation about the y-axis
through 30°, followed by rotation about the x-axis
through 35°, followed by orthogonal projection onto the
plane z = 0.



(b) Answer any two of the following questions : [10]

()

(i1)

(ii1)

[4201]-266

Write the parametric equation of the Bezier curve with

control points Byl-1, —1], B¢[2, 3] and Bgl4, Ol

Find the concatenated transformation matrix for rotation
about the x-axis through an angle of 60°, followed by
a rotation about the y-axis through an angle of 90°. Apply

this on [X], where :

0O 0 1 1

[X]=]2 0 1 1|

2 3 1 1

Define Perspective transformation and state any three

properties of the same.

7 P.T.O.



[4201]-266
MS-2 (b) : Graphics and Lattices
1. Attempt each of the following questions : [16]

(i)  Show that there does not exist a simple graph with 8 vertices

and 29 edges.

(ii) Draw a graph whose incidence matrix is :

(iit) Draw all possible non-isomorphic trees with 5 vertices.

(iv) Determine the minimum and maximum height of a binary tree

with 31 vertices.
(v) Define a Partial Order Relation.
(vi) Define a Meet Homomorphism.
(vii) Draw a circuit represented by (@’ A b) v c.
(viit) Give an example of a non-distributive lattice.

[4201]-266 8



2. (a) Attempt any one of the following questions : [6]

(i) Let G be a connected graph. Prove that G is Eulerian
if and only if the degree of every vertex in G is

even.

(zz) Let T be a tree with n vertices (n > 2). Prove that

T has precisely n — 1 edges.

(b) Attempt any two of the following questions : [10]

(i)  Obtain a shortest spanning tree for the following graph

by using Kruskal’s algorithm.

[4201]-266 9 P.T.O.



(it) Determine whether the following graph is Kulerian. If
so, then use Fleury’s algorithm to find a Euler line in

the graph.

LA O

. 9, Vs
G

(iit) Draw the arborescence and express in Polish notation,
the expression :

(Bx + y) (6a — 3b)L.

3. (a) Attempt any one of the following questions : [8]
(2) List all fundamental circuits and fundamental cutsets of

the following connected graph w.r.t. the given spanning

tree.

[4201]-266 10



(i1) Let G be a simple graph with n vertices and 2 components.
Let n; be the no. of vertices in the ith component
@ < i £ k). Prove that :

k

Y n2<(n-k)" +(2n- k).

i=1
Hence prove that G has atmost :

(n—k)(n—k+1)
2

edges.
(b) Attempt any one of the following questions : [8]
(i) Prove that the product of two posets is a poset.
(ii) Give the conjunctive normal form of the function :

x A (y v 2).

4, (a) Attempt any one of the following questions : [6]
(i) Show that a homomorphic image of a modular lattice

is modular.
(ii) Prove that any lattice can be embedded into its ideal

lattice.

(b) Attempt any two of the following questions : [10]
(1)  Draw the Hasse diagram of the poset D3, w.r.t. divisibility,
where Dgy is the set of all positive divisors of 30.
(i1) Let I and J be two ideals of a lattice L. Prove that

I nJ is an ideal of L.

[4201]-266 11 P.T.O.



5. (a)

(b)

[4201]-266

(zi1) Show that a sublattice of a distributive lattice is

distributive.

Attempt any one of the following questions : [6]
i) K O6:L — L is a homomorphism, where L is a lattice,
prove that there exists a € L such that 6(a) = a.
(it) Draw the circuit which realizes the function :
a/\[(bvd’)v(c’/\(avdvc’))}/\b.
Attempt any two of the following questions : [10]
(i) Define a prime ideal of a lattice L. Find all prime ideals

of the following lattice.

(it) Define a sublattice of a lattice. Show that the union of
two sublattices of a lattice L. may not be a sublattice
of L.

(iit) In a Boolean algebra, prove that for all a, b

(@) @) = a B) (@ A b) = a v b

12
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S.Y. BA. EXAMINATION, 2012
STATISTICAL PRE-REQUISITES
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
Instructions to the candidates :
N.B. :(— (i) All questions are compulsory.
(i1) Figures to the right indicate full marks.
(iii) Use of calculator and statistical tables is allowed.

(iv) Symbols have their usual meanings.

1. Attempt any o of the following : [2x5=10]
(@) Three fair coins are tossed at a time. Find the probability
of occurring :
(i) exactly two heads,
(i) at least one tail.
(b) If A and B are two non-empty events of a sample space (Q),
then prove that :
PA u B) = P(A) + P(B) - P(A n B).

P.T.O.



(c) Let X be a discrete r.v. with probability distribution as given

below :
X PX = x)
1 0.3
2 0.2
3 0.12
4 0.28
5 0.10

(i) Find mean of X.
(ii) Compute the expected value of (3X - 5).

(d) Write a short note on the construction of ‘Life Table’.

2. Attempt any four of the following : [4x5=20]

(a) Discuss the terms : Family formation, composition and Dissolution
in demography.

(b) If X follows Poisson distribution such that :

PIX =1] = P X = 2],

find the variance of X and P[X > 2].

(¢c) Obtain the mean and variance of binomial distribution with
parameters n and p.

[4201]-267 2



(d) If A and B are two events of Q such that P(A) = 0.3,
P(B) = 0.6 and P(A n B) = 0.2, compute P(A/B®) and
P(A¢/B).

(e) Compute crude death rates of two populations A and B from
the following data :

Age Group A B

(Years) Population Deaths | Population Deaths

Below 5 10000 300 30000 800
5-30 25000 420 60000 1500

Above 30 15000 250 5000 150

State your conclusions.

(f)  Distinguish between ‘Gross Reproduction Rate’ and ‘Net

Reproduction Rate’.

Attempt any three of the following :

(@)

®) @

(i1)

[4201]-267

Discuss all the measures of fertility.
State and prove Baye’s theorem.

Explain the concept of probability.

[3)( 10:30]

[10]

[7]

[3]

P.T.O.



(¢c) Compute ‘General Fertility Rate’ and ‘Specific Fertility Rate’

for the following data : [10]
Age Group | No. of Women No. of Births

(years) (in thousands) (in thousands)

15—19 20 500

20—24 25 2800

25—29 18 2000

30—34 15 1200

35—39 10 400

40—44 6 12

45—49 4 8

(d) (i) Calculate standardized death rate with respect to age

using the following data : [5]

Age Group Specific Standard Population

(years) death rate (in thousands)

0—2 350 20

2—5 200 10

5—15 90 15

15—40 40 35

40—60 95 15
Above 60 190 10

[4201]-267 4



(e)

(i1)

(2)

(i1)

A box contains 12 items of which 5 are defective. A
random sample of 4 items are drawn from it by without
replacement.

Find the probability of selecting :

(I) Exactly two defective.

(II) At least two defective. [5]
If A and B are two events of Q such that P(A) = 0.22,
P(B) = 0.48 and P(A n B) = 0.10, compute P(AS),
P(A® n B) and P(A® n BO. [5]
State probability mass function (pmf) of negative binomial

distribution. Obtain its mean. [5]

4, Attempt any one of the following : [1x20=20]

(@)

[4201]-267

(2)

The daily wages of 1000 workmen are normally distributed
with a mean of Rs. 225 with a standard deviation
of Rs. 9. Estimate the number of workers whose daily
wages will be :

(i)  between Rs. 215 and 240

(i) less than Rs. 210

(zzz) more than 235. [10]

5 P.T.O.



(b)

(ii) Define normal distribution. State its important properties. [5]
(iti) Two digit numbers are to be formed by selecting
digits 3, 4, 5, 7 and 8 randomly. If digit is not repeated,
find the probability of forming the numbers which are
divisible by 5. [5]
(i) Discuss all the measures of mortality. [10]

(ii) Compute gross reproduction rate from the data given

below :
Age Group | No. of Women Total Births

(Years) (in thousands)

15—19 15 250
20—24 16 2300
25—29 15 1900
30—34 15 1400
35—39 14 910
40—44 15 250
45—49 14 140

[4201]-267

Assume that the proportion of female births is 46.2

percent. [10]
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S.Y. BA. EXAMINATION, 2012
LOGIC AND METHODOLOGY OF SCIENCE
(Formal and Relational Logic)
(2008 PATTERN)
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N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Explain the following concepts in 50 words each (any two) : [10]
(1) Universal quantifier.
(2) Independence of P.M. system.
(3) Two methods of specifying sets.

(4) Relational Enthymeme.

2. Answer any four of the following : [20]
(1) Symbolise the following propositions with the help of the symbols
given in brackets (any two) :

(a) All roses are fresh. (Rg, Fyx)

P.T.O.



(2)

3)

(4)

(5)
(6)

[4201]-268

(b) Some sentences are questions. (Sx, ax)
(¢) Only girls are members. (Gy, My)
(d) Some fruits and vegetables are not bitter.
(Fy, Vx, By

Symbolise the following propositions with the help of the symbols
given in brackets (any two) :
() If all cows are mammals then some animals are

mammals. (Cx, My, Ay)
(b) Pune is smaller than Mumbai. (p, m, Sgy)
(c) Whoever visited the building was observed. (Vy, Oxy)
(d) Every flower has its smell. (Fy, Sy, Hxy)
State the symbolic form of revised rules of quantifi-
cation.
Explain with suitable example the nature of multiply general
proposition.

What is instantiation ?

If
= {1, 2, 3, 4, 5}
= {1, 2}

B = {2, 3}



then list the elements of the following sets :

(@) ~A n B)

b) AN~ A
(¢c) A u-~B
d A u -~ A

e) ~A u B).

3. Answer any three of the following : [30]
(1) Prove the validity of any two of the following :
(@ (X) (Ay > ~ By
(39 (Cx . Ay
/ - 3y (Cx . ~ By
b)) X) Ky o Ly)
X) [(Kyg . Ly) D Myl
/ n (X)) By D My
(¢) X) (Ay D By
~ Bt/ - ~ At
d) X) (Ax o By)
(X) By D ~ Dy

/ o (X) Dg D ~ Ay

[4201]-268 3 P.T.O.



(2) Prove any two of the following theorems with the help of
the Axioms given below :
Axioms :
(@  vp DOp
b)) g 2@ v g
) P v DQ Vv p
d p v v ohg v vl
e) @ o2 D2l vg D@ v )l
Theorems :
(@ Faq 2@ 29
® ~p 2@ v P
(¢c) =p>p
@d +~® >~p >~ p
(3) Prove the validity of the following arguments (any two) :
(@) Sai / .. ~ Sia
() X) [Vx o 3y) Oyxl
X) . [Og, D Rg,)

X) ~ Ry, / =~ ~V

a

[4201]-268 4



(4)

(5)

(1)

[4201]-268

() 3y (Y) [Eg) Byy

(Y) (3 By, / - (3 (V) Byy
d) X) [Eg o (V) (Fy D Gyl

3x) [Ex . Gy) ~ Ggyl /0 Gy ~ Fx

Explain difference between Propositional Logic and Predicate

Logic.

Explain the relation of

inference.

Answer any one of the following :

identity as

a principle of

[20]

Demonstrate the invalidity of any four of the following

arguments :

(@) X) (Agy > By
B,/ . A,

®) (X) (Cx D ~ Dy
~ Cj/ Dj

(©) X) (Fx D Sy
(X) (G > Hy)

/ - (X) (Hy o Fy

P.T.O.



(d) X) (Axy D By)
~Ap/ o~ Bp
(e) X) (Mg D Sy)
X) (Wy D My)
/oo (X) Sy D Wy).
(A All astronauts are brave. Akash is brave. Therefore, Akash
1s an astronaut. (Ag, By, a)
(2) Explain the attributes of dyadic relation with

examples.

(AOE ®UI)
q% : o\ A TR T : 80
o :— () Wd WA Giefan sewds o,
(i) STETRSI® 3Tk WA U U SFifodm.

[a [a

(iii) ¥ TUSH WEAUIhEl damEl.

1. TUoo UhedT THI 50 Id TR HU (KSR QE)  : [10]

(1) HEfe TEI9h

(2) T.UH. YUl Tl

(8) TY oHH HLOIEAT o gl
(4) F@EHAHRI.

D
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2. TORUHR HUERE ARl SW G [20]

(1)

(2)

3)
(4)

(5)

[4201]-268

o N o

Haa feocn o= we=m uoe foume o=t w0 (Fi

)

o
[

(1) gd TorE AN 3R Ry, Fy)
() FE TR TAdE A (Sx» ax)
() T HOl T IR (Gx, My)
(3) HEl T MU oA g THAT. (Fg, Vg, By

oSN fa o

SO feocn o= we=m wole faure o=t w0 (FRIdEl

3 )
()R TE T A IEAG R HEl YO A 3TRd.

(Cx—T, My-9&H, A -

(&) g HoE el wEH .
(p-T%, m-GE, Sy -& I Yam Hal M)
(%) M ARG 92 fedl @ fam &0 o (Vx, Oxy)

(8) Idh {otdl =l oaE 3Tl (Fx, Sy, Hxy)

gl guiia femet dehfae &0 fo.

~ LY

i SqledUli=dl  dleldld ®I§,HIHI"¢|°||C|'\| IELIE ‘-'EUI\YI‘\ hid ol

< .

3TELUNRI0] WU hid 2
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3.

(6) S

U = {1, 2, 3, 4,
A =1{1, 2}
B = {2, 3}

5}

W YE@ Godle TSl ARl w

()~ A n B

(d) An ~ A
(%)A U ~ B
() A u ~ A

(3) ~A uU B).

Hoer  fost W foRr

(1) WIHSUR! IR

A Jfoarer=t dga fag w0

(3 X) (Ax o ~ By)

3 (Cx . Ay

/ . (39 (Cy .

~ Bx).

@) X) Ky > Ly)

(X) [(Ky . Ly) D Myl

/o (X) (Kg D My.

[4201]-268
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(F) (X) (Ay D By
~ Bt/ .. ~ At

(®) X) (Ay D By
X) By > ~ Dy

/ o (X) (Dg D ~ Ay

(2) W Ko ToE= TEraH e Koediisl SRl g Tl
fag =
qATUR
(e vp Op
(M ago>p va
(Fe va >DQ@ v p
()b v@ vl D@ v vl
3 @ >v >l vg 20 v 1]
T
(NH-aq >0 D9
(D —~p 2@ v p
(F)H-poO0p

()~ D ~p D~ p

[4201]-268 9 P.T.O.



AN

(3) Wl JfkERE FHd/aud fag ®U (FUER gF)

(31) Sai / .. ~ Sia
() X) [Vx D 3y) Oyl
(X) . [0, > Rg)
X) ~ Ry, / =~ ~ V,
() @ (V) [Gp Byy; o Byl
(Y) 3y By, / - G (V) Byy
(3) X) By o (V) (Fy 5 Gyy)l
3y [Ey . 3y ~ Gyl / o Gy ~ Fy.
(4) faura desmes 9 989 dTRIMENdS Wh TS H.

(5) STAMMNE Uh T@ A1 "M deadl oY T &

4, HUER TH WYWAd IR fem [20]
(1) UFeus SR OR geact saya fag wu

(3) (X) (Ay D By)

B,/ - A,
(@) (X) (Cx > ~ Dy
~ Cj/ o [%

(F) (X) (Fy > Sy
(X) (Gg > Hy)

/ w (X) (Hy o Fy)

[4201]-268 10



(2) (X) (Ax D By
~ Ap/ - ~ Bp

(@ X) Mg > Sy
(X) (Wy D My)

/ o (X) (Sg D Wy

(%) Fd A IR STHAW. STHRET IR AR, U AR B ST

32“%-' (AX7 BX7 a)

(2) fo@ Tau™ TUHH GREU TR HI

[4201]-268 11
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S.Y. BA. EXAMINATION, 2012
SOCIOLOGY
Group A : Population and Society (G-2)
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Group B : Introduction to Social Welfare and
Social Legislation in India (G-2)
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Time : Three Hours Maximum Marks : 80

N.B. :— (1) Attempt Group ‘A’ or Group ‘B’.
(ii) All questions are compulsory.

(iizr) Figures to the right indicate full marks.

Group A : Population and Society (G-2)

1. Answer any two of the following in maximum 50 words
each : [10]
(1) Uses of registration method.
(2) Gender Development Report
(3) Social factors of fertility.
(4) Need of Sex Education.

2. Write short notes on any four of the following in maximum 100
words each : [20]
(1) Meaning and definition of population studies.
(2) Uses of Census.

P.T.O.



(3) Types of migration.

(4) Characteristics of population in India.

(5) Meaning of female foeticide and female infanticide.
(6) Post-independence Population Policy.

3. Write any three of the following in maximum 250 words
each : [30]
(1) Explain the importance of population studies.

(2) Describe the push factors of migration.

(3) Explain the Demographic transition theory of population
growth.

(4) Discuss the impact of population growth on economic
development in India.

(5) Define population education. Discuss the need and means of

population education.

4, Answer any one of the following in maximum 500 words : [20]

(1) Define Mortality. Discuss the factors of infant and maternal
mortality.

(2) Explain the achievements and failures of Family Planning

Programme in India.

OR
Group B : Introduction to Social Welfare and
Social Legislation in India (G-2)
1. Answer any two of the following in maximum 50 words
each : [10]
(1) Victims of Dowry.
(2) Child labour prevention under Factory Act, 1948
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(3) Minimum Wages Act.
(4) Objectives of Central Social Welfare Board.

2. Write short notes on any four of the following in maximum 100
words each : [20]
(1) Legislation banning sex determination and female foeticide.
(2) Limitations of G.Os.
(3) Relevance of Equal Remuneration Act.
(4) Differentiate between Dana and social welfare.
(5)  Objectives of Protective Discrimination Policy for SC and
ST.
(6) Concept of Sustainable Development.
3. Answer any three of the following in maximum 250 words
each : [30]
(1) Elaborate the historical background of social welfare in
India.
(2) What is social security ? What are the areas of social
security ?
(3) Define N.G.O. State the limitations of NGOs in India.
(4) What are the different constitutional provisions to safeguard
the interest of SCs and STs.

(5)  Evaluate District Primary Education Programme.

4, Answer any one of the following in maximum 500 words : [20]
(1) What is Welfare State ? State the characteristics and objectives
of Welfare State.

(2) Discuss the problems of women workers in India.

[4201]-269 3 P.T.O.
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Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4201]-270

S.Y. BA. EXAMINATION, 2012
SOCIOLOGY
(S-1 : Foundations of Sociological Thought)
(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer any two of the following in maximum 50 words

each :

(D)
(2)
(3)
(4)

[10]
Impact of Industrial Revolution.

Theory of Untouchability (Dr. B.R. Ambedkar)

Dominant Caste (M.N. Srinivas)

Alienation (Karl Marx).

2. Write short notes on any four of the following in maximum 100
words each : [20]

(D)
(2)
(3)
(4)
(5)
(6)

Mechanical solidarity (Durkheim)
Social impacts of French Revolution
Types of Social Action (Weber)
Characteristics of Social Thoughts
Positivism (Comte)

Characteristics of Conflict.

P.T.O.



3. Answer any three of the following in maximum 250 words
each : [30]
(1) Elaborate the concept of Sanskritization.
(2) Discuss Auguste Comte’s Law of three stages.
(3) Describe the theory of class conflict by Karl Marx.
(4) Discuss the types of suicide as stated by Emile Durkheim.
(5) Explain the concept of Militant society.

4. Answer any one of the following in maximum 500 words :
[20]
(1) Explain Pareto’s theory of circulation of elites.
(2) Describe the types of Authority as stated by Max Weber.

(W& EUIR)
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Total No. of Questions—4] [Total No. of Printed Pages—3
Seat
No. [4201]-271
S.Y. BA. EXAMINATION, 2012
SOCIOLOGY
(Indian Society : Issues and Problems)
(Special Paper 2)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80

N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer any two of the following in maximum 50 words

each :

(D
(2)
3)
(4)

[10]
Causes of social problems.

Nature of communalism.

Nature of criminalization of politics.

Consequences of Drug Addiction.

2. Write short notes on any four of the following in maximum 100
words each : [20]

(D)
(2)
(3)
(4)
(5)
(6)

Consequences of Dowry.
Causes of Domestic Violence.
Problems of Minority Group.
SEZ

Causes of Poverty

Consequences of Terrorism.

P.T.O.



3. Answer any three of the following in maximum 250 words
each : [30]
(1) Explain the problems of scheduled castes.
(2) Explain the problems of scheduled tribes.
(3) Discuss social and economic problems of aged.
(4) Define crime and explain its consequences.
(5)  Discuss problems of working women.

4, Answer any one of the following in maximum 500 words
each : [20]
(1) Define Divorce and elucidate causes and consequences of
Divorce.
(2) Define corruption and discuss causes and consequences of
corruption.
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Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4201]'272

S.Y. BA. EXAMINATION, 2012
STATISTICS (GENERAL II)
(Descriptive)
(Research Methodology, Sampling Techniques and Statistical
Quality Control)
(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :(— (i) All questions are compulsory.
(i1) Figures to the right indicate full marks.
(ii1) Use of calculator and statistical table is allowed.

(iv) Symbols and abbreviations have their usual meanings.

1. Attempt any #&wwo of the following : [2x5=10]
(a) Explain the systematic sampling procedure. Give a real life
situation where this method is applicable.
(b) State the meaning and purpose of S.Q.C.
(c) State the meaning of measurement scales. Give an example
of Likert scale.
(d) Distinguish between assignable and non-assignable causes of

variation by giving suitable examples.

P.T.O.



(@)

(b)

(c)

(d)

(e)
)

[4201]-272

Attempt any four of the following : [4x5=20]

A population consists of 500 units. The company claims that
overall mean weight of the lot is ¥ = 49 kg and S? = 4.
How many sampling units must be selected to estimate ¥
with permissible margin of error 10% of true mean weight
and 95% confidence coefficient ? Assume SRSWOR.

In SRSWOR, prove that the probability of getting any sample

of size n units from a finite population of size N is equal

to Ncn'
A simple random sample of 2000 persons is drawn from a
population of 4000 persons. The number of literates in the
sample is 80. Estimate the number of literate persons in the
population. Further obtain the estimate of the standard error
of this estimator under SRSWR.

Describe the construction of R chart and ¥ chart when :
(i) Standards given and

(i) Standards not given.

Describe the procedure of double sampling plan.

For a double sampling plan with N = 3000, n; = 50,
c; =2, ny, =60, cob = 6, find probability of producer’s risk
for AQL p = 0.01.



sys

3. Attempt any three of the following : [3x10=30]

(¢) In SRSWOR, show that sample mean is an unbiased estimator
of the population mean. Derive formula for Standard error
of this estimator.

(b)  With usual notations, show that V(X)spgwor < V&)pa < V(@) 4 -
What is your interpretation about this relation ?

(¢) In systematic sampling with usual notations show that sample
mean is unbiased estimator of the population mean. Obtain
expression for standard error of this estimator.

(d) What is control chart ? Explain the statistical basis of three
sigma control limits.

(e) For a sample plan N = 1200, n = 64 and ¢ = 1, determine
the probability of acceptance of the following lots :

(i) 0.5% defective

(i) 0.8% defective

(iit1) 1% defective

(iv) 2% defective

(v) 4% defective

(vi) 10% defective

Also draw O.C. curve.

4, Attempt any one of the following : [1x20=20]
(@) (@) The following table gives the number of defective

[4201]-272

items found in 20 succession samples of 100 items

each :

2, 5, 2, 4, 4, 18, 0, 4, 10, 18,

2, 4, 6, 8, 0, 2, 2, 4, 0.

(1) Find the control limits for p-chart and plot on
graph.

3 P.T.O.



(b)

[4201]-272

(i1)

(2)

(i1)

(2) Comment on the state of control of the process.
(3) If the process level shifts to 0.15, find the probability
of catching this shift before the 2nd sample after

the shift has taken place. [14]
Define the following :
LTPD, ASN, AOQ. [6]
k

Show that V(x ) is minimum for fixed sample size 7 = 2 n;
i=1

iﬁ‘ nL oc NLSL(L = 1, 2, 3, ......... ’ k)

Also obtain the under this allocation. [12]

State main objectives of a sample survey. [8]
4
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Seat
No.

[4201]-273

S.Y. BA. EXAMINATION, 2012
STATISTICS
(Special Paper I) (Descriptive)

(Continuous Probability Distributions and Demography)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

(iit) Symbols and abbreviations have usual meanings.

(zv) Use of calculator and statistical table is allowed.

(v) Graph paper will be provided on request.

(@)

1. Attempt any #fwwo of the following : [2x5=10]
Let X be a continuous random variable with p.d.f.
1 1
(x) =—. ,— 0 < X < oo,
! T 1+ 22

(b)
(c)

Obtain the distribution function of X. Hence calculate
Pl <X < /3).
If X — U(a, b), then find mean and variance of X.

Find the mode of the normal distribution with parameters p
and o2

P.T.O.



(d)

(@)

(b)

(c)

(d)

(e)

()
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Suppose that the joint probability density function of X
and Y is :

2
f(x,y)=§y2, 0<x<20<y<1
= 0, otherwise

(i) Obtain the marginal p.d.f. of X and Y.
(i) Verify whether X and Y are independent r.v.s.

Attempt any four of the following : [4x5=20]

Let X — N, o2). Obtain mean deviation about mean
of X.

Describe the test procedure for testing H, : 0,2 = 0,2 against

2

H, = 612 # 0,°, state your assumptions.

If X — G(a, A), then find mean and variance of X.

If X;, X, and X4 are i.i.d. N(0, 1) variates and

find % such that :
RY < k) = 0.995.
State and prove lack of memory property of Exponential
distribution with parameters (o).
Define the following terms :
(1) TFR
(zi) NRR
(ii1) ASFR.



DN |

Attempt any three of the following : [3x10=30]
(a) Let X be a binomial variate with parameters n and p. Find

the mgf Y= XM s n - o, Identify the distribution
Jnpq
of Y.
(b) Let (X, Y) be continuous bivariate random variable with joint
p.d.f. :
flx, y) = 2; 0< x< y <1
= 0; otherwise

Show that correlation coefficient between X and Y
B

(¢c) If X and Y are two independent Chi-square variates with ‘m’
and ‘n’ degrees of freedom (d.f.) respectively, then show

X
that U = X + Y and V = X +y are independently

distributed.
(d) Define Snedecor’s F-distribution with n; and n, d.f. Derive its
p.d.f.
(e) State and prove inter-relations among Chi-square, ¢ and F
variates.
Attempt any one of the following : [1x20=20]
(@) (@) The following is the information of random samples drawn
from two independent normal populations : [7]
Sample No. | Sample Size 2x; >,
1 9 9.6 61.52
2 11 16.5 73.26

Test Hy : n; = ny against H; = p; # py, (Use o = 1%).

[4201]-273 3 P.T.O.



(i1)

(4i1)

Derive the expression of mode of F(n;, n,) and show
that it is always less than unity. [7]
Among 64 offsprings of a certain cross between guinea
pigs 34 were red, 10 were black and 20 were white.
According to a genetic model, these numbers should be

in the ratio 9 : 3 : 4. Are the data consistent with

the model ?
Test at 5% level of significance. [6]
(b) () Calculate G.R.R. and N.R.R. for the following : [10]
Age-Groups |15-19 |20-24 |25-29 | 30-34 |35-39 |40-44
No. of women | 9000 | 9200 | 8900 | 8600 | 8400 | 8500
Female births | 180 1012 1068 774 420 170
Survival factor | 0.92 0.91 0.92 0.89 0.89 0.86
() If X;, Xy, Xy, e X is a random sample of size

[4201]-273

n drawn from N(u, o2), then show that X and

1 —
S? = ;2 (X; - X)* are independently distributed random

2
variables. Also find the probability distribution of %
o

X < 4, 86.08 < S% < 170.496)
[10]

Hence compute P(0 <

of a random sample of size 10 from N(4, 160).
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Seat

No. [4201]-275

S.Y. BA. EXAMINATION, 2012
APPLIED MATHEMATICS
(AMG-2 : Calculus of Several Variables and Vector Calculus)
(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Attempt each of the following questions : [16]
dx, y) .
=227, Let
ou, v) W) Le
3 48
flx, y) = x—y x # Yy
= 0’ X = y
Show that lim flx, y) does not exist.
(x, ¥)—(0,0)
(ii) Find approximate value of (2.01) x (3.02).

(iii1) Let :
X—y=ux+y=v.

Find the value of

P.T.O.



(tv) Let

X
flx, y) = 2t (x, y) # (0, 0)

= 0, (x, y) = (0, 0)
k f differentiable at (0, 0) ? Why ?

(v) Let f(x) = k, x # 0. Find a vector

x_
tan3xi+log(1+x)j+2 1
X X X

f(0) so that f 1is continuous at x = O.

(vi) Find the equation of a normal line to the surface
v + 2 + 2 =T at (1, 1, 3).

(vii) Find the value of a f V=(x+3y)i+(y—-22)j+(x+azk is
solenoidal.

(viii) ¥ 7 = @ sinh kt + b cosh kt, where @, b are constant vectors,

show that :
2
d—’; k¥ =0
dt
2. (A) Attempt any one of the following : [6]

(i) K u = flx, y) is a differentiable function of x and y, and
x =0(), y=y() are differentiable functions of ¢, then
prove that the composite function is a
differentiable function of ¢ and its total derivative is

given by :

[4201]-275 2



(ii) ¥ flx, y) has an extreme value at a point (a, b) and
i f.(x, y) and fy(x, y) both exist in a neighbourhood of

(a, b), then prove that :

f:(a, b) = 0,

(B) Attempt any #wo of the following : [10]

(z) Show that the function :
(1 (1
flx, y) = 22 s1n(;) + y2 s1n(;j, xy # 0

£,(a, b) = 0. =0, xy =0

is differentiable at (0, 0)

(i) ¥ x+ y+ z = 30, find values of x, y and z for which

2 2

x2 + y2 + 22 is minimum.

(z11) Evaluate

] e dy d,
R

where R is the region bounded by

[4201]-275 3 P.T.O.



3. A

(B)

4. (A)

[4201]-275

Attempt any one of the following : [8]

(i) State and prove Young’s theorem.

(ii) Evaluate J.J. (x* + y*)dx dy by expressing it as repeated
R

integrals in two different ways, given that each integral

exists, where R is the region in XY plane bounded by

2

y = x° x =2 y = 1

Attempt any one of the following : [8]

(i) Verify Stokes’ theorem for F = 4xzi — y?j + yzk over the
area in the plane z = 0, bounded by x =0, y = 0,
2 2

x* + y° = 1.

(iz) Prove that a continuously differentiable vector field F is

conservative if and only if F is irrotational.

Attempt any one of the following : [6]

(i) Prove that a differentiable function #(t) defined

on [a, b] is of constant magnitude if and only if

(i1) If y is vector function of variables x, y and z with continuous

second order partial derivatives, then prove that :



(B) Attempt any #wo of the following : [10]
(i) A space curve is given by x = ¢, y = t2, z = 3.

Find :
(@) T
(b) equation of tangent line.

(i) Find the scalar potential ¢ if
grad

(i) is the curve x = ¢, y = t2

z=1- ¢t -1 <t < 1, evaluate J.¢d’7, where

C
r=xi+y + zk.
8= @Ry 40 + 2x -3y - 2)j + (4x — y + 22)k.
3 5. (A) Attempt any one of the following : [6]
(i) State and prove Green’s theorem.
(i) Prove that a vector field is conservative if and only

if the circulation of F about any closed curve in the region
is zero.
(B) Attempt any #wo of the following : [10]

(z) Prove that :

Ni(y + 2 + (z + 2)j + (x + Ykl . dF = 0,
C

where C is any closed path.

[4201]-275 5 P.T.O.



(zz) Show that

where S is any bounded surface and 7 = xi + yj + zk.

(iz0) If :

U =2z + yj — xR,
then find :

2

0xdy

(@ xv) at (1, 0, -2).

[4201]-275 6



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4201]-276

S.Y. BA. EXAMINATION, 2012
MATHEMATICS
(Mathematical Pre-requisites)
(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :(— (i) All questions are compulsory.
(i1) Figures to the right indicate full marks.

(zzz) Use of electronic calculator is allowed.

5 1. Attempt any #n of the following : [20]
y = log(x” + 6x + 2.)) ) _
(@ Using logarithm find y = 83.
(i1) Express the following logarithmic function as exponential function,
where log, 36 = 2.

(z1z) Given :

find :
dy
dx’
(iv) Given :
z= yez’c2
find :
z

xx*

P.T.O.



(v) Evaluate :

J. (— 1 + x2/3)dx.
2

(vi) Define Improper integral.

(vit) Evaluate :
3
J. (x% + x2)dx.
1

(viii) Define order of differential equation.
(ix) State the degree of the differential equation, where :

d2 3/2
(d—xg) + 2y = 6.

(x) Determine whether or not the given differential equation is

exact :
6yt + 9y?)dy + (8y? + 8t)dt = 0.

(xi) Verify :
5
[ @x +3)dx =0.
5

(xiz) Solve the equation :

5x

y =6e’* for «x.

(xtii) Define Homogeneous function.

[4201]-276 2
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2. Attempt any #fwo of the following : [10]

(i) Use integration byparts to evaluate :

J. 6xe™ " dx.

(i1)  Solve the following differential equation using separating variables,

where :
dy t°
dt oyt

(iizt) Find the slope of the following function at x = 2 where
y = log (x2 + 4).

3. Attempt any o of the following : [20]
1

(i) How long will it take money to increase to 25 times its
present value when compounded semiannually at 8 percent ?

(i1) Solve the following differential equation :

(4y + 8t*)dy + (16yt — 3)dt = 0.

(iit) Give an example of a function in x and y which is
homogeneous of degree three. Also find its first partial
derivatives.

4, Attempt any o of the following : [30]

(i) Explain in detail lagged income determination model.

(it) For the data given below, determine :

(@) The market price P, in any time period
(b) The equilibrium price P, and the stability of the time
path

3 P.T.O.



where :
Q,; = 180 — 0.75P,
Q, = — 30 + 03P, 4
P, = 220.
(iizt) Specify why the integral given below is improper and test

for convergence. Evaluate where possible, where :

} (5 — x)2dx.

[4201]-276 4
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Seat

No. [4201]-277

S.Y. BA. EXAMINATION, 2012
APPLIED STATISTICS (GENERAL)
(Applications of Statistics and Theory of Probability)
(2008 PATTERN)

Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.
(i1) Figures to the right indicate full marks.
(itzi) Use of statistical tables and scientific calculator is allowed.
(iv) Symbols have their usual meanings.

(v) Graph papers will be provided on request.

1. Attempt any two of the following : [2x5=10]
(a) Explain the following terms :
(i) Permutation of n objects taken r at a time.

(ii) In how many ways can a committee of four persons be
formed from 5 professors and 8 students such that there

are at most two professors in the committee.

P.T.O.



(b) A fair coin is tossed three times. Events A, B and C defined

on the sample space of this experiment are as follows :
A : At least one head is observed.
B : No head is observed.
C : Results of all three tosses are same.
Check whether the events A, B, C are :
(i) pairwise independent,
(ii) complete independent.

(¢c) (1) Define ‘probability model’.
(ii) State the axioms of probability.

(d) Explain the terms :
(z) Crude Death Rate,

(zz) Standardized Death Rate.

2. Attempt any four of the following : [4x5=20]
(a) Explain the following components of time series :
(i)  Seasonal variations.

(i1) Irregular variations. [5]

[4201]-277 2
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(b) (i) State any two practical situations where multiple regression
can be used.
(i) Find Ry 95 if ri9 = 065, r9g = 0.7 and ry3 = 0.6. [5]
(c) Discuss the meaning and utility of index numbers. [5]
(d) (@) Give one real life situation where Poisson distribution
is applicable.
(iz1) Let Xy, X9, X3 be three independent Poisson variates
with parameters 1, 2, 3 respectively. Find :
PX; + X9 + X3 7 2). [5]
(e)  Define discrete uniform distribution. State its mean and standard
deviation. Also give any two real life situations where the uniform
distribution is applicable. [5]
(/) (1) Define : event and sample space.
(i1) A bag contains 50 slips numbered from 1 to 50. A slip
is taken off at random from the bag. Find the probability
that it will bear the even number divisible by 3. [5]
3. Attempt any three of the following : [3x10=30]
(a) Define :

(i) Two-dimensional discrete random variable (X, Y),

(ii) Probability mass function of (X, Y),

3 P.T.O.



(itzi) Conditional mean of X given Y = 1y,
(iv) Conditional variance of X given Y = y,
(v) Covariance between X and Y. [10]

(b) The mean, standard deviation and correlation coefficients obtained

for three characteristics X, X9 and X3 are given below :

X, = 55. s1 =12, rg9 =0.5
X2=80, S2=20, 7‘232-0.7
Xg =425, s3=2, rg =- 0.25

(i)  Obtain the equation of plane of regression of X; on X,
and Xag.

(i1) Estimate X; when Xy = 85 and Xg = 50. [10]

(¢) () The probability distribution of a discrete random variable

X is given by : [5]
X PX=x)
0 0.1
1 0.25
2 0.4
5 0.25
Find :

(D) Cumulative distribution function of X.

(I) EX) and EX2).

[4201]-277 4



(d)

(e)

[4201]-277

(i1)

Let X and Y be binomial random variates with parameters
(n =5 p =05) and (n =7, p = 0.5) respectively.
Find :

O PX +Y = 6),

) PX =2|X +Y = 6). [5]
The joint distribution of (X, Y) is given below :
Y -1 1 3
X
0 ¢ 0 ¢
1 0 2c 2c
3 3c ¢ 0

Find :

(2)
(i1)
(i17)
(2)

The value of c.

P (XY is odd).

Corr (X, Y). [10]
Define :

(I)  Discrete random variable (r.v.) and give one illustration

of it.
(IT) Expectation of a discrete r.v.

(ITT) Variance of a discrete r.v. [5]

5 P.T.O.



(@)

(i1)

(2)

(i1)

If X and Y are two discrete random variables with :
VX) = V(Y)=s2 and Cov(X, Y)=5s2/2

find :

I VE@EX - 3Y)

(II) Corr (X, Y). [5]

Attempt any one of the following : [1x20=20]

The probability mass function of a discrete random variable
X is :
Px)=kx, x=11,12,....... , 30
=0 otherwise

Find the value of k. Further find :
&X - 506
Eg—or. 51
The data given below are the average quarterly prices
of a certain variety of crop (in Rs.) for different years.

Compute seasonal indices by simple average method for

[4201]-277

these data : [5]
Quarter I 11 I11 IV
Year
2008 100 120 95 100
2009 105 100 102 115
2010 95 115 95 105
2011 97 90 87 98
6



(b)

[4201]-277

(ii1)

(iv)

()

(i1)

Write a note on splicing and deflating related to index

numbers. [5]

Let X be a Poisson variate with parameter m.

If
PX = 2) = PX = 1),
then find :
O PX % 4.
(II) EX) and SDX). [5]

Describe the method of estimating seasonal indices by
ratio to trend where trend is obtained by link relative

method. [10]

Let A and B be any two events associated with an experiment.

Suppose that :

P(A) = 05 and P(A sb B) = 0.7 and P(B) = k.
Find the value of £ if :
(I) A and B are independent,

I PA X B) = 0. [5]

7 P.T.O.



(iit) The female population and live births with age of mother,

in 1985, of a country, are given below :

Age group Female Live Births
(Years) Population (in thousands)

(in thousands)

15—19 115.2 10.1
20—24 1114 15.2
25—29 100.8 13.0
30—34 95.3 7.5
35—39 76.5 4.0
40—44 59.5 1.6

[4201]-277

Calculate general fertility rate and age specific fertility

rates. [5]



Total No. of Questions—4+4] [Total No. of Printed Pages—8

Seat

No. [4201]-278

S.Y. BA. EXAMINATION, 2012
PHILOSOPHY
General Paper 2
(Philosophy and Good Life)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer any two of the following questions in 50 words each : [10]
(i) Briefly explain the notion of Anthropocentrism.
(ii) What is virtue according to Socrates ?
(iizr) State the Chaturvarga doctrine of Purushartha.

(iv) What are the types of Euthanasia ?

2. Write short notes on any four of the following in 100 words

each : [20]

(2) Bodhisattva

P.T.O.



(i1) Ashtanga Yoga
(iit) Types of Media
(iv) Paternalism in Medical Ethics

(v)  Whistle blowing

(vi) Aristotle’s concept of virtue.

3. Answer any three of the following questions in 200-250 words
each : [30]

(i) Bring out the importance of the role of media in democracy.
(ii) Explain the concept of Panchakosha and its significance.

(iit) What are the ethical issues regarding doctor-patient

relationship ?
(iv) What are your views about animal rights ? Why ?

(v) Discuss the concept of “Jeevanmukta”.

4, Answer any one of the following questions in 500 words : [20]
(i)  Elaborately discuss Dr. Ambedkar’s views on caste discrimination.

(ii) Explain and critically examine the notion of Corporate Social

Responsibility.
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(G-2 : Philosophy of Indian Saints)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer any two of the following questions in 850 words each : [10]
(i) Explain the characteristics of Saints.
(ii) Explain Basaveshvara’s Kayak Siddhanta.
(iizr) Explain Dnyaneshvara’s concept of Nirguna Bhakti.

(iv) Explain Tukarama’s concept of True Dharma.

2. Write short notes on any four of the following in 100 words

each : [20]
(i) Kabira’s concept of Ultimate Reality.
(ii) Guru Nanak’s concept of Raja and Bhay (Will and Fear).

(iit) Bahenabai’s concept of True Brahman.

[4201]-278 5 P.T.O.



(iv) Ramadasa’s opinions about Prapanch and Paramartha.

(v) Basaveshvara’s views on Guru, Linga and Jangama.

(vi) Jnaneshvara’s chidvilasvada.

3. Answer any three of the following questions in 200 to 250 words

each : [30]

(i) Explain Dnyaneshvara’s concept of Vishvatmak Deva.

(ii) What is Kabira’s concept of Nirguna Bhakti ?

(ii1) Discuss Guru Nanak’s concepts of Bhakti and Sahaj.

(iv) Explain Ramadasa’s views on Viveka and Shahanapana.

(v) Explicate Tukarama’s concepts of Bhakti and Mukti.

4, Answer any one of the following questions in 500 words : [20]

(i) Explain the nature and role of Bhakti Movement.

(i1) Elaborately discuss Bahenabai’s Jnanayoga, Karmayoga and Bhakti-

yoga.
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Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

[4201]-279

S.Y. BA. EXAMINATION, 2012
PHILOSOPHY (S-1)
Special Paper 1
(Indian Philosophical Approaches)
(2008 PATTERN)
: Three Hours Maximum Marks : 80
:— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

Answer any two of the following questions in 50 words each : [10]
(i) State Upanishada’s opposition to the ritualism of Brahmanas.
(ii) Explain the concept of Jnanayoga in Bhagvadgita.

(ii1) Discuss the notion of Anityata from Buddhism.

(iv) Explain the notion of Anyathakhyati.

Write notes on any jfour of the following in 100 words each : [20]

(i) Para and Apara Vidya

P.T.O.



(ii) Sthitaprajna as an ideal person
(zi1) Vidhi-Arthavada

(iv) Category of Abhava

(v)  Chittavritti and Chittavritinirodha

(vi) Vishishthadvaita.

3. Answer any three of the following questions in 250 words each : [30]
(1) State and discuss Anekantvada.
(ii) Explain Charvaka’s theory of Pramana.
(iizr) State and explain Shankara’s view regarding Sattatraya.
(iv) Explain the theory of Pratityasamutpada.

(v) State and explain the nature of Panchavayavivakya.

4, Answer any one of the following in 500 words : [20]
(i) State and explain the notion of jiva and ajiva in Jainism.

(ii) Explain the notion of Prakriti and Purusa in Sankhya Darshan.

Bring out the nature of interrelation between them.
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Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4201]-280

S.Y. BA. EXAMINATION, 2012
PHILOSOPHY
Special Paper S-2
(History of Western Philosophy Ancients,
Medievals and Modern)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer any two of the following questions in 50 words each : [10]
(i) State Cosmologist’s view regarding the nature of reality.
(i) Explain St. Augustine’s concept of God.
(iit) State Spinoza’s concept of Substance.

(iv) Bring out the distinction between primary and secondary

qualities.

P.T.O.



2. Write notes on any jfour of the following in 100 words each : [20]
(i) Parmenides Notion of Being
(ii) Sophist’s relativism
(iit) Monadology
(iv) Hegel’s concept of dialectic
(v)  Aristotle’s Notion of Substance

(vi) Kant’s view regarding space and time.

3. Answer any three of the following questions in 250 words each : [30]
(i) Discuss Plato’s theory of Form.
(i1) State and examine Hume’s Scepticism.
(ii1) Discuss Aristotle’s theory of Causation.

(iv) Elaborately explain Kant’s views regarding the possibility of

synthetic a-priori knowledge.

(v) Discuss Berkeley’s immaterialism.

4, Answer any one of the following in 500 words : [20]

(i)  State Plato’s distinction between opinion and knowledge. Bring

out its philosophical significance.

(ii) Write an essay on Descartes’ Rationalism.
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Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4201]'281

S.Y. BA. EXAMINATION, 2012
SOCIAL WORK
(General)
(I) Introduction : Fields of Social Work
(II) Population Education
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer any two of the following questions in 50 words each : [10]
(i) Explain the approaches of tribal development in India.
(ii) Explain the present trends in population growth in India.
(iiz) “Migration leads to population growth.” Discuss.

(iv) Define family and state the problems of family in modern

days.

P.T.O.



(2)
(i1)

[4201]-281

2. Answer any four of the following questions in 100 words each : [20]
(i) Explain the methods of Population Education.
(i) Discuss the causes of poor standard of living in urban slums.
(iit) Prepare a note on ‘rural housing’.
(iv) Write a note on ‘Welfare of Weaker Sections in India’.
(v) Explain the broad areas of fields of social work.
(vi) “Education plays a vital role in controlling the population growth.”
Discuss.
3. Answer any three questions in 200 t 250 words each : [30]
(i) Explain the services for youth welfare in India.
(ii) Write a note on mortality and morbidity.
(iizr) Explain the effects of population growth in the context of anti-
social malpractices.
(iv) Prepare an action plan on Population Education to be given
to the villagers.
(v) Explain the preventive measures for controlling the community
health problems.
4, Answer any one of the following questions in 500 words : [20]

Explain the determinants of population growth.

Write an essay on the effects of population growth on socio-

economic development of society.

2
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Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4201]-282

S.Y. BA. EXAMINATION, 2012
PUBLIC ADMINISTRATION
General Paper II
(Theory of Public Administration)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer the following questions in 8 words each (any two) : [10]
(i) State the meaning of Public Administration.
(ii) Principle of span of control.
(ii1) Leadership.

(iv) Importance of Training.

2. Write notes in 100 words each (any four) : [20]

(i) Write the historical approach of Public Administration.

P.T.O.



(i)
(ii1)
(iv)
(v)
(vi)

[4201]-282

State the functions of staff unit.
State the benefits of Retirement.
Administrative tribunals in India.
Benefits of promotion.

State the types of Budgets.

3. Answer the following questions in 200 to 250 words each (any
three) : [30]
(i)  State the differences between Public Administration and Private
Administration.
(ii) Explain the types of Line Unit.
(iit) Write the bases of Organization.
(tv) POSDCORB.
(v)  State Public Service Commission.
4, Answer any one question (500 words) : [20]
(i) State the meaning, nature and scope of Public
Administration.
(i1) Describe the various stages of Budgetary Process in

India.
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Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4201]-283

S.Y. BA. EXAMINATION, 2012
PUBLIC ADMINISTRATION
Special Paper 1
(Administrative Thinkers)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer the following questions in 80 words each (any two) : [10]
(i) Explain Kautilya’s machinery of Administration.
(i1) Features of prismatic society suggested by Fred Riggs.
(iit) Mention Herbert Simon’s views on Behaviourism.

(tv) State in brief Nehru’s views on socialism.

2. Write notes in 100 words each (any four) : [20]

(i) Kautilya’s views on Administrative corruption.

P.T.O.



(i1) Simon’s decision-making model.

(iti) Nehru’s views on Decentralization.

(iv) Nature of ‘Sala Model’.

(v) Taylor’s concept of scientific management.

(vi) State Kautilya’s nature of Rajdharm.

3. Answer the following questions in 200 © 250 words each (any

three) : [30]
(i)  Describe Rigg’s Ecological Approach.

(ii) Evaluate Chester Barnard’s theory of Authority.

(ii1) Explain Nehru’s views on Bureaucracy.

(iv) Explain Kautilya’s views on Administrative Principles.

(v) State Woodrow Wilson’s views on Administration.

4, Answer any one of the following questions (500 words) : [20]
(i) Explain Max Weber’s concept of Authority.

(ii) Explain Herbert Simon’s views on Traditional Administration.

[4201]-283 2



(WS BUTeR)

q% : o\ A TR T : 80
o :— () Wd WA el eEds SR
(i) ISehele 3 qul IO <Fifaar.

1. Toe YR Y& 50 I<d SW foRl (FiveEr || ) [10]

() hifcar=l WEMEHE I50M T H.

~

(i) e foodl gafaodt wuurdis FHSTE dfRTssl.

(iii) SAIAGER o HEEAA Hd THS  H.

(jv) YHNORIGWRT Jg&<l Ad oiedd E .

"

2. W 100 I fewr four (FumE =m) [20]

() Hifccad WESE TRENEET Hd.

(i) 9EvAa faolg gfear urew.

o [a} =

(ii) Tah<iwTon el dfeqd Aged fa=m.

(jv) ‘9@ Hieo'™ YReU.

(v) TE IMSNT FTEATT  Ghodl.
(vi) hifcears TSHE W& 9.
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Wole WA Y&l 200 d 250 IS SW foRr (SIvhEr | )

() ToS=n aaEnee g Ui

(i) =R sAe=A AfysRr=N fagae JeaHd .

(iii) TTRETEETEl Tge<l Hd W H.

(jv) HIfEHRT WMHRE dd TR FH.

-~

(v) T foouT=t WTEEe T |

TH@UR] HOERI TRl T SW 500 =@ foal .

() HH JeEr=l SIfUEMrgeti=l HhoUdl TS h.

(GI) WA WIEAEeEt god ATl Ad T 6.
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Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4201]'284

S.Y. BA. EXAMINATION, 2012
PUBLIC ADMINISTRATION
Special Paper II
(Institutions and Issues in Indian Administration)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer the following questions in 8 words each (any two) : [10]
(i)  Central Services.
(i) State the methods of Recruitment.
(izi) State the structure of Public Accounts Committee.

(iv) Explain the impacts of Privatization.

2. Write the notes in 100 words each (any four) : [20]

(2) Write the features of Civil Services.

P.T.O.



(i1)

(4i1)

(iv)

(v)

(vi)

three)

(2)

(i1)

(ii1)

(iv)

(v)

(2)

(i1)

[4201]-284

Human Rights Commission.
Globalization.

State the objectives of Training.
Role of voluntary Organization.

Importance of Reservation Policy.

Answer the following questions in 200 © 250 words each (any

[30]
Explain the functions of Union Public Service Commission.
State the functions of Planning Commission.
Describe the role of National Commission for Woman.
Explain the functions of Department of Home affairs.

Explain the Budgetary process in India.

Answer any one of the following questions in 500 words : [20]

Evaluate the role of Human Rights Commission.

Explain the relationship between Political and Executives.



(AOE ®UI)

q% : o\ A THU T : 80
o :— () Wd WA el meEds oR.
(i) ISehele 3 qul IO <Fifaar.

faY

1. Toe YR Y& 50 I=id SW foRl (FivkEr @F) [10]

() e L

(ii) wdrea 9gdl |

(iii) DFHSEl HHd=T A 9.

(fv) TISFRLOTE RO T .

2. W 100 =@ fowr fem (FONE WR) [20]
(i) W& FaEn dfims fom
({i) WMl Fh M.
(iii) SINTqehTeRTUL.

(iv) HfTefom=T &g WA

(v) EIHE FESA e

(vi) ST YURUTE A,
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3. WOle WAEI TSRt 200 9 250 IS SW O fERl (el d|) ¢ [30]

(i) hald DRTTl STENTEN HH T H.

(i) TfEISE AErmEr ™ =

(iii) U wfgel sEmm=t yfier 9uH

(fv) TREEEl HH T FH

(v) YRAIG STESYSTRTEl Gfshar T2 R

4., TAGUD DUAR TR WAH K 500 i@ fo@r [20]

(i) HHEl TRR SAERTEAl YfHchw RO K.

(i) TSHE HERR THE d WHBE FRGN TIE A=A do98 T

< .
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Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4201]-287

S.Y. BA. EXAMINATION, 2012
PHYSICAL EDUCATION
(Theory)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 60
N.B. :(— (i) All questions are compulsory.
(i1) Figures to the right indicate full marks.

(iit) Draw neat diagrams wherever necessary.

1. Answer the following in two sentences each (any five) : [10]
(i) What is the length, width and height of the Table Tennis ?
(1) Explain ‘Tidal Air’.
(iit) Name the four chambers of Heart.
(iv) Define ‘First Aid’.
(v)  State the height of the Badminton net from the ground.

(vi) In one day cricket tournament, one bowler, how many overs

maximum he spells.
(vii) Classification of muscle fibers.

P.T.O.



2. Answer the following in &5 to 7 sentences each (any two) : [10]
(i) Effect of exercise on circulatory system.
(ii) Explain benefits of Lead-up game.

(iit) Explain Social Health.

3. Answer the following in 20 to 25 sentences each (any two) : [20]

(i)  Describe the types of muscles and explain the effect of exercise

on muscular system.

(ii) Draw a diagram of handball ground with measurements. List

the 5 skills and 5 fouls in handball.

(ii1) Define internal and external respiration. State effect of exercise

on respiratory system.

4, Answer the following in detail (any one) : [20]

(i)  Define physical fitness. Explain HRPF and SRPF components

of physical fitness.

(ii) Define Health Education. Explain in detail about the factors

of Health.
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(& waiav)

q% : o\ A THU T : 60
o :— () W WA el e SR
(i) ISEhele 3 qul IO <Fifaar.

(iii) oTeRIh dY Yok kAT hIal.

N A

1. GOIUh! HIAR UM G2l S Gl 2 oeFd foer . [10]

~

() oo frgen ol e, el 9 S= 9h.

(i) ‘Trogafgd’ @ ®wUS ®™ d 9@

(iii) TIA AR HUAE] A HAL
(jv) TIHTER WUS HF d G

~

(v) SefH=T=n Aot SHHAUREET e WA

o (aV

(vi) TorheHE TH Wolg Thicadd HH=A fohdl Weeh 2k ITohdl d

g ?

(vii) T dqd AR FA.

2. TOGUHR PR I WA SW USR5 9 7 @ fewr ;0 [10]
(i) AEET WEEERY ge¥eR o 9Romm - fe.
(i) Y W™ TR HEQ
(iii) ISR AR WOS HE d W
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NN

3. WORUH! HUERE & WAl SW YR 20 9 25 o fowr ;o [20]

(i) I YR 9F[F, FEE A-EE S0 IR T

(i) Toedle Wersdl HHET MFdl Hgd MG 5 HREI 9 5 AR

fo.
({ii) SAIIFT 9 TR BN ®E 0 IH AEEEN ITTEAER O
qfomE |
4., TAUD DR Tl WA HOwR W fomr [20]

(i) INR® geea =S &M@ 7 §FF HRPF & SRPF ¥ ¥e& HO&R

e h.

(i) SRFE Rieom=t A g THE™ SN fafay wes gfowsr '

< .
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Total No. of Questions—7] [Total No. of Printed Pages—2

o [4201]-288
S.Y. BA. EXAMINATION, 2012
(Vocational Course)
COMPUTER APPLICATIONS
Course-III (Theory)
(RDBMS)
(2008 PATTERN)
Time : Two Hours Maximum Marks : 40

N.B. :(— (i) Question No. 1 is compulsory and solve any &5 from the

remaining questions.
(ii) Draw a neat labelled diagram wherever necessary.

(iizr) Figures to the right indicate full marks.

1. Define DBMS. Explain in brief the objectives of DBMS. [10]

2. Explain in brief the following terms with syntax and example : [6]
(@) Drop Table

(b) Create Table.

3. Explain in brief the concept of subqueries, with example. [6]

P.T.O.



4. Explain the following functions : [6]
(a) Length( )
(b) Round( ).

5. Explain in brief the following : [6]

(@) Primary Key

(b) Foreign Key.

6. Explain the following with examples : [6]

(@) Group by Clause

(b) Having Clause.

7. What is Normalisation ? Explain in detail. [6]
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Total No. of Questions—7] [Total No. of Printed Pages—2

Seat
No. [4201]-289
S.Y. BA. EXAMINATION, 2012
(Vocational Course)
COMPUTER APPLICATIONS
Course-IV (Theory)
(Software Engineering)
(2008 PATTERN)
Time : Two Hours Maximum Marks : 40

N.B. :(— (i) Question No. 1 is compulsory and solve any 5 rest of the

questions.
(ii) Draw a neat labelled diagram wherever necessary.

(iizr) Figures to the right indicate full marks.

1. What is E-R Diagram ? State which symbols are used for E-R Diagram

and Draw E-R diagram for Examination System in which Course,

student, Exam, Subject are entities. [10]

2. What do you understand by word ‘Integrated System’ ? [6]

P.T.O.



3. Explain what is normalization and the different Forms of

Normalisation. [6]

4. Explain the following : [6]
(a) Software Engineering.

(b) Feasibility Study.

5. Explain System Development Life Cycle with diagram. [6]
6. What is Flow-Charting ? Give example. [6]
7. Explain—Decision Tree and Decision Table. [6]
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Total No. of Questions—5] [Total No. of Printed Pages—4+2

Seat

No. [4201]-290

S.Y. BA. EXAMINATION, 2012
FUNCTIONAL ENGLISH (VOCATIONAL STREAM)
Paper III
(Advanced Writing Skills and Introduction to Electronic Media)
(Theory)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. (A) () Match the words from column A with their synonyms

and antonyms given in columns B and C respectively : [5]

A B C
deep transform barren
fruitful war hard
change submerged peace
plastic productive retain
fight soft shallow

P.T.O.



Or

(i1) Find out the word from the given options, which is the

closest in meaning to the words given below : [5]
()  honorary :

(a¢) a person who is respected

(b) a person who is honest

(c) a person who works voluntarily
(II) decisive :

(@) appropriate

(b) crucial

(c) promising
(IIT) exclusive :

(a) comprehensive

(b) special

(¢c) rare
(IV) meticulous :

(a) honest

(b) sincere

(¢) methodical

[4201]-290 2



(B)

[4201]-290

(2)

(i1)

(V) prodigal :
(@) wasteful
(b) irresponsible
(¢c) insincere

Identify the register of the following paragraph and mention

its markers. [5]

The organs of mass media are technological means of
transmitting messages to large numbers of people. Indeed,
they are much more than that. As they are very expensive
media, (particularly the cinema, radio, TV, video, cable,
computers and satellites) they have to be run by institutions
like the Government or well financed private commercial
bodies. They require a group of people to organize and
administer, to produce, distribute and constantly maintain
in working order the whole set up of, say, a studio,

a transmitting centre, or a publishing house.

Or
Identify the style of each of the following sentences : [5]
(I) Menu card, please.

(IT) The students are informed that they have to submit

their examination forms on or before 25th February.

3 P.T.O.



2. (@)

(i1)

3. A

[4201]-290

(IIT) Oh yaar, Tendulkar missed it even this time!

(IV) We are pleased to inform you that you are appointed

as a lecturer in English.

(V) Silence, please.

As the librarian of your college you have placed an order for
some books with Modern Book Depot, Mumbai. You want to
add some more newly published titles to the list. Write a
letter to the manager providing the new list and requesting
him to send all books at the earliest. Mention the Reference

Number of the earlier letter. [5]

Or

Prepare your biodata to be attached to your application for

the post of a Radio Jockey (R.J.). [5]

As a part of the social outreach, your college has started a
Health Awareness Programme. As a secretary of it you undertook
a survey of the health facilities available in your town. Prepare

a survey report based on the following points :

supply of clean drinking water, medical facilities, pollution-free

environment, tree plantation etc. [10]

4



(B)

4. (A)

(B)

(®)

[4201]-290

A University-level sports event was arranged in your college.

Write a report of the event for a local newspaper. [10]

Your department has arranged a function to felicitate a past
student who is working in a reputed English newspaper and
has recently received an Award of Merit. Write your script
to anchor the programme. Include the following points :
Introductory Speech by the HOD, Introduction of the guest,

principal’s address, speech by the guest-student etc. [10]
Answer any fwo of the following questions : [10]

(i) Write a short note on the development of radio as a

mass media.
(z1) “Music is the soul of Radio.” Comment.

(iit) Which radio programmes are most popular according to

you ? Why ?
Answer any fwo of the following questions : [10]

(i)  What role, do you think, can TV play in building public

opinion ?
(ii) What are the different types of TV programmes ?

(iit) Who is your favourite TV anchor/news reader ? Why ?

5 P.T.O.



(2)

(i1)

(4i7)

(iv)

(v)

[4201]-290

Answer any three of the following questions : [15]

Do you think that radio and TV are the media of entertainment

only ?

Point out the difference between the language used for TV

and radio news.

Do you think that TV-ads are more effective than the radio-
ads ? Why ?
What are the similarities and differences between the

“Programmes for select audience” on TV and radio ?

Do you prefer cricket commentary on radio to that on TV ?

Why ?



Total No. of Questions—4] [Total No. of Printed Pages—2

Seat

No. [4201]'291

S.Y. BA. EXAMINATION, 2012
TRAVEL AND TOURISM MANAGEMENT
(Vocational Stream)
Paper III
(Tourism Marketing and Travel Agency Operation)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.
(i1) Figures to the right indicate full marks.
(iit) Draw neat diagrams and sketches wherever necessary.

(iv) Use of map stencil is allowed.

1. Explain any fwo in brief (Around &) words) : [10]
(i) Exchange rate
(i1) Check-in
(iiz) Itinerary

(zv) International tourists.

P.T.O.



2. Write short notes on any jfour (Around 100 words) : [20]
(1)  Cruises
(@) WTO
(izi) Out bound tourism
(iv) Passport
(v)  Tour packaging

(vi) Importance of pamphlets.

3. Answer any three (200-250 words) : [30]
(i) Describe any fwo types of accommodations.
(it) What are the functions of a travel agency ?
(iit) How does ITDC co-operate the tourism industry ?
(v) What role does marketing play in tourism industry ?

(v) Explain luxurious transport mode with an example.

4, Answer in detail any one (Around 500 words) : [20]

(i) Mention the linkage between tourism industry and domestic

organization.

(ii) Explain the job opportunities in tourism industry.

[4201]-291 2



Total No. of Questions—5] [Total No. of Printed Pages—4

Seat

No. [4201]-292

S.Y. BA. EXAMINATION, 2012
ERIERLCC I U LR S
(Functional Hindi : Vocational)
WA 11
(Trovren &, & § wem, fagmm, waiar o erare-1)
(2008 PATTERN)
g ;3 He Uik : 80
AT — (i) W WA eifer €
(i) fE R faa U ofw wE & guie ¥

(Gii) fawm ‘s’ &R fawmm ‘T’ & SW T & SW-Yhae § fafe

faymr ‘3t
(%) fefafeg § 9 okl @ W foufmt fafee . [10]
(@) oy AfufEmE 1976,

=

(i) SHEHE TAER @ W&E,
(fii) TR T,
(v) fomod & wE|
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(@)

2. (M)

(%)
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‘HEER SoiRiteh Ol g0 i IR 9 ‘T S| SoRRie STERReg
I SAMRM HRAAY i ISA8 & g T 1 TAT AR SIS [6]

AT

‘HERTSZ TorRITeR U0 &bl IR ¥ ‘UHEA #Ut R’ OHl TN e
% oI B % "oy § 1o fafeu

frfafed # & fadl @ weil % SW "gw # fafey [9]
() =@ IAEE H A H IR H yeeufa A @ ey femm ?
Gi) ‘=, ‘@, ' & W g faded i)

(iii) wETER oY R STfEREl T H d R T ?
(jv) wRT &1 foRead fafew

(v) ARYYT faed g f&a od &t AR &g < =Y ?
Frefafed 3 § fr=l e famra= - smrieil/sieererll & 3T 37 Scaed-a%]
% AW fafew . [7]
() W@ W W, g d A wEe

Gy um foE Wb w ade

(iii) HHAGT HI TRAA S BT T

(jv) TSl & fR § SeEa & Bar

(v) L FER H FHrER

(vi) o9 =T, BHd feRar

(vii) HICUEN wE qEE

(viir) ﬂm @A



3. (@
(®)
4. (3)
(=)
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faam ‘9
o oo N

freafafed eg=se o1 fédl § sfgae wifvT . [7]

A TS THT ey faHe drd. guur faie SR oed, 9™ Sied
Sreelt Sdid. I Jiard, T2 TS Sieal Sgel. Wy edhR SR 3Ta
W T YR TR TERA Hidiell 3soad dehles ST8dl Wy o I5add
YAhTedr=l SRR I IA0H SN YRIUEl oo i AFTell T A
RG] ? W dobd Ivodd Yadled A9dl W R, Y A AN. <Al
sfe™Mes W SHSER adl, W9 IEMUN, deh! € 3™ Hell amed,
SR THeiell Tehiall. Hell Yshleeoal SHaemagd Thdl fHeerel, W

o I vrarg feufauaranet 9.
gfa-wengd & fagdl &1 9 ®d gu efatea 9i=se & iR 9
fafem . [7]

T a9 § TRFa & @ @ €, 9 a7 H I Fodl §, 9 T
a4 e fad @ 1 A & W8 g 8§ T, W R A 9eEs
T, TR Nt A w/® ¥ R M Wel 4 W 9 % fou R eagen
g fgq Widig ® 81 Wil &1 o T W@ o9 ¥ a8 ARF oA @
T T TW TS GId AR HeR At F oz T =\ B faar w1 dan
TMME e W@ ST 2@ &1 AR a@@
T @ Wl <uEk a1 ¥ IR WAl off 1 WF w WR TE TF T
T oot 2 T

eh Helfagaerd | ‘gan-=a’ faq emife feran s w1 §—39 we
# Ig-fagfa mR =i [6]
() frafafes & & fF o & f&& ot v fafag @ (5]

(i)  Account Payee

(it) Borrowing

3 P.T.O.



(iii) Credit Balance
(iv) Above Par
(v)  Annual Verification
(vi) Buzzer
(vii) Tariff
(viii) Level Crossing.
1) frfafed § & 5 e & i@t wiRwfye v fafew @ (5]
(2) e
(i) S gy
(iii) he S
(iv) U3
(v)  TEUMTEHR
(vi) &g 9|
(vii) TEd el
(viii) ST Yol
5. fmafafed § § i a7 m femfml fafew . [18]

(i) SR % UFR,

(i) wfaEened 1 STEeIeha,
(iii) TR & B ‘&' &N,
(jv) WEHER THRA & He,
(v) HEHER I H A9

[4201]-292 4
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